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�1� 

N%0(2ล# 2(ล"�N0O' 

1 2N.1N/A1�/B�"2/21  �1�//1"/B�"2/21 
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ค 2O$ล��()10/2! 

�%4�1����%4#6�%6$�N6$�%4� 6�?���%4#6�  .0. 2566 

 

%N2')10&2'2.2/ Oล02/2ช>�2.2N%0(2ล# 2(ล"�N0O' 

     

           �5��?Q �@�N/'6�?P�CO�%>/6%�O1��>P��1�N�0�6'� 6�'��N$O� �4R�ON2�1%N6�N�0�5��5�>���%4#6�%6$�N6$
�%4� 6�?�N12"6N�0�6'� 6�'��N$O�1?�ค%5Q�/�@P� �4�5Q� Q�P1�62�?Q �CO�%>/6%�O1��>P�N�0�6'� 6�'��N$O� �@��1
�?QO��Q/O�N6��%4�6�O'42#6�>��B��N6�R�O�%6��@�2�6�4�6%ค'5� �'1���/'5��6%O'4O�/�P$�6$�6%
� 6N�>��6% Q��?���%4#6�  .0. 2566 �5��N1R��?Q 
 1. 2�6�4�6%ค'5� 
  1.1 ���%4#6�%6$�N6$�5P/R� 

   Q��?���%4#6�  .0. 2565 � /5��?P 10 2>�/6ค#  .0. 2565 1�ค์�%��ค%1�
2N/��O1��>P�#?2�6�4�6%N�>� �5��?Q 

   1.1.1 N�>��6���6ค6% � 6�/� 26,101,489.72 �6� 

   1.1.2 N�>�242# � 6�/� 84,660,357.20 �6� 

   1.1.3 N�>��B�2 6%1�N�>�242# � 6�/� 9,571,476.99 �6� 

   1.1.4 %6$�6%�5�N�>�R/OO���N1/�?Q�C� 5�O'4$5�R#NR�ON�>��N6$ � 6�/� 0 Pค%��6% 
%/# 0.00 �6� 

   1.1.5 %6$�6%�5�N�>�R/OP�$$5�R#NR�O�N1/�?Q�C� 5� � 6�/� 1 Pค%��6% %/# 
17,901.90 �6� 

  1.2 N�>��COค�คO6� � 6�/� 0.00 �6� 

 2. �6%�%>/6%���%4#6�Q��?���%4#6�  .0. 2564 

  2.1 %6$%5��%>� � 6�/� 82,373,956.86 �6� �%4�1��O/$ 

   /#/�"61?16�% � 6�/� 41,052.59 �6� 

   /#/�คN6�%%#N�?$# คN6�%5� 
O'4Q�1�B�6� 

� 6�/� 156,172.55 �6� 

   /#/�%6$R�O�6��%5 $์2>� � 6�/� 134,181.98 �6� 

   /#/�%6$R�O�6�
26�6%�C�P"ค O'4�>��6%
 6�>�$์ 

� 6�/� 1,219,762.00 �6� 

   /#/�%6$R�ON�O�N�'O� � 6�/� 719,687.86 �6� 

   /#/�%6$R�O�6��B� � 6�/� 1,405.00 �6� 

   /#/�"61?�5�2%% � 6�/� 34,801,024.50 �6� 

   /#/�N�>�1B�/�B� � 6�/� 45,300,670.38 �6� 

  2.2 N�>�1B�/�B��?P%5��6'Q/OP�$%4�B/5��B�%42�ค์ � 6�/� 20,318,263.00 �6� 
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  2.3 %6$�N6$�%>� � 6�/� 76,556,876.08 �6� �%4�1��O/$ 

   ���'6� � 6�/� 18,342,240.00 �6� 

   ���Bค'6�% � 6�/� 31,606,354.34 �6� 

   ��� 6N�>��6� � 6�/� 18,957,911.74 �6� 

   ��'��B� � 6�/� 4,191,290.00 �6� 

   ��N�>�1B�/�B� � 6�/� 3,459,080.00 �6� 

   ��%6$�N6$1AP� � 6�/� 0.00 �6� 

  2.4 %6$�N6$�?P�N6$�6�N�>�1B�/�B��?P%5��6'Q/OP�$%4�B/5��B�%42�ค์ � 6�/� 17,457,326.00 

�6� 

  2.5 #?�6%�N6$N�>�242#N AP1� 6N�>��6%�6#1 6�6�/�O6�?P � 6�/� 0.00 �6� 

  2.6 %6$�N6$�?P�N6$�6�N�>��B�2 6%1�N�>�242# � 6�/� 0.00 �6� 

  2.7 %6$�N6$�?P�N6$�6�N�>��CO � 6�/� 0.00 �6� 
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 ค 2O$ล��()10/2!   

�%4�1����%4#6�%6$�N6$�%4� 6�?���%4#6�  .0. 2566 

N�0�6'� 6�'��N$O� 

1 6N"1N#A1�#B��6/6%  �5�//5�#B��6/6% 

    

1. 12011(    

12011( 
12011(�1>� 
)ี  2564 

)10/2!�21 
)ี 2565 

)10/2!�21 
)ี 2566 

120R"O�1"N�O(N1�       

  /#/�"61?16�% 41,052.59 182,000.00 220,000.00 

  /#/�คN6�%%#N�?$# คN6�%5� O'4
Q�1�B�6� 

156,172.55 164,000.00 86,000.00 

  /#/�%6$R�O�6��%5 $์2>� 134,181.98 310,000.00 210,000.00 

  /#/�%6$R�O�6�26�6%�C�P"ค O'4
�>��6% 6�>�$์ 

1,219,762.00 1,500,000.00 1,600,000.00 

  /#/�%6$R�ON�O�N�'O� 719,687.86 462,000.00 412,000.00 

  /#/�%6$R�O�6��B� 1,405.00 5,000.00 5,000.00 

  1//120R"O�1"N�O(N1� 2,272,261.98 2,623,000.00 2,533,000.00 

120R"O%?P11�(2ลN�O(OลO/�1"211Q/O1�ค์�1
)�ค11�2N/'%O1�$>P' 

      

  /#/�"61?�5�2%% 34,801,024.50 34,777,000.00 38,867,000.00 

  1//120R"O%?P11�(2ลN�O(OลO/�1"211
Q/O1�ค์�1)�ค11�2N/'%O1�$>P' 

34,801,024.50 34,777,000.00 38,867,000.00 

120R"O%?P11�(2ล1B"/'B'Q/O1�ค์�1
)�ค11�2N/'%O1�$>P' 

      

  /#/�N�>�1B�/�B� 45,300,670.38 48,000,000.00 48,000,000.00 

  1//120R"O%?P11�(2ล1B"/'B'Q/O1�ค์�1
)�ค11�2N/'%O1�$>P' 

45,300,670.38 48,000,000.00 48,000,000.00 

1// 82,373,956.86 85,400,000.00 89,400,000.00 
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ค 2O$ล��()10/2! 

)10�1(�()10/2!120�N20)10� 2)ี�()10/2! ,.0. 2566 

N%0(2ล# 2(ล"�N0O' 

1 2N.1N/A1�/B�"2/21  �1�//1"/B�"2/21 

 

2. 120�N20 

120�N20 
120�N20�1>� 

)ี 2564 

)10/2!�21 
)ี 2565 

)10/2!�21 
)ี 2566 

�N20�2��()10/2!       

  ���'6� 18,342,240.00 18,985,137.00 18,124,957.00 

  ���Bค'6�% 31,606,354.34 37,570,730.00 37,717,973.00 

  ��� 6N�>��6� 18,957,911.74 20,640,133.00 22,398,270.00 

  ��'��B� 4,191,290.00 4,537,400.00 7,228,800.00 

  ��N�>�1B�/�B� 3,459,080.00 3,666,600.00 3,930,000.00 

1//�N20�2��()10/2! 76,556,876.08 85,400,000.00 89,400,000.00 
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2N/'%?P 2 

N%0(1ญญ1#> 

N1AP1� 

�()10/2!120�N20)10� 2)ี�()10/2! ,.0. 2566 

�1� 

N%0(2ล# 2(ล"�N0O' 

1 2N.1N/A1�/B�"2/21  �1�//1"/B�"2/21 
        

 

 

 

 

 

 

 



7 

 

        

(1'%@�/ล1��21Oล0N/#B*ล 

�%4�1�%N6�N�0�5��5�> ���%4#6�%6$�N6$ 

�%4� 6�?���%4#6�  .0. 2566 �1�N�0�6'� 6�'��N$O� 

1 6N"1N#A1�#B��6/6%  �5�//5�#B��6/6% 

        

"O2' 1// 

"O2'(1>/21%1P/R)   

  O���6��%>/6%�6��5P/R� 19,910,793 

  O���6��6%%5�16ค/6#2��"6$Q� 2,742,060 

"O2'(1>�21ชB/ช'Oล021�ค/   

  O���6��6%0@�16 28,237,270 

  O���6�26�6%�2B� 5,344,400 

  O���6�25�ค#2�Nค%64/์ 90,700 

  O���6�Nค/4O'4�B#�� 3,478,820 

  O���6��6%062�6 /5���%%# O'4�5���6�6% 300,000 

"O2'�21N011��>�   

  O���6�1B�26/�%%#O'4�6%P$�6 8,399,000 

  O���6��6%N�1�% 65,000 

  O���6��6% 6�>�$์ 2,707,000 

"O2'�21" 2N'>'�2'1AP'   

  O���6����'6� 18,124,957 

�()10/2!120�N20%1Q�2>Q' 89,400,000 
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/�O6 : 
                                               120�N20#2/�2'Oล0�(120�N20 

                                                     N�0�6'� 6�'��N$O� 

                                           1 6N"1N#A1�#B��6/6%  �5�//5�#B��6/6% 
  O*'�2'�(�ล2� 

    �2' 

�(�ล2� 1// �( 
  

    

      

�(�ล2� 18,124,957 18,124,957 

    ���'6� 18,124,957 18,124,957 

 

 

O*'�2'(1>/21�2'%1P/R) 

    �2' 

�2'(1>/21%1P/R) 
�2'/2�O*'2$>#>Oล0

/>ช2�21 �2'(1>/21�2'คล1� 1// �( 
  

    

      

�((Bคล2�1 9,311,553 2,063,940 3,782,700 15,158,193 

    N�>�N�A1� (�N6$�6%N#A1�) 2,848,320 0 0 2,848,320 

    N�>�N�A1� (�N6$�%4� 6) 6,463,233 2,063,940 3,782,700 12,309,873 

�(" 2N'>'�2' 2,762,000 592,000 1,281,000 4,635,000 

    คN6�1�O�� 186,000 122,000 340,000 648,000 

    คN6Q�O21$ 1,336,000 395,000 726,000 2,457,000 

    คN6/52�B 520,000 65,000 215,000 800,000 

    คN626�6%�C�P"ค 720,000 10,000 0 730,000 

�(ล�%B' 56,600 11,000 50,000 117,600 

    คN6ค%B"5��์ 56,600 11,000 50,000 117,600 

1// 12,130,153 2,666,940 5,113,700 19,910,793 
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O*'�2'�2111�12ค/2/2�(.20Q' 

    �2' 

�2'(1>/21%1P/R)
N�?P0/�1(�2111�12
ค/2/2�(.20Q' 

�2')O1��1'Oล0
(11N%222&21!.10 

1// 

 
�( 

  

    

      

�((Bคล2�1 1,440,960 0 1,440,960 

    N�>�N�A1� (�N6$�%4� 6) 1,440,960 0 1,440,960 

�(" 2N'>'�2' 627,000 590,000 1,217,000 

    คN6Q�O21$ 430,000 90,000 520,000 

    คN6/52�B 197,000 0 197,000 

    คN6�1�O�� 0 500,000 500,000 

�(ล�%B' 0 84,100 84,100 

    คN6ค%B"5��์ 0 44,100 44,100 

    คN6�?P�>�O'42>P��N12%O6� 0 40,000 40,000 

1// 2,067,960 674,100 2,742,060 

O*'�2'�210@�12 

    �2' 

�2'(1>/21%1P/R)
N�?P0/�1(�210@�12 

�2'10"1(�N1'/10
N1?0'Oล0

)10$/0@�12 
1// �( 

  

    

      

�((Bคล2�1 2,325,000 12,800,000 15,125,000 

    N�>�N�A1� (�N6$�%4� 6) 2,325,000 12,800,000 15,125,000 

�(" 2N'>'�2' 395,000 8,494,270 8,889,270 

    คN6�1�O�� 135,000 47,800 182,800 

    คN6Q�O21$ 135,000 4,947,970 5,082,970 

    คN6/52�B 125,000 3,076,500 3,201,500 

    คN626�6%�C�P"ค 0 422,000 422,000 

�(ล�%B' 26,800 546,200 573,000 

    คN6ค%B"5��์ 26,800 546,200 573,000 

�(N�>'1B"/'B' 0 3,650,000 3,650,000 

    N�>�1B�/�B� 0 3,650,000 3,650,000 

1// 2,746,800 25,490,470 28,237,270 
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O*'�2'22&21!2B� 

    �2' 

�2'(1>/21%1P/R)
N�?P0/�1(22&21!2B� 

�2'(1>�21
22&21!2B�Oล0�2'

22&21!2B�1AP' 

1// �( 
  

    

      

�((Bคล2�1 2,045,400 0 2,045,400 

    N�>�N�A1� (�N6$�%4� 6) 2,045,400 0 2,045,400 

�(" 2N'>'�2' 0 3,013,000 3,013,000 

    คN6�1�O�� 0 20,000 20,000 

    คN6Q�O21$ 0 1,992,800 1,992,800 

    คN6/52�B 0 1,000,200 1,000,200 

�(ล�%B' 6,000 0 6,000 

    คN6ค%B"5��์ 6,000 0 6,000 

�(N�>'1B"/'B' 0 280,000 280,000 

    N�>�1B�/�B� 0 280,000 280,000 

1// 2,051,400 3,293,000 5,344,400 

 

O*'�2'21�ค/2�Nค120/์ 

    �2' 

�2'2/12">�2121�ค/
Oล021�ค/2�Nค120/์ 

1// �( 
  

    

      

�(" 2N'>'�2' 30,000 30,000 

    คN6Q�O21$ 30,000 30,000 

�(ล�%B' 60,700 60,700 

    คN6ค%B"5��์ 700 700 

    คN6�?P�>�O'42>P��N12%O6� 60,000 60,000 

1// 90,700 90,700 
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O*'�2'Nค/0Oล0ชB/ช' 

    �2' 

�2'(1>/21%1P/R)
N�?P0/�1(Nค/0Oล0

ชB/ช' 

1// �( 
  

    

      

�((Bคล2�1 3,098,820 3,098,820 

    N�>�N�A1� (�N6$�%4� 6) 3,098,820 3,098,820 

�(" 2N'>'�2' 380,000 380,000 

    คN6/52�B 380,000 380,000 

1// 3,478,820 3,478,820 

 

 

 

 

O*'�2'�21022'2 /1 '&11/ Oล0'1'%'2�21 
    �2' 

�2'�?02Oล0
'1'%'2�21 

�2'022'2/1 '&11/
%O1�$>P' 

1// �( 
  

    

      

�(" 2N'>'�2' 230,000 70,000 300,000 

    คN6Q�O21$ 230,000 70,000 300,000 

1// 230,000 70,000 300,000 
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O*'�2'1B#22/�11/Oล0�21P0&2 

    �2' 

�2'(1>/21%1P/R)
N�?P0/�1(1B#22/�11/

Oล0�21P0&2 
�2'�N121O2� 1// �( 

  

    

      

�((Bคล2�1 849,600 0 849,600 

    N�>�N�A1� (�N6$�%4� 6) 849,600 0 849,600 

�(" 2N'>'�2' 1,440,000 0 1,440,000 

    คN6�1�O�� 60,000 0 60,000 

    คN6Q�O21$ 1,280,000 0 1,280,000 

    คN6/52�B 50,000 0 50,000 

    คN626�6%�C�P"ค 50,000 0 50,000 

�(ล�%B' 63,400 6,046,000 6,109,400 

    คN6ค%B"5��์ 63,400 0 63,400 

    คN6�?P�>�O'42>P��N12%O6� 0 6,046,000 6,046,000 

1// 2,353,000 6,046,000 8,399,000 

 

O*'�2'�21N�1#1 
    �2' 

�2'2N�N21>/
�21N�1#1 1// �( 

  

    

      

�(" 2N'>'�2' 65,000 65,000 

    คN6Q�O21$ 50,000 50,000 

    คN6/52�B 10,000 10,000 

    คN626�6%�C�P"ค 5,000 5,000 

1// 65,000 65,000 
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O*'�2'�21,2!>ช0์ 

    �2' 

�2'�>��21)10)2 1// �( 
  

    

      

�(" 2N'>'�2' 2,429,000 2,429,000 

    คN6Q�O21$ 15,000 15,000 

    คN6/52�B 314,000 314,000 

    คN626�6%�C�P"ค 2,100,000 2,100,000 

�(ล�%B' 278,000 278,000 

    คN6ค%B"5��์ 278,000 278,000 

1// 2,707,000 2,707,000 
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N%0(1ญญ1#> 
�()10/2!120�N20 )10� 2)ี�()10/2! ,.0. 2566 

N%0(2ล# 2(ล"�N0O' 

1 2N.1N/A1�/B�"2/21  �1�//1"/B�"2/21 

               P�$�?PN�O��6%2#ค/%�5Q����%4#6�%6$�N6$�%4� 6�?���%4#6�  .0. 2566  1605$1 6�6��6#ค/6#Q�
 %4%6��5��5�> %4%6��5��5�>2"6N�0�6'   .0. 2496 #6�%6 65 �@��%6N�0�5��5�>�@Q�R/OP�$ค/6#N/O��1��1�
2"6N�0�6'� 6�'��N$O� O'4P�$N/O��1��1��CO/N6%6��6%�5�//5�#B��6/6% 

 
�O1 1 N�0�5��5�> �?QN%?$�/N6 N�0�5��5�>���%4#6�%6$�N6$�%4� 6�?���%4#6�  .0. 2566 

 
�O1 2 N�0�5��5�> �?QQ/OQ�O�5�ค5��5Q�O�N/5��?P 1 �B'6ค#  .0. 2565 N�O��O�R� 

 

�O1 3 ���%4#6�%6$�N6$�%4� 6�?���%4#6�  .0. 2566 N�O�� 6�/�%/#�5Q�2>Q� 89,400,000 

�6� 

 

�O1 4 ���%4#6�%6$�N6$�5P/R� �N6$�6�%6$R�O�5�N�O�N1� /#/�"61?�5�2%% O'4/#/�N�>�
1B�/�B� N�O�� 6�/�%/#�5Q�2>Q� 89,400,000 �6� P�$O$�%6$'4N1?$��6#O���6�R�O�5��?Q 

O*'�2' $1�%/# 

"O2'(1>/21%1P/R)   

  O���6��%>/6%�6��5P/R� 19,910,793 

  O���6��6%%5�16ค/6#2��"6$Q� 2,742,060 

"O2'(1>�21ชB/ช'Oล021�ค/   

  O���6��6%0@�16 28,237,270 

  O���6�26�6%�2B� 5,344,400 

  O���6�25�ค#2�Nค%64/์ 90,700 

  O���6�Nค/4O'4�B#�� 3,478,820 

  O���6��6%062�6 /5���%%# O'4�5���6�6% 300,000 

"O2'�21N011��>�   

  O���6�1B�26/�%%#O'4�6%P$�6 8,399,000 

  O���6��6%N�1�% 65,000 

  O���6��6% 6�>�$์ 2,707,000 

"O2'�21" 2N'>'�2'1AP'   

  O���6����'6� 18,124,957 

�()10/2!120�N20%1Q�2>Q' 89,400,000 

 

 

 

 



15 

 

 
�O1 5 ���%4#6�%6$�N6$N� 64�6% �N6$�6�%6$R�O N�O�� 6�/�%/#�5Q�2>Q� 0 �6� �5��?Q  

�( $1�%/# 

1//120�N20 0 

 

�O1 6 Q/O�6$�N�0#��%?� 6�'��N$O���>�5�>�6%N�>��N6$N�>����%4#6��?PR�O%5�1�B#5�>Q/ON�O�R�
�6#%4N�?$��%4�%/�#/6�R�$/N6�O/$/>�?�6%���%4#6��1�1�ค์�%��ค%1�2N/��O1��>P� O'4
%4N�?$��%4�%/�#/6�R�$/N6�O/$�6%%5�N�>� �6%N�>��N6$N�>� �6%�6�N�>� �6%N�O�%5�16N�>� 
O'4�6%�%/�N�>��1�1�ค์�%��ค%1�2N/��O1��>P� 

 �O1 7 Q/O�6$�N�0#��%?� 6�'��N$O�#?/�O6�?P%5�16�6%Q/ON�O�R��6#N�0�5��5�>�?Q 
    

  �%4�60 � /5��?P       N�A1�                    .0. 2565 

   
 

   
 

   ('��6#)................................................. 

   
     (�6$1B�>�  �5��4P2#  ) 

   
  � 6O/�N� �6$�N�0#��%?� 6�'��N$O� 

N/O��1� 
 

    

    
('��6#).................................................. 
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120�2')10/2!�2112011( 

�%4� 6�?���%4#6�   .0. 2566 

N�0�6'� 6�'��N$O� 

1 6N"1N#A1�#B��6/6%  �5�//5�#B��6/6% 

        

  12011(�1>� )10/2!�21 
  )ี 2563 )ี 2564 )ี 2565 01"#N2� (%) )ี 2566 

///".21?12�1             

     "61?�?P�>�O'42>P��'C�2%O6� 0.00 19,070.59 170,000.00 17.65 % 200,000.00 

     "61?�O6$ 4,370.60 21,982.00 12,000.00 66.67 % 20,000.00 

1/////".21?12�1 4,370.60 41,052.59 182,000.00     220,000.00 

///"คN2&11/N'?0/ คN2)11( Oล0Q(1'Bญ2#             

     คN6�%%#N�?$#Q�1�B�6��6%�6$2B%6 2,473.50 2,560.80 2,500.00 0.00 % 2,500.00 

     คN6�%%#N�?$#N�?P$/�5�Q�1�B�6��6% �5� 0.00 0.00 0.00 100.00 % 1,500.00 

     คN6�%%#N�?$#N�O�O'4��#C'�1$ 27,640.00 40,300.00 50,000.00 -60.00 % 20,000.00 

     คN6�%%#N�?$#N�?P$/�5��4N�?$�%61�% 11,780.00 8,400.00 11,500.00 -82.61 % 2,000.00 

     คN6�%%#N�?$#N�?P$/�5��6%ค/�คB#16ค6% 193.50 949.75 3,000.00 -50.00 % 1,500.00 

     คN6�%%#N�?$#N�?P$/�5��4N�?$� 6�>�$์ 1,150.00 750.00 2,000.00 100.00 % 4,000.00 

     คN6�%%#N�?$#N�?P$/�5��6%�B��>�O'4�#�>� 0.00 0.00 0.00 100.00 % 2,500.00 

     คN6�%%#N�?$#1AP� N 580.00 70,180.00 1,000.00 0.00 % 1,000.00 

     คN6�%5��CO�%4� 6�>���/#6$�%6�%�6��� 2,900.00 7,600.00 5,000.00 -40.00 % 3,000.00 

     คN6�%5��6%�>�25��6 88,744.00 15,357.00 30,000.00 -33.33 % 20,000.00 

     คN6�%5�1AP� N 0.00 500.00 0.00 100.00 % 500.00 
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     คN6Q�1�B�6�%5�� 6�6%N�O���2>P���>�C'/%A1#C'�1$ 3,500.00 3,500.00 10,000.00 -50.00 % 5,000.00 

     คN6Q�1�B�6�%5�� 6�6%� 6�5�2>P���>�C'/%A1#C'�1$ 0.00 0.00 10,000.00 -50.00 % 5,000.00 

     คN6Q�1�B�6��%4�1��6%คO62 6/%5��>��6%�?PN�O�
15��%6$�N12B�"6  

17,650.00 4,200.00 30,000.00 -66.67 % 10,000.00 

     คN6Q�1�B�6��5��5Q�2�6��?P� 6/�N6$16/6%/%A1
2�6��?P242#16/6%Q�ค%5/ /%A1 AQ��?PQ� �@P�#? AQ��?PN�>� 
200 �6%6�N#�% 

0.00 0.00 1,000.00 0.00 % 1,000.00 

     คN6Q�1�B�6�� 6/�N6$2>�คO6Q��?P/%A1�6�26�6%�4 1,000.00 500.00 0.00 0.00 % 0.00 

     คN6Q�1�B�6�N�?P$/�5��6%ค/�คB#16ค6% 297.50 260.00 3,000.00 -33.33 % 2,000.00 

     คN6Q�1�B�6�N�?P$/�5��6%P�1�6P�$Q�ONค%AP1��$6$
N2?$� 920.00 1,105.00 3,000.00 0.00 % 3,000.00 

     คN6Q�1�B�6�1AP� N 0.00 10.00 2,000.00 -25.00 % 1,500.00 

1/////"คN2&11/N'?0/ คN2)11( Oล0Q(1'Bญ2# 158,828.50 156,172.55 164,000.00     86,000.00 

///"120R"O�2�%11,0์2>'             

     คN6N�N6/%A1�%>�6% 51,700.00 42,900.00 60,000.00 0.00 % 60,000.00 

     �1�N�?Q$ 176,102.80 91,281.98 250,000.00 -40.00 % 150,000.00 

1/////"120R"O�2�%11,0์2>' 227,802.80 134,181.98 310,000.00     210,000.00 

///"120R"O�2�22&21!C)P.ค Oล0�>��21,2!>ช0์             

     %6$R�O�6��%4�6 1,447,823.00 1,219,762.00 1,500,000.00 6.67 % 1,600,000.00 

1/////"120R"O�2�22&21!C)P.ค Oล0�>��21
,2!>ช0์ 1,447,823.00 1,219,762.00 1,500,000.00     1,600,000.00 

///"120R"ON(O"N#ลO"             

     N�>��?P#?�CO1B�>0Q/O 0.00 15,927.86 0.00 0.00 % 0.00 

     คN6�6$N1�26%�6%�5��AQ1�5��O6� 68,000.00 414,300.00 100,000.00 -50.00 % 50,000.00 
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     คN6%5�%1�2 6N�6O'4�N6$N1�26% 0.00 0.00 2,000.00 0.00 % 2,000.00 

     N�>���N�$��>�5�>�6%�B�N�>� 0.00 0.00 350,000.00 0.00 % 350,000.00 

     %6$R�ON�O�N�'O�1AP� N 269,448.00 289,460.00 10,000.00 0.00 % 10,000.00 

1/////"120R"ON(O"N#ลO" 337,448.00 719,687.86 462,000.00     412,000.00 

///"120R"O�2�%B'             

     คN6�6$�1��'6��%5 $์2>� 0.00 1,405.00 5,000.00 0.00 % 5,000.00 

1/////"120R"O�2�%B' 0.00 1,405.00 5,000.00     5,000.00 

///".21?�1"211             

     "61?%�$��์ 595,527.33 593,251.93 700,000.00 4.29 % 730,000.00 

     "61?#C'คN6N >P#�6#  .%.�. � 6/��O��3 20,305,102.01 20,646,754.03 20,870,000.00 15.00 % 24,000,000.00 

     "61?#C'คN6N >P#�6#  .%.�. �5�2%%%6$R�O3 4,176,956.33 4,610,067.06 4,300,000.00 20.93 % 5,200,000.00 

     "61?�B%�>�N� 64 116,557.06 137,773.92 119,000.00 17.65 % 140,000.00 

     "61?2%% 26#>� 8,021,753.44 8,496,591.72 8,600,000.00 -1.16 % 8,500,000.00 

     คN6"6ค/'/�O%N 66,884.87 71,320.03 67,000.00 4.48 % 70,000.00 

     คN6"6ค/'/��>P�%N'?$# 71,183.12 46,872.81 71,000.00 8.45 % 77,000.00 

     คN6�%%#N�?$#���4N�?$�2>��>O'4�>�>�%%#�6#
�%4#/'��/#6$�?P�>� 

45,213.00 198,393.00 50,000.00 200.00 % 150,000.00 

1/////".21?�1"211 33,399,177.16 34,801,024.50 34,777,000.00     38,867,000.00 

///"N�>'1B"/'B'             

     N�>�1B�/�B��5P/R� 41,107,149.56 45,300,670.38 48,000,000.00 0.00 % 48,000,000.00 

1/////"N�>'1B"/'B' 41,107,149.56 45,300,670.38 48,000,000.00     48,000,000.00 

1//%B�///" 76,682,599.62 82,373,956.86 85,400,000.00     89,400,000.00 
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120�2'120ล0N1?0")10/2!�2112011(�()10/2!120�N20%1P/R) 

�%4� 6�?���%4#6�   .0. 2566 

N�0�6'� 6�'��N$O� 

1 6N"1N#A1�#B��6/6%  �5�//5�#B��6/6% 

        

�%4#6��6%%6$%5�%/#�5Q�2>Q�  89,400,000   �6�  O$�N�O� 
  

120R"O�1"N�O(N1� 

 
///".21?12�1 1// 220,000 (2% 

  
"61?�?P�>�O'42>P��'C�2%O6� � 6�/� 200,000 �6� 

    

�%4#6��6%R/O2C��/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
"61?�?P�>�O'42>P��'C�2%O6�N >P#�@Q� 

 

  

  
"61?�O6$ � 6�/� 20,000 �6� 

    

�%4#6��6%R/O2C��/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
"61?�O6$N >P#�@Q� 

 

  

 
///"คN2&11/N'?0/ คN2)11( Oล0Q(1'Bญ2# 1// 86,000 (2% 

  
คN6�%%#N�?$#Q�1�B�6��6%�6$2B%6 � 6�/� 2,500 �6� 

    

�%4#6��6%R/ON�N6�5��?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
คN6�%%#N�?$#N�?P$/�5�Q�1�B�6��6%�6$2B%6N�N6N�># 

 

  

  
คN6�%%#N�?$#N�?P$/�5�Q�1�B�6��6% �5� � 6�/� 1,500 �6� 

    
�%4#6��6%N�O��?���%4#6�O%� 

 
  

  
คN6�%%#N�?$#N�O�O'4��#C'�1$ � 6�/� 20,000 �6� 

    

�%4#6��6%R/O�P 6�/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
คN6�%%#N�?$#N�O�O'4��#C'�1$'�'� 
 

  

  
คN6�%%#N�?$#N�?P$/�5��4N�?$�%61�% � 6�/� 2,000 �6� 

    

�%4#6��6%R/O�P 6�/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
คN6�%%#N�?$#N�?P$/�5��4N�?$�%61�%'�'� 
 

  

  
คN6�%%#N�?$#N�?P$/�5��6%ค/�คB#16ค6% � 6�/� 1,500 �6� 

    

�%4#6��6%R/O�P 6�/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
คN6�%%#N�?$#N�?P$/�5��6%ค/�คB#16ค6%'�'� 
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คN6�%%#N�?$#N�?P$/�5��4N�?$� 6�>�$์ � 6�/� 4,000 �6� 

    

�%4#6��6%R/O2C��/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
คN6�%%#N�?$#N�?P$/�5��4N�?$� 6�>�$์N >P#�@Q� 

 

  

  
คN6�%%#N�?$#N�?P$/�5��6%�B��>�O'4�#�>� � 6�/� 2,500 �6� 

    
�%4#6��6%N�O��?���%4#6�O%� 

 
  

  
คN6�%%#N�?$#1AP� N � 6�/� 1,000 �6� 

    

�%4#6��6%R/ON�N6�5��?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
คN6�%%#N�?$#1AP� NN�N6N�># 

 

  

  
คN6�%5��CO�%4� 6�>���/#6$�%6�%�6��� � 6�/� 3,000 �6� 

    

�%4#6��6%R/O�P 6�/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
คN6�%5��CO�%4� 6�>���/#6$�%6�%�6���'�'� 
 

  

  
คN6�%5��6%�>�25��6 � 6�/� 20,000 �6� 

    

�%4#6��6%R/O�P 6�/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
คN6�%5��6%�>�25��6'�'� 
 

  

  
คN6�%5�1AP� N � 6�/� 500 �6� 

    

�%4#6��6%R/ON�N6�5��?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
คN6�%5�1AP� NN�N6N�># 

 

  

  
คN6Q�1�B�6�%5�� 6�6%N�O���2>P���>�C'/%A1#C'�1$ � 6�/� 5,000 �6� 

    

�%4#6��6%R/O�P 6�/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
Q�1�B�6�%5�� 6�6%N�O���2>P���>�C'/%A1#C'�1$'�'� 
 

  

  
คN6Q�1�B�6�%5�� 6�6%� 6�5�2>P���>�C'/%A1#C'�1$ � 6�/� 5,000 �6� 

    

�%4#6��6%R/O�P 6�/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
Q�1�B�6�%5�� 6�6%� 6�5�2>P���>�C'/%A1#C'�1$'�'� 
 

  

  

คN6Q�1�B�6��%4�1��6%คO62 6/%5��>��6%�?PN�O�15��%6$�N1
2B�"6  

� 6�/� 10,000 �6� 

    

�%4#6��6%R/O�P 6�/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
Q�1�B�6��%4�1��6%คO62 6/%5��>��6%�?PN�O�15��%6$�N1
2B�"6 '�'� 
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คN6Q�1�B�6��5��5Q�2�6��?P� 6/�N6$16/6%/%A12�6��?P242#
16/6%Q�ค%5/ /%A1 AQ��?PQ� �@P�#? AQ��?PN�>� 200 �6%6�N#�% 

� 6�/� 1,000 �6� 

    

�%4#6��6%R/ON�N6�5��?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
Q�1�B�6��5��5Q�2�6��?P� 6/�N6$16/6%/%A12�6��?P242#
16/6%Q�ค%5/ /%A1 AQ��?PQ� �@P�#? AQ��?PN�>� 200 �6%6�N#�%N�N6
N�># 

 

  

  
คN6Q�1�B�6�N�?P$/�5��6%ค/�คB#16ค6% � 6�/� 2,000 �6� 

    

�%4#6��6%R/O�P 6�/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
Q�1�B�6�N�?P$/�5��6%ค/�คB#16ค6%'�'� 
 

  

  
คN6Q�1�B�6�N�?P$/�5��6%P�1�6P�$Q�ONค%AP1��$6$N2?$� � 6�/� 3,000 �6� 

    

�%4#6��6%R/ON�N6�5��?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
Q�1�B�6�N�?P$/�5��6%P�1�6P�$Q�ONค%AP1��$6$N2?$�N�N6N�># 

 

  

  
คN6Q�1�B�6�1AP� N � 6�/� 1,500 �6� 

    

�%4#6��6%R/O�P 6�/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
Q�1�B�6�1AP� N'�'� 
 

  

 
///"120R"O�2�%11,0์2>' 1// 210,000 (2% 

  
คN6N�N6/%A1�%>�6% � 6�/� 60,000 �6� 

    

�%4#6��6%R/ON�N6�5��?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
N�N6/%A1�%>�6%N�N6N�># 

 

  

  
�1�N�?Q$ � 6�/� 150,000 �6� 

    

�%4#6��6%R/O�P 6�/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
�1�N�?Q$'�'� 
 

  

 
///"120R"O�2�22&21!C)P.ค Oล0�>��21,2!>ช0์ 1// 1,600,000 (2% 

  
%6$R�O�6��%4�6 � 6�/� 1,600,000 �6� 

    

�%4#6��6%R/O2C��/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
%6$R�O�6��%4�6N >P#�@Q� 
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///"120R"ON(O"N#ลO" 1// 412,000 (2% 

  
คN6�6$N1�26%�6%�5��AQ1�5��O6� � 6�/� 50,000 �6� 

    

�%4#6��6%R/O�P 6�/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
�6$N1�26%�6%�5��AQ1�5��O6�'�'� 
 

  

  
คN6%5�%1�2 6N�6O'4�N6$N1�26% � 6�/� 2,000 �6� 

    

�%4#6��6%R/ON�N6�5��?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
%5�%1�2 6N�6O'4�N6$N1�26%N�N6N�># 

 

  

  
N�>���N�$��>�5�>�6%�B�N�>� � 6�/� 350,000 �6� 

    

�%4#6��6%R/ON�N6�5��?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�N�>�
��N�$��>�5�>�6%�B�N�>�N�N6N�># 

 

  

  
%6$R�ON�O�N�'O�1AP� N � 6�/� 10,000 �6� 

    

�%4#6��6%R/ON�N6�5��?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
%6$R�ON�O�N�'O�1AP� NN�N6N�># 

 

  

 
///"120R"O�2�%B' 1// 5,000 (2% 

  
คN6�6$�1��'6��%5 $์2>� � 6�/� 5,000 �6� 

    

�%4#6��6%R/ON�N6�5��?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�คN6
�6$�1��'6��%5 $์2>�N�N6N�># 

 

  

120R"O%?P11�(2ลN�O(OลO/�1"211Q/O1�ค์�1)�ค11�2N/'%O1�$>P' 

 
///".21?�1"211 1// 38,867,000 (2% 

  
"61?%�$��์ � 6�/� 730,000 �6� 

    

�%4#6��6%R/O2C��/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�"61?
%�$��์N >P#�@Q� 

 

  

  
"61?#C'คN6N >P#�6#  .%.�. � 6/��O��3 � 6�/� 24,000,000 �6� 

    

�%4#6��6%R/O2C��/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5� 

"61?#C'คN6N >P#�6#  .%.�. � 6/��O��3N >P#�@Q� 

 

  

  
"61?#C'คN6N >P#�6#  .%.�. �5�2%%%6$R�O3 � 6�/� 5,200,000 �6� 

    

�%4#6��6%R/O2C��/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
"61?#C'คN6N >P#�6#  .%.�. �5�2%%%6$R�O3N >P#�@Q� 
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"61?�B%�>�N� 64 � 6�/� 140,000 �6� 

    

�%4#6��6%R/O2C��/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�"61?
�B%�>�N� 64N >P#�@Q� 

 

  

  
"61?2%% 26#>� � 6�/� 8,500,000 �6� 

    

�%4#6��6%R/O�P 6�/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�"61?
2%% 26#>�'�'�  
 

  

  
คN6"6ค/'/�O%N � 6�/� 70,000 �6� 

    

�%4#6��6%R/O2C��/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
คN6"6ค/'/�O%NN >P#�@Q� 

 

  

  
คN6"6ค/'/��>P�%N'?$# � 6�/� 77,000 �6� 

    

�%4#6��6%R/O2C��/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
คN6"6ค/'/��>P�%N'?$#N >P#�@Q� 

 

  

  

คN6�%%#N�?$#���4N�?$�2>��>O'4�>�>�%%#�6#�%4#/'
��/#6$�?P�>� 

� 6�/� 150,000 �6� 

    

�%4#6��6%R/O2C��/N6�?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�
คN6�%%#N�?$#���4N�?$�2>��>O'4�>�>�%%#�6#�%4#/'
��/#6$�?P�>�N >P#�@Q� 

 

  

120R"O%?P11�(2ล1B"/'B'Q/O1�ค์�1)�ค11�2N/'%O1�$>P' 

 
///"N�>'1B"/'B' 1// 48,000,000 (2% 

  
N�>�1B�/�B��5P/R� � 6�/� 48,000,000 �6� 

    
�%4#6��6%R/ON�N6�5��?�?P�N6�#6  N�AP1��6�ค6�/N6�4R�O%5�N�>�
1B�/�B��5P/R�N�N6N�># 
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120�2'120ล0N1?0")10/2!�21120�N20�()10/2!120�N20%1P/R) 

�%4� 6�?���%4#6�  .0. 2566 

N�0�6'� 6�'��N$O� 

1 6N"1N#A1�#B��6/6%   �5�//5�#B��6/6% 

        

)10/2!�21120�N201//%1Q�2>Q' 89,400,000 (2% O0�N)็'  

O*'�2'�(�ล2� 

 
�(�ล2� 1// 18,124,957 (2% 

  
�(�ล2� 1// 18,124,957 (2% 

   
�(�ล2� 1// 18,124,957 (2% 

   
N�>�2#���1��B��%4�5�25�ค# � 6�/� 629,764 �6� 

      

  N AP1�N6$N�O�N�?Q$�%4�5�25�ค#�1� �5��6��O6�  
Q�15�%6%O1$'4 5  �1�คN6�O6�  
�%6��Q�O���6����'6�  ���'6� 
 

      

   
N�>�2#���1��B�N�>���O�� � 6�/� 25,191 �6� 

      

  N AP1�N6$N�O�N�>�2#���1��B�N�>���O�� 

�%6��Q�O���6����'6�  ���'6� 
 

      

   
N�?Q$$5��? �CO2C�16$B � 6�/� 10,635,600 �6� 

      

  N AP1�N6$N�O�N�>�N�?Q$$5��? �CO2C�16$B  
(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'4
25�ค# /�O6 129 ' 6�5��?P 11 

�%6��Q�O���6����'6�  ���'6� 
 

      

   
N�?Q$$5��? ค/6# >�6% � 6�/� 3,206,400 �6� 

      

  N AP1�N6$N�O�N�>�N�?Q$$5��? ค� >�6%  

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'4
25�ค# /�O6 129 ' 6�5��?P 11 

�%6��Q�O���6����'6�  ���'6� 
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N�?Q$$5��? �CO�N/$N1�2์ � 6�/� 78,000 �6� 

      

  N AP1�N6$N�O�N�>�N�?Q$$5��? �CO�N/$N1�2์   

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'4
25�ค# /�O6 129 ' 6�5��?P 11 

�%6��Q�O���6����'6�  ���'6� 
 

      

   
N�>�2 6%1��N6$ � 6�/� 2,000,000 �6� 

      

  N AP1�N6$Q��%�?�?PR#N26#6%�ค6��6%�์R/O'N/�/�O6  

O'4#?ค/6#� 6N�O�/%A1�%%N�6ค/6#N�A1�%O1��1��%4�6�� 

Q� AQ��?P N�N�  

�6%N�>�"5$ >�5�>�N6� N 

�%6��Q�O���6����'6�  ���'6� 
 

      

   
%6$�N6$�6#�O1�C� 5�       

    
คN6� 6%B�25��>�6�O/N��%4N�0R�$ � 6�/� 58,002 �6� 

      

  N AP1�N6$N�O�คN6� 6%B�2#6ค#25��>�6�N�0�6'O/N��%4N�0R�$  

Q�15�%6%O1$'4/�@P��N1/�  

%/#N�>� %6$%5��%>��B��%4N"��1����%4#6��?�?P'N/�#6O'O/R#N%/#
N�>��CO N�>�1B�/�B��5P/R�  

1B�/�B�N� 64�>� O'4�N6$�6�N�>�242#  

�%6��Q�O���6����'6�  ���'6� 
 

      

    
N�>�2#���1��B� /'5��%4�5�2B�"6  � 6�/� 230,000 �6� 

      

  N AP1�N6$N�O�N�>�2#���1��B�/'5��%4�5�2B�"6 Q�%4�5��O1��>P�/%A1
 AQ��?P N AP12�5�2�B� 

�6%� 6N�>��6% O'4�%>/6%%4���%4�5�2B�"6  

P�$R�O%5�N�>�1B�/�B��6�2 6�5��6�/'5��%4�5�2B�"6  

�%6��Q�O���6����'6�  ���'6� 
 

      

    
N�>�2#���1��B�� 6N/�O�� 6�6��O6%6��6%2N/��O1��>P� (�.�.�.) � 6�/� 1,242,000 �6� 

      

  N AP1�N6$2#���1��B�� 6N/�O�� 6�6��O6%6��6%2N/��O1��>P�Q/O�5�
 �5��6�N�0�6' Q�15�%6%O1$'4 3 �1�N�>�%6$R�OR#N%/#N�>�1B�/�B� 

�%6��Q�O���6����'6�  ���'6� 
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N�>��N/$ >N01       

    
N�>��N/$คN6� 60 �O6%6��6%/ �5��6� � 6�/� 20,000 �6� 

      

  N AP1N�O�N�>��N/$ >N01Q��%�?�O6%6��6%/ �5��6��@�O�Nค/6#�6$Q�
%4//N6�%5�%6��6% �6#%4N�?$��%4�%/�� 6/�� 

�%6��Q�O���6����'6�  ���'6� 
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O*'�2'(1>/21�2'%1P/R) 

 
�2'(1>/21%1P/R) 1// 12,130,153 (2% 

  
�((Bคล2�1 1// 9,311,553 (2% 

   
N�>'N"A1' (+N20�21N/A1�) 1// 2,848,320 (2% 

   
N�>�N�A1��6$�/%1��6$�1�ค์�%��ค%1�2N/��O1��>P� � 6�/� 725,760 �6� 

      

  N AP1�N6$N�O�N�>�N�A1��6$�N�0#��%?O'4 

%1��6$�N�0#��%?�6#%4N�?$��%4�%/�#/6�R�$/N6�O/$
N�>�N�A1� คN6�1�O��O'4�%4P$��์�1�O��1$N6�1AP� 

�1��6$�N�0#��%? %1��6$�N�0#��%?  
�%4�6�2"6N�0�6' %1��%4�6�2"6N�0�6'  

2#6�>�2"6N�0�6' N'�6�B�6%�6$�N�0#��%?  
�?P�%@�16�6$�N�0#��%?  
�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�5P/R� 

 

      

   
คN6�1�O���%4� 6� 6O/�N��6$�/%1��6$� � 6�/� 180,000 �6� 

      

  N AP1�N6$N�O�คN6�1�O���%4� 6� 6O/�N� 
�1��6$�N�0#��%? O'4%1��6$�N�0#��%?  
�6#%4N�?$��%4�%/�#/6�R�$/N6�O/$N�>�N�A1�  

N�>�คN6�1�O�� O'4�%4P$��์�1�O��1$N6�1AP� 

�1��6$�N�0#��%? %1��6$�N�0#��%?  
�%4�6�2"6N�0�6' %1��%4�6�2"6N�0�6'   

2#6�>�2"6N�0�6' N'�6�B�6%�6$�N�0#��%?  
�?P�%@�16�6$�N�0#��%?  
�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�5P/R� 

 

      

   
คN6�1�O�� >N01�6$�/%1��6$� � 6�/� 180,000 �6� 

      

  N AP1�N6$N�O�คN6�1�O�� >N01 Q/OO�N �6$�N�0#��%?O'4%1�
�6$�N�0#��%?�6#%4N�?$��%4�%/�#/6�R�$/N6�O/$N�>�N�A1�N�>�
คN6�1�O��O'4�%4P$��์�1�O��1$N6�1AP��1��6$�N�0#��%? %1�
�6$�N�0#��%? �%4�6�2"6N�0�6'  

%1��%4�6�2"6N�0�6' 2#6�>�2"6N�0�6'  

N'�6�B�6%�6$�N�0#��%? �?P�%@�16�6$�N�0#��%?   
�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�5P/R� 
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คN6�1�O��%6$N�A1�N'�6�B�6%/�?P�%@�16�6$�N�0#��%? �6$�1�ค์�6%
�%>/6%2N/�� 6�' 

� 6�/� 207,360 �6� 

      

  N AP1�N6$N�O�คN6�1�O�� Q/OO�NN'�6�B�6%�6$�N�0#��%?O'4�?P�%@�16
�6$�N�0#��%? �6#%4N�?$��%4�%/�#/6�R�$ 

/N6�O/$N�>�N�A1� คN6�1�O�� O'4�%4P$��์�1�O��1$N6�1AP�  

�1��6$�N�0#��%? %1��6$�N�0#��%? �%4�6�2"6N�0�6' 

%1��%4�6�2"6N�0�6' 2#6�>�2"6N�0�6'  

N'�6�B�6%�6$�N�0#��%? �?P�%@�16�6$�N�0#��%?  
�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�5P/R�  

 

      

   

คN6�1�O���%4�6�2"6/%1��%4�6�2"6/2#6�>�2"6/N'�6�B�6%2"6
1�ค์�%��ค%1�2N/��O1��>P� 

� 6�/� 1,555,200 �6� 

      

  N AP1�N6$N�O�คN6�1�O��2#6�>�2"6N�0�6' Q/OO�N 
�%4�6�2"6N�0�6' %1��%4�6�2"6N�0�6'  

2#6�>�2"6N�0�6' �6#%4N�?$��%4�%/�#/6�R�$/N6�O/$
N�>�N�A1� คN6�1�O��O'4�%4P$��์�1�O��1$N6�1AP� 

�1��6$�N�0#��%? %1��6$�N�0#��%? �%4�6�2"6N�0�6' %1�
�%4�6�2"6N�0�6' 2#6�>�2"6N�0�6' 

N'�6�B�6%�6$�N�0#��%? �?P�%@�16�6$�N�0#��%?  
�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�5P/R� 

 

      

   
N�>'N"A1' (+N20)10� 2) 1// 6,463,233 (2% 

   
N�>�N�A1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 3,756,393 �6� 

      

  N AP1�N6$N�O�N�>�N�A1��O6%6��6% O'4N�>��%5��%B�N�>�N�A1��%4� 6�?�1�
�O6%6��6% N�N�  N�>�N'AP1��5Q�N�>�N�A1�N�O��%�? >N01 N�>��%5�15�%6
N�>�N�A1�O'4N'AP1�%4�5�� 6O/�N�  
N�>�Q��6%�%5�15�%6N�>�N�A1�Q/#N N�O��O� O'4N�>�คN6�1�O�� >N01
�1��O6%6��6%�COR�O%5�N�>�N�A1��5Q�2C� /%A1Q�'O�@��5Q�2C��1�15��5�/%A1
� 6O/�N� �6#%4N�?$��%4�%/�� 6/�� 

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

   
N�>�N >P#�N6� N �1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 84,000 �6� 

      

  N AP1�N6$N�O�N�>�N >P#�N6�N �1� �5��6�N�0�6'�CO#?2>��>N 
R�O%5� R�OO�N N�>�N >P#�6%ค%1��? �5P/ค%6/ N�>��1�O�� 

 >N01�1��O6%6��6%�COR�O%5�N�>�N�A1��@��5Q�2C��1�15��5� 

N�>�คN6�1�O��%6$N�A1� N�>�N >P#คN6/>�6�?  N�>�N >P#2 6/%5� 

� 6O/�N��?P#?N/�B >N01�1� �5��6�N�0�6'�6#/'5�N���์�?P� 6/��  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

      



29 

 

   
N�>��%4� 6� 6O/�N� � 6�/� 162,000 �6� 

      

  N AP1�N6$N�O�N�>��%4� 6� 6O/�N��1� �5��6�N�0�6'Q� 

� 6O/�N��'5�N�0�6' (%4�5� 8) N�A1�'4  7,000  �6�  

� 6O/�N�/5//�O62 6�5��'5�N�0�6' N�A1�'4 3,500 �6�  

� 6O/�N�/5//�O6�N6$1 6�/$�6% N�A1�'4 1,500 �6� 

� 6O/�N�/5//�O6�N6$��ค%1� N�A1�'4 1,500 �6�   

�6#%4N�?$��%4�%/�� 6/�� 

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

   
คN6�1�O�� �5��6��O6� � 6�/� 2,244,840 �6� 

      

  N AP1�N6$N�O�คN6�1�O��Q/OO�N �5��6��O6�O'4N�>��%5��%B� 
คN6�1�O�� �5��6��O6��6#"6%�>� O'4 �5��6��O6��5P/R� 

�6#%4N�?$��%4�%/�� 6/�� 

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

   
N�>�N >P#�N6� N �1� �5��6��O6� � 6�/� 216,000 �6� 

      

  N AP1�N6$N�O�N�>�N >P#�N6�N (คN6ค%1��? �5P/ค%6/)   
Q/OO�N  �5��6��O6��6#"6%�>� O'4 �5��6��O6��5P/R� 

�6#%4N�?$��%4�%/�� 6/�� 

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

  
�(" 2N'>'�2' 1// 2,762,000 (2% 

   
คN2#1(O%' 1// 186,000 (2% 

   
คN6N�?Q$�%4�B# � 6�/� 40,000 �6� 

      

  N AP1�N6$N�O�คN6N�?Q$�%4�B#Q/OO�Nค�4�%%#�6%26#5� 

ค�4�%%#�6%/>26#5� �%4� 62"6N�0�6'� 6�'��N$O�   

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

   
คN6�1�O���6%��>�5�>�6��1�N/'6%6��6% � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�1�O���6%��>�5�>�6��1�N/'6%6��6%Q/OO�N
�O6%6��6% 'C��O6��%4� 6 O'4 �5��6��O6�P�$#?ค 625P�Q/O��>�5�>�6�
�1�N/'6%6��6%�1�N�0�6'� 6�'��N$O� 

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 
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คN6N�N6�O6� � 6�/� 36,000 �6� 

      

  N AP1�N6$N�O�N�>�คN6N�N6�O6��1��O6%6��6%�1�N�0�6' 

� 6�'��N$O� �6#%4N�?$��%4�%/�#/6�R�$   

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�6��5P/R� 

 

      

   
N�>��N/$N/'A1�6%0@�16�B�%       

    
N�>��N/$N/'A1�6%0@�16�B�%�O6%6��6%/ �5��6�/'C��O6��%4� 6 � 6�/� 100,000 �6� 

      

  N AP1�N6$N�O�N�>��N/$N/'A1�6%0@�16�B�% Q/OO�N  �5��6�
N�0�6' �CO�%>/6%O'4 �5��6��O6��?P#?2>��>N�>�R�O�6#%4N�?$�
�%4�%/�#/6�R�$/N6�O/$N�>�2/52�>�6%N�?P$/�5��6%0@�16�1��B�%
 �5��6�2N/��O1��>P�  .0.2541 O'4�?PO�OR�N >P#N�>#�@�(��5��?P 3)  .0.
2549 %/#�5Q�/�5�2A125P��6%�?PN�?P$/�O1� 
�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�5P/R�  

 

      

   
คN2QชO210 1// 1,336,000 (2% 

   
%6$�N6$N AP1Q/OR�O#6�@P��%>�6%       

    
คN6�5�� 6�%4�5�"5$%�$��์2N/��'6� � 6�/� 25,000 �6� 

      

  N AP1�N6$N�O�N�>�คN6�5�� 6�%4�5�"5$%�$��์2N/��'6� 3'3  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

    
คN6�O6�N/#6�%>�6% � 6�/� 636,000 �6� 

      

  N AP1�N6$N�O�คN6�O6�N/#6�%>�6%Q/O�CO%5��O6�� 6�6%1$N6�Q�1$N6�/�@P� 
�@P�#>R�ON�O��6% �%4�1� �5�O�'��N1N�># ค%B"5��์  

�?P�>�/%A12>P��N12%O6�1$N6�Q� O'41$CNQ�ค/6#%5��>��1��1� 
�CO%5��O6� N�N� คN6�O6�N/#6�>��5Q�%4��Nค%A1�N6$ค1# >/N�1%์   

คN6�O6�N/#6O%��6� คN6�O6�N/#6�C�2>P���>�C' คN6�O6�N/#6�N6$N1�26%
N�O6N'N# คN6�O6�N/#61AP�N �@P�N�O��%4P$��์�N1�6%�%>/6%�6��1�
N�0�6'3'3   

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

   
%6$�N6$N�?P$/�5��6%%5�%1�O'4 >�?�6% � 6�/� 65,000 �6� 

      

  - คN6%5�%1� 
� 6�/� 15,000 �6� 

N AP1�N6$N�O�คN6%5�%1�Q��6%�O1�%5��Bคค' ค�4
�Bคค' R�OO�N คN616/6% คN6Nค%AP1��AP# คN6�1��/5�  

คN6 ># ์N1�26% คN6�%>�6%O'4คN6Q�O�N6$1AP� N �?PN�?P$/N�AP1�Q��6%
%5�%1� %/#�@�คN6%5�%1�Q��6%�O1�%5��Bคค' ค�4�Bคค'�?P#6�>N�0
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�6� �%/��6� N$?P$#�#/%A1 �50�0@�16�C�6� O'4N�O6/�O6�?P�?PN�?P$/�O1�
�@P�%N/#�O1�%5��Bคค' ค�4�Bคค' 

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

- คN6N'?Q$�%5�%1�Q��6%�%4�B#2"6N�0�6' 

� 6�/� 30,000 �6� 

N AP1�N6$N�O� คN616/6% คN6Nค%AP1��AP#  คN6N1�26% O'4คN6Q�O�N6$1AP��@P�
� 6N�O��O1��N6$�?PN�?P$/�5��6%N'?Q$�%5�%1�O'4�%>�6%1AP�N�?P� 6N�O��O1�
�N6$�?PN�?P$/�5��6%N'?Q$�%5�%1�Q��6%�%4�B#�N6�N%/#�@��CON�O6%N/#
�%4�B#O'4N�O6/�O6�?P�?PN�?P$/�O1��5��6%�%4�B#  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

- คN6Q�O�N6$Q� >�?�6�062�6/%5� >�? 
� 6�/� 20,000 �6� 

N AP1�N6$N�O�คN6Q�O�N6$Q��6�%5� >�?O'4 >�?�6%�N6�N N�N�  

คN6�1�R#O  /�#6'5$ �%4N�O6�1�R#O  /�/%?�  /�#6'6  
 'B�1�R#OR! O'4คN6Q�O�N6$1AP�N �?P� 6N�O�Q��6%�5��6� 

%5� >�? �6� >�?N�?P$/�5�2�6�5� %4#/6�15�%>$์  %4�%#/�06�B/�0์ �6�
 >�?�6�062�6 �6�N�'>#�'1�N�AP1�Q�/5�2 6ค5��1��6�%6��6% O'4/5�
2 6ค5��1��5�//5� N�N� �6��6�6� �6��?Q/#N N�O��O� �6%�5�
�>�%%0�6% �6%�%4�/� �6%O�N��5�O'4 >�?N�>��6��N6�N �'1���
�6%�C%�6�6%�6%�5��6� >�?%N/#�5�2N/��6��N6�N 

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R�   

        
 

      

   

%6$�N6$N�?P$/N�AP1��5��6%��>�5�>%6��6%�?PR#NN�O6'5�1�4%6$�N6$��%6$�N6$
1AP� N 

      

    
คN6Q�O�N6$N�?P$/�5��6%N'A1��5Q� � 6�/� 100,000 �6� 

      

  N AP1�N6$N�O�คN6�5�� 6N1�26% 2AP1�%4�625# 5��์�N6�N คN6/52�B1B��%�์
�N6�N �?PQ�OQ��6%N'A1��5Q� คN6�5� ># ์%6$�AP1�CO#?2>��>N'A1��5Q� คN6�5�%
N'A1��5Q� คN6N1�26% O'4O��!1%์#�N6�N 3'3 �?PQ�OQ��6%
N'A1��5Q� 2 6/%5��6%N'A1��5Q��5P/R� /%A1N'A1��5Q��N1#N�0�6'� 6�'��
N$O�  

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6%�%>/6%
�5��6% �6#/'5��%%#6">�6' /�O6�?P 142 ' 6�5��?P 1  

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�5P/R� 
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คN6Q�O�N6$Q��6%�@�1�%#O'425##�6 � 6�/� 10,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Q��6%�@�1�%#O'425##�6�N6�N 

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

    
คN6N�>��6�R�%6��6%�5Q�Q�O'4�1�%6�16�6�5�% � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q��6%�@�1�%# �%4�B#25##�6  
�50�0@�16O'4�C�6��5Q�Q��%4N�0O'4�N6��%4N�0 �1�
�6$�N�0#��%?� 6�'��N$O� %1��6$�N�0#��%?� 6�'��N$O�  

�%4�6�2"6N�0�6'� 6�'��N$O� %1��%4�6�2"6N�0�6'� 6�'��
N$O� 2#6�>�2"6N�0�6'� 6�'��N$O�  

N'�6�B�6%�6$�N�0�6'� 6�'��N$O� �?P�%@�16�6$�N�0�6'� 6�'��
N$O� �O6%6��6% 'C��O6��%4� 6  �5��6��O6��1�N�0�6'� 6�'��
N$O� �Bคค'"6$�1�/%A1�Bคค'1AP��?PN�?P$/�O1�  
�?P�%#2N�N2%>#�6%��ค%1��O1��>P� /%A11�ค์�%/%A12�6�5�1AP�N�O�
�CO� 6N�>��6% /%A1N�0�6'� 6�'��N$O�� 6N�>��6%N1�  
P�$�N6$N�O�คN6'��4N�?$� คN6�?P 5� คN6 6/�4  

คN6N�?Q$N'?Q$� คN616/6% �'1���คN6Q�O�N6$1AP�N  

�?PN�?P$/�O1��5��6%1�%#/%A125##�6 
�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R�  

  

      

    
Pค%��6%�50�40@�16�C�6� � 6�/� 400,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Pค%��6%�50�40@�16�C�6� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6%�%>/6%�5��6%
�6#/'5��%%#6">�6' /�O6�?P 142 ' 6�5��?P 2  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

    
Pค%��6%1�%#N�$O %Nค/6#%CO�6���/#6$ � 6�/� 10,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Q�Pค%��6%1�%#N�$O %Nค/6#%CO�6�
��/#6$ (O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6%
 5��6�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'4
25�ค# /�O6 120 ' 6�5��?P 3 

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�5P/R� 

 

      

   
คN6� 6%B�%5�16O'4�N1#O�# � 6�/� 80,000 �6� 

      

  N AP1�N6$N�O�คN6� 6%B�%5�16O'4�N1#O�#�%5 $์2>��N6�N �1�2 6�5�
�'5� Q��%�?� 6%B�N2?$/6$ Q�O�6%R#NR�O/%A1Q�O�6%R�OO�NR#N�?
N�N6�?Pค/% /%A1�@�N/'6�O1�N�O6� 6%B�%5�16�6#%4$4N/'6�6%Q�O
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�6� � 6N�O��O1�� 6�6%�N1#O�#Q/O1$CNQ�2"6 �?P�?26#6%�Q�O�6�R�O
�6#���> N�N� Nค%AP1��%5�16�60 Nค%AP1� ># ์�?� Nค%AP1�15�2 6N�6 Nค%AP1�
�N6$N1�26%  

Nค%AP1�ค1# >/N�1%์ P�P4 N�O61?Q   
�'O1��N6$%C� %�$��์ %��5�%$6�$��์ O'4�%>N/�%1�16ค6%2 6�5��6�
N�0�6'� 6�'��N$O�  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

   
คN2/12"B 1// 520,000 (2% 

   
/52�B2 6�5��6� � 6�/� 90,000 �6� 

      

  N AP1�N6$N�O�คN6�AQ12>P��1�Nค%AP1�Q�O
�N6�N  N�N� �%4�61 /#@� �>�21 �6��6 R#O
�%%�5� $6�'� ค'>� N�P� N����>�Q2 '/�N$O��%4�61 �6/ O!O# 2#B�
�5��? 2#B��%4/5�>�O6%6��6%  

O�� ># ์ �%6$6� �1� ���6�> 2>P� ># ์�?PR�O�6��6%�AQ1/%A1�O6�
 ># ์ �Q 6�AP# Nค%AP1�N$O��%4�61 �%4�61R�  

O�� ># ์3'3  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R�  

 

      

   
/52�BR!!O6O'4/>�$B � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�BR!!O6O'4/>�$B N�N� !>/2 ์N�O#�5�%5�
26$R!!O6 N�� 5�26$R!!O6 26$R!!O6 �'5R�R!!O6 2/>��์
R!!O6 ค1�N��N�1%์ N�%�N�1%์ 26$16�60 Pค#R!!O6 ' 6P �  
R#Pค%P!� �5�O2��/��%�N6�N Nค%AP1�/5�ค/6#�O6��6�R!!O6  

Nค%AP1�/5�O%��5�R!!O63'3   

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

   
/52�B�6��O6��6�ค%5/ � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6/52�B�6��O6��6�ค%5/�N6�N N�N� O�%�  
R#O�/6� N�N� �O/$�6# �O1�2O1# O�O/�Q 6 �6�%1� #?�  

$6�N6O#'� ���5�!1� �Q 6$6� 6ค/6#2416� �4�%O6  
�B� '62�>� �?P�1� /#1� #BO� �'1�/#1� �O6�C�?P�1� 3'3  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

   
/52�B�N12%O6� � 6�/� 10,000 �6� 

      
  N AP1�N6$N�O�คN6�5��AQ1/52�B�N12%O6� N�N� N/'O���>��N6� N  

R#O��>��N6�N �>�N�1%์ O�%��62? �C��?N#�� ์ 
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�C��6/ �%6$  1>�  �%4N�AQ1� 25��42? �4�C คO1� ค?# �1�  

N2?$# �/6� 2/N6� N'AP1$  �N1�Q 6O'41B��%�์�%4�6 3'3  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

   
/52�B$6� 6/�4O'4��2N� � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6/52�B$6� 6/�4O'4��2N��N6� N N�N�  

O��N�1%?P $6��1� $6�Q� 26$R#'์ �Q 6#5�N�%ค /5/N�?$� O#NO%�  
R�ค/� �%4��#1��O6�%�$��์  
/#O1�Q 6%�$��์ %��5�%$6�$�� ์O'4Nค%AP1�$��์1AP� N  

�?PN�?P$/�O1� 3'3  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

   
/52�BN�AQ1N '>�O'4/'N1'AP� � 6�/� 290,000 �6� 

      

  N AP1�N6$N�O�คN6/52�BN�AQ1N '>�O'4/'N1'AP� N�N� �Q 6#5��?N�'  

�Q 6#5�N���>� �Q 6#5��6%4�? �Q 6#5�Nค%AP1� �Q 6#5�N�%ค  

�Q 6�'5P� �Q 6#5�2B��6�60  

�Q 6#5�R2P�%'>ค 2 6/%5� %�$�� ์%��5�%$6�$��์  3'3   

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

   
/52�BP�1�6O'4N�$O %N � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�BP�1�6O'4
N�$O %N  �N6� N N�N�  �%4�61  2?   CN�5�  R#O15�  3'3  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

   
/52�Bค1# >/N�1%์ � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�Bค1# >/N�1%์ N�N�  

O�N�/%A1�6��5��@��O1#C' N���5��@��O1#C'  

/5/ ># ์/%A1O�� ># ์2 6/%5�Nค%AP1�ค1# >/N�1%์  

�'5���/#@�2 6/%5�Nค%AP1� ># ์O��N'N�1%์  

O�N��%1�O2� �%4�61�N1N�AP1�  
26$NคN�>' O�O� ># ์ N#��1%์� N#62์  

O�N�/��%1>N'O��%1�>�2์ O�N��>2N��� ์3'3  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

   
/52�BNค%AP1��5�N '>� � 6�/� 20,000 �6� 

      
  N AP1�N6$N�O�คN6/52�BNค%AP1��5�N '>��?PQ�OQ��6%�5�N '>� N�N� �5�

�5�N '>� �Q 6$6�5�N '>� 26$�5�N '>� 'C��1'�5�N '>� �O1�N1�N6�NO'4       
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1AP�N�?P26#6%�N�>��N6$R�OQ��%4N"�%6$�N6$�?Q  
�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

   
คN222&21!C)P.ค 1// 720,000 (2% 

   
คN6R!!O6 � 6�/� 610,000 �6� 

      

  - คN6R!!O62 6�5��6� � 6�/�  600,000  �6� 

N AP1�N6$N�O�คN6R!!O62 6�5��6�N�0�6'� 6�'��N$O�  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

 - คN6R!!O60C�$์2C��Q 6�O6���N$O�O'4�O6�Pค��6#N'?$� 

O'4�O6�P �2/6� � 6�/�  10,000 �6� 

N AP1�N6$N�O�คN6R!!O60C�$์2C��Q 6�O/$R!!O6N AP1�6%N�1�%   

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R�  

 

      

   
คN6�%>�6%P�%05 �์ � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6P�%05 �์2 6�5��6�O'4P�%05 �์Nค'AP1��?P O'4
/#6$ค/6#%/#�@�คN6Q�O�N6$N AP1Q/OR�O#6�@P��%>�6%�5��'N6/O'4คN6Q�O�N6$
�?PN�>��@Q��6��6%Q�O�%>�6% N�N� คN6N�N6Nค%AP1� คN6N�N6/#6$N'�
P�%05 �์ คN6� 6%B�%5�1626$ 3'3 O'4N�O�R��6#/�5�2A1
�%4�%/�#/6�R�$ �?P #�.0808.4//1551  

'�/5��?P 26  &1"6ค# 2553  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

   
คN6�%>�6%R�%1�?$์ � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6�6�2N�R�%1�?$์ คN6�6�2N���6�5�>  
คN6�/��%6R�%1�?$6�% คN6N�N6�COR�%1�?$์ คN6�%%#N�?$#�6%P1�N�>�Q�
%4���%>/6%�6%N�>��6%ค'5�"6ค%5�O��1>N'O��%1�>�2์ (GFMIS) O'4
1AP�N �?PN�?P$/�O1�Q�%6��6% 

�1�N�0�6'� 6�'��N$O� 

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 
 

      

   
คN6�%>�6%2AP126%O'4P�%ค#�6ค# � 6�/� 70,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$N�?P$/�5�%4��1>�N�1%์N�O�  

%/#�@�1>�N�1%์N�O��6%์�O'4คN62AP126%1AP�N N�N�   

คN6NคN�>'�?/? คN6N�N6�N1�25��6� N�O��O�  คN6P�%"6   

คN6/>�$B�>��6#�5/คN6�%%#N�?$#�6%Q�O�%>�6%�N6�N�?PN�?P$/�O1�O'4
คN6Q�O�N6$1AP� N �?PN�O6'5�1�4%6$�N6$�%4N"��?Q   
�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 
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�(ล�%B' 1// 56,600 (2% 

   
คN2ค1B.1!�์ 1// 56,600 (2% 

   
ค%B"5��์2 6�5��6�       

    
�CON�O�N1�26%O�� 5 �5Q� � 6�/� 17,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1�CON�O�N1�26%O�� 5 �5Q� �5Q�'N6� 2 �5Q�  

N�>�-�>� �@� �5Q���P'N� 3 �5Q� � 6�/� 2 �CO  
(� 6/���6#%6ค6Q��O1��'6� N�AP1��6�R#N�%6��Q��5��?%6ค6
#6�%�6�ค%B"5��์�1�2 6�5����%4#6�)  
�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

    
�COR#O�6�N�>� 2 �5Q� � 6�/� 1 �CO � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1�COR#O�6�N�>� 2 �5Q� 1 �CO 
(� 6/���6#%6ค6Q��O1��'6� N�AP1��6�R#N�%6��Q��5��?%6ค6
#6�%�6�ค%B"5��์�1�2 6�5����%4#6�)  
�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

    
P�P4� 6�6�%4�5� 3-6 � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1P�P4� 6�6�%4�5� 3-6 � 6�/� 1 �5/  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

   
ค%B"5��์ค1# >/N�1%์/%A11>N'O��%1�>�2์       

    

Nค%AP1�ค1# >/N�1%์2 6/%5��6�2 6�5��6�  

(�1O2��"6 ��6�R#N�O1$�/N6 19 �>Q/) 
� 6�/� 17,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1�ค1# >/N�1%์2 6/%5��6�2 6�5��6�  

(�1O2��"6 ��6�R#N�O1$�/N6 19 �>Q/) � 6�/� 1 Nค%AP1� 
คB�'5�1�4 AQ��6� 

- #?/�N/$�%4#/'�'�'6� (CPU) R#N�O1$�/N6 4 O��
/'5� (4 core) O'4 8 O��N2#A1� (8 

Thread) O'4#?N�คP�P'$?N >P#25��6��60>�6R�OQ��%�?�?P�O1�Q�O
ค/6#26#6%�Q��6% 

�%4#/'�'2C� (Turbo Boost /%A1 Max Boost) P�$#?ค/6#N%O/
25��6��60>�62C�2B� R#N�O1$ 

�/N6 4 GHz � 6�/� 1 /�N/$ 

- /�N/$�%4#/'�'�'6� (CPU) #?/�N/$ค/6#� 6
O�� Cache Memory %/#Q�%4�5� (Level) 

N�?$/�5���6�R#N�O1$�/N6 4 MB 

- #?/�N/$ค/6#� 6/'5� (RAM) ��>� DDR4 /%A1�?�/N6 #?��6�R#N�O1$
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�/N6 4 GB 

- #?/�N/$�5�N�O��O1#C' ��>� SATA /%A1�?�/N6 ��6�ค/6#�BR#N�O1$
�/N6 1 TB /%A1 ��>� Solid 

State Drive ��6�ค/6#�BR#N�O1$�/N6 250 GB � 6�/� 1 /�N/$ 

- #?DVD-RW /%A1�?�/N6 � 6�/� 1 /�N/$- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100/1000 Base-T /%A1
�?�/N6 
� 6�/�R#N�O1$�/N6 1 �N1� 
- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 R#N�O1$
�/N6 3 �N1� 
- #?O�O� ># ์O'4N#62์ 
- #?�1O2��"6 ��6�R#N�O1$�/N6 19 �>Q/ � 6�/� 1 /�N/$  

�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

        
 

      

    
Nค%AP1� ># ์N'N�1%์/%A1 LED �6/� 6 (18 /�O6/�6�?) � 6�/� 2,600 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1� ># ์N'N�1%์/%A1 LED �6/� 6 (18 /�O6/
�6�?) � 6�/� 1 Nค%AP1� 
คB�'5�1�4 AQ��6� 

- #?ค/6#'4N1?$�Q��6% ># ์R#N�O1$�/N6 600x600 dpi 

- #?ค/6#N%O/Q��6% ># ์2 6/%5��%4�61 A4 R#N�O1$�/N6 18 /�O6�N1
�6�? (ppm) 

- #?/�N/$ค/6#� 6 (Memory) ��6�R#N�O1$�/N6 32 MB 

- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 � 6�/�R#N�O1$
�/N6 1 �N1� 
- #?�6�Q2N�%4�61R�O%/#�5�R#N�O1$�/N6 150 O�N� 

- 26#6%�Q�OR�O�5� A4, Letter, Legal O'426#6%�� 6/����6��1�
�%4�61N1�R�O 
�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 

 

      

    
Nค%AP1� ># ์N'N�1%์/%A1 LED 2?��>� Network O���?P 1 (20 /�O6/�6�?) � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1� ># ์N'N�1%์/%A1 LED 2?
��>� Network O���?P 1 (20 /�O6/�6�?) � 6�/� 1 Nค%AP1� 
คB�'5�1�4 AQ��6� 

- #?ค/6#'4N1?$�Q��6% ># ์R#N�O1$�/N6 600x600 dpi 

- #?ค/6#N%O/Q��6% ># ์�6/� 62 6/%5��%4�61 A4 R#N�O1$�/N6 20 /�O6
�N1�6�? (ppm) 

- #?ค/6#N%O/Q��6% ># ์2?2 6/%5��%4�61 A4 R#N�O1$�/N6 20 /�O6�N1
�6�? (ppm) 
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- 26#6%� ># ์N1�26%�'5�/�O615�P�#5�>R�O 
- #?/�N/$ค/6#� 6 (Memory) ��6�R#N�O1$�/N6 256 MB 

- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 � 6�/�R#N�O1$
�/N6 1 �N1� 
- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100 Base-T /%A1
�?�/N6 � 6�/�R#N�O1$ 

�/N6 1 �N1� O'426#6%�Q�O�6��N6�Nค%A1�N6$R%O26$ Wi-

Fi (IEEE 802.11b, g, n) R�O- #?�6�Q2N�%4�61R�O%/#�5�R#N�O1$
�/N6 250 O�N� 

- 26#6%�Q�OR�O�5� A4, Letter, Legal O'426#6%�� 6/����6��1�
�%4�61N1�R�O 
�%6��Q�O���6��%>/6%�6��5P/R�  �6��%>/6%�5P/R� 
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�2'/2�O*'2$>#>Oล0/>ช2�21 1// 2,666,940 (2% 

  
�((Bคล2�1 1// 2,063,940 (2% 

   
N�>'N"A1' (+N20)10� 2) 1// 2,063,940 (2% 

   
N�>�N�A1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 1,652,520 �6� 

      

  N AP1�N6$N�O�N�>�N�A1��O6%6��6% O'4N�>��%5��%B�N�>�N�A1��%4� 6�? 
�1��O6%6��6% N�N�  N�>�N'AP1��5Q�N�>�N�A1�N�O��%�? >N01 N�>��%5�
15�%6N�>�N�A1�O'4N'AP1�%4�5�� 6O/�N�  
N�>�Q��6%�%5�15�%6N�>�N�A1�Q/#N N�O��O� O'4N�>�คN6�1�O�� >N01
�1��O6%6��6%�COR�O%5�N�>�N�A1��5Q�2C� /%A1Q�'O�@��5Q�2C��1�15��5�/%A1
� 6O/�N� �6#%4N�?$��%4�%/�� 6/�� 

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

 

      

   
N�>�N >P#�N6� N �1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 54,000 �6� 

      

  N AP1�N6$N�O�N�>�N >P#�N6�N �1� �5��6�N�0�6'�CO#?2>��>N 
R�O%5� R�OO�N N�>�N >P#�6%ค%1��? �5P/ค%6/ N�>��1�O�� 

 >N01�1��O6%6��6%�COR�O%5�N�>�N�A1��@��5Q�2C��1�15��5� 

N�>�คN6�1�O��%6$N�A1� N�>�N >P#คN6/>�6�?  N�>�N >P#2 6/%5� 

� 6O/�N��?P#?N/�B >N01�1� �5��6�N�0�6'  

�6#/'5�N���์�?P� 6/��  

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

 

      

   
N�>��%4� 6� 6O/�N� � 6�/� 78,000 �6� 

      

  N AP1�N6$N�O�N�>��%4� 6� 6O/�N�Q/O�5� �5��6�N�0�6' 

�CO#?2>��>NR�O%5� �6#/'5�N���์�?P� 6/�� 

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

 

      

   
คN6�1�O�� �5��6��O6� � 6�/� 258,000 �6� 

      

  N AP1�N6$N�O�คN6�1�O��Q/OO�N �5��6��O6�O'4N�>��%5��%B�
คN6�1�O�� �5��6��O6��6#"6%�>� O'4 �5��6��O6��5P/R� 

�6#%4N�?$��%4�%/�� 6/�� 

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

 

      

   
N�>�N >P#�N6� N �1� �5��6��O6� � 6�/� 21,420 �6� 

      

  N AP1�N6$N�O�N�>�N >P#�N6�N (คN6ค%1��? �5P/ค%6/)  Q/OO�N  
 �5��6��O6��6#"6%�>�  �5��6��O6��5P/R�  O'4�CO#?2>��>NR�O%5� 

�6#%4N�?$��%4�%/�� 6/�� 

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 
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�(" 2N'>'�2' 1// 592,000 (2% 

   
คN2#1(O%' 1// 122,000 (2% 

   
คN6N�N6�O6� � 6�/� 72,000 �6� 

      

  N AP1�N6$N�O�N�>�คN6N�N6�O6��1��O6%6��6%/%A1 �5��6�N�0�6' 

�1�N�0�6'� 6�'��N$O�  �6#%4N�?$��%4�%/�#/6�R�$   

�%6��Q�O���6��%>/6%�6��5P/R�  �6�/6�O��2�>�>O'4/>�6�6% 

 

      

   
N�>��N/$N/'A1�6%0@�16�B�%       

    
N�>��N/$N/'A1�6%0@�16�B�%�O6%6��6%/ �5��6�/'C��O6��%4� 6 � 6�/� 50,000 �6� 

      

  N AP1�N6$N�O�N�>��N/$N/'A1�6%0@�16�B�%Q/OO�N �5��6�N�0�6' 

�CO�%>/6%O'4 �5��6��O6��?P#?2>��>N�>�R�O�6#%4N�?$�
�%4�%/�#/6�R�$/N6�O/$N�>�2/52�>�6%N�?P$/�5��6%0@�16�1��B�%
 �5��6�2N/��O1��>P�  .0.2541 O'4�?PO�OR�N >P#N�>#�@�  
(��5��?P 3 )  .0. 2549 %/#�5Q�/�5�2A125P��6%�?PN�?P$/�O1� 
�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

 

      

   
คN2QชO210 1// 395,000 (2% 

   
%6$�N6$N AP1Q/OR�O#6�@P��%>�6%       

    
คN6�O6�N/#6�%>�6% � 6�/� 280,000 �6� 

      

  N AP1�N6$N�O�คN6�O6�N/#6�%>�6%Q/O�CO%5��O6�� 6�6%1$N6�Q�1$N6�/�@P��@P�
#>R�ON�O��6%�%4�1� �5�O�'��N1N�># ค%B"5��์   

�?P�>�/%A12>P��N12%O6�1$N6�Q� O'41$CNQ�ค/6#%5��>��1��1� 
�CO%5��O6� N�N� คN6�O6�N/#6�>��5Q�%4��Nค%A1�N6$ค1# >/N�1%์   

คN6�O6�N/#6O%��6� คN6�O6�N/#6�C�2>P���>�C' คN6�O6�N/#6�N6$N1�26%
N�O6N'N# คN6�O6�N/#61AP�N �@P�N�O��%4P$��์�N1�6%�%>/6%�6��1�
N�0�6'3'3   

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

 

      

   
%6$�N6$N�?P$/�5��6%%5�%1�O'4 >�?�6% � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6%5�%1�Q��6%�O1�%5��Bคค' ค�4�Bคค'  

คN6Q�O�N6$Q��6%�%4�B#%6��6% R�OO�N คN616/6% คN6Nค%AP1��AP#  

คN6�1��/5� คN6 ># ์N1�26% คN6�%>�6%O'4คN6Q�O�N6$1AP�N �?PN�?P$/N�AP1�
Q��6%%5�%1� %/#�@�คN6%5�%1�Q��6%�O1�%5��Bคค' ค�4�Bคค'�?P#6
�>N�0�6� �%/��6� N$?P$#�#/%A1 

�50�0@�16�C�6� O'4N�O6/�O6�?P�?PN�?P$/�O1��@P�%N/#�O1�%5��Bคค'  

ค�4�Bคค' 

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 
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%6$�N6$N�?P$/N�AP1��5��6%��>�5�>%6��6%�?PR#NN�O6'5�1�4%6$�N6$��%6$�N6$
1AP� N 

      

    
คN6Q�O�N6$Q��6%2�5�2�B��Bค'6�%�O1��>P� � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q��6%2�5�2�B��Bค'6�%�O1��>P� 

(O�� 5��6�O1��>P�2?P�?  .0.2566-2570) $B��062�%์�6%�%>/6%�5��6%
�6#/'5��%%##6">�6' /�O6�?P 143 ' 6�5��?P 2  

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

 

      

    
คN6N�>��6�R�%6��6%�5Q�Q�O'4�1�%6�16�6�5�% � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q��6%�@�1�%# �%4�B#25##�6  
�50�0@�16O'4�C�6��5Q�Q��%4N�0O'4�N6��%4N�0  

�1��O6%6��6% 'C��O6��%4� 6  �5��6��O6� 
�1�N�0�6'� 6�'��N$O� �Bคค'"6$�1�/%A1�Bคค'1AP��?PN�?P$/�O1�  
�?P�%#2N�N2%>#�6%��ค%1��O1��>P�/%A11�ค์�% 

/%A12�6�5�1AP�N�O��CO� 6N�>��6% /%A1N�0�6'� 6�'��N$O�� 6N�>��6%
N1� P�$�N6$N�O�คN6'��4N�?$� คN6�?P 5� คN6 6/�4  

คN6N�?Q$N'?Q$� คN616/6% �'1���คN6Q�O�N6$1AP� N  

�?PN�?P$/�O1��5��6%1�%#/%A125##�6 
�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

 

      

    
คN6�%%#N�?$#O'4คN6'��4N�?$� � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�%%#N�?$#O'4คN6'��4N�?$�  

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

 

      

    
Pค%��6%�5�N�O��O1#C'N AP1�6%/6�O�� 5��6�O1��>P� � 6�/� 30,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Q�Pค%��6%�5�N�O��O1#C'N AP1�6%/6�O�� 5��6
�O1��>P�  

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6%�%>/6%�5��6%
�6#/'5��%%#6">�6' /�O6 143 ' 6�5��?P 4   

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

      

    
Pค%��6%�5�N/�?�%4�6ค#N AP1�5�� 6O�� 5��6�O1��>P� � 6�/� 40,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Q�Pค%��6%�5�N/�?�%4�6ค#N AP1�5�� 6O�� 5��6
�O1��>P�  

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6%�%>/6%�5��6%
�6#/'5��%%#6">�6' /�O6 143 ' 6�5��?P 3 

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 
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คN6� 6%B�%5�16O'4�N1#O�# � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6� 6%B�%5�16O'4�N1#O�#�%5 $์2>��N6�N Q��%�?� 6%B�
N2?$/6$ Q�O�6%R#NR�O/%A1Q�O�6%R�OO�NR#N�?N�N6�?Pค/% /%A1�@�N/'6�O1�N�O6
� 6%B�%5�16�6#%4$4N/'6�6%Q�O�6� � 6N�O��O1�� 6�6%�N1#O�#Q/O1$CN
Q�2"6 �?P�?26#6%�Q�O�6�R�O�6#���> N�N� Nค%AP1��%5�16�60 Nค%AP1�
 ># ์�?�  

Nค%AP1�15�2 6N�6 Nค%AP1��N6$N1�26%  

Nค%AP1�ค1# >/N�1%์ P�P4 N�O61?Q   
�'O1��N6$%C� %�$��์ %��5�%$6�$��์ O'4�%>N/�%1�16ค6%2 6�5��6�
N�0�6'� 6�'��N$O�  

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

 

      

   
คN2/12"B 1// 65,000 (2% 

   
/52�B2 6�5��6� � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6�AQ12>P��1�Nค%AP1�Q�O
�N6�N  N�N� �%4�61 /#@� �>�21 �6��6  
R#O�%%�5� $6�'� ค'>� N�P� N����>�Q2 '/�N$O��%4�61 �6/  

O!O# 2#B��5��? 2#B��%4/5�>�O6%6��6% O�� ># ์ �%6$6� �1�  
���6�> 2>P� ># ์�?PR�O�6��6%�AQ1/%A1�O6� ># ์ �Q 6�AP#  

Nค%AP1�N$O��%4�61 �%4�61R� O�� ># ์ 3'3  

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

 

      

   
/52�B�6��O6��6�ค%5/ � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6/52�B�6��O6��6�ค%5/�N6�N N�N� O�%� R#O�/6�  

N�N� �O/$�6# �O1�2O1# O�O/�Q 6 �6�%1� #?�  

$6�N6O#'� ���5�!1� �Q 6$6� 6ค/6#2416� �4�%O6 �B� '62�>�  

�?P�1� /#1� #BO� �'1�/#1� �O6�C�?P�1� 3'3  

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

 

      

   
/52�BP�1�6O'4N�$O %N � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�BP�1�6O'4
N�$O %N  �N6� N N�N�  �%4�61  2?   CN�5�  R#O15�  3'3  

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 
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/52�Bค1# >/N�1%์ � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�Bค1# >/N�1%์ N�N� O�N�/%A1�6��5��@�
�O1#C' N���5��@��O1#C' /5/ ># ์/%A1O�� ># ์2 6/%5�Nค%AP1�
ค1# >/N�1%์ �'5���/#@�2 6/%5�Nค%AP1� ># ์O��N'N�1%์  

O�N��%1�O2� �%4�61�N1N�AP1�  
26$NคN�>' O�O� ># ์ N#��1%์� N#62์ O�N�/��%1>N'O��%1�>�2์  
O�N��>2N��� ์3'3  

�%6��Q�O���6��%>/6%�6��5P/R� �6�/6�O��2�>�>O'4/>�6�6% 

 

      

   
คN222&21!C)P.ค 1// 10,000 (2% 

   
คN6�%>�6%2AP126%O'4P�%ค#�6ค# � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$N�?P$/�5�%4��1>�N�1%์N�O�  

%/#�@�1>�N�1%์N�O��6%์�O'4คN62AP126%1AP�N N�N�  คN6NคN�>'�?/? 
คN6N�N6�N1�25��6� N�O��O�  คN6P�%"6  คN6/>�$B�>��6#�5/ 

คN6�%%#N�?$#�6%Q�O�%>�6%�N6�N �?PN�?P$/�O1�O'4คN6Q�O�N6$1AP�N  

�?PN�O6'5�1�4%6$�N6$�%4N"��?Q   
�%6��Q�O���6��%>/6%�6��5P/R�  �6�/6�O��2�>�>O'4/>�6�6% 

 

      

  
�(ล�%B' 1// 11,000 (2% 

   
คN2ค1B.1!�์ 1// 11,000 (2% 

   
ค%B"5��์2 6�5��6�       

    
�CON�O�N1�26% 2 �5Q���P'N� 2 �5Q�'N6��6� N�>�-�>� �@� � 6�/� 2 /'5� � 6�/� 11,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1�CON�O�N1�26% 2 �5Q���P'N� 2 �5Q�'N6��6�  

N�>�-�>� �@� � 6�/� 2 /'5� 
(� 6/���6#%6ค6Q��O1��'6� N�AP1��6�R#N�%6��Q��5��?%6ค6
#6�%�6�ค%B"5��์�1�2 6�5����%4#6�)   
�%6��Q�O���6��%>/6%�6��5P/R�  �6�/6�O��2�>�>O'4/>�6�6% 
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�2'(1>/21�2'คล1� 1// 5,113,700 (2% 

  
�((Bคล2�1 1// 3,782,700 (2% 

   
N�>'N"A1' (+N20)10� 2) 1// 3,782,700 (2% 

   
N�>�N�A1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 2,323,920 �6� 

      

  N AP1�N6$N�O�N�>�N�A1��O6%6��6% O'4N�>��%5��%B�N�>�N�A1��%4� 6�?�1�
�O6%6��6% N�N� N�>�N'AP1��5Q�N�>�N�A1�N�O��%�? >N01 N�>��%5�15�%6
N�>�N�A1�O'4N'AP1�%4�5�� 6O/�N�  
N�>�Q��6%�%5�15�%6N�>�N�A1�Q/#N N�O��O� O'4N�>�คN6�1�O�� >N01
�1��O6%6��6%�COR�O%5�N�>�N�A1��5Q�2C� /%A1Q�'O�@��5Q�2C��1�15��5�/%A1
� 6O/�N� �6#%4N�?$��%4�%/�� 6/�� 

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

   
N�>�N >P#�N6� N �1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 67,200 �6� 

      

  N AP1�N6$N�O�N�>�N >P#�N6�N �1� �5��6�N�0�6'�CO#?2>��>N 
R�O%5� R�OO�N N�>�N >P#�6%ค%1��? �5P/ค%6/ N�>��1�O�� 

 >N01�1��O6%6��6%�COR�O%5�N�>�N�A1��@��5Q�2C��1�15��5� 

N�>�คN6�1�O��%6$N�A1� N�>�N >P#คN6/>�6�?  N�>�N >P#2 6/%5� 

� 6O/�N��?P#?N/�B >N01�1� �5��6�N�0�6'  

�6#/'5�N���์�?P� 6/��  

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

   
N�>��%4� 6� 6O/�N� � 6�/� 85,200 �6� 

      

  N AP1�N6$N�O�N�>��%4� 6� 6O/�N� �5��6�N�0�6' 

� 6O/�N��CO1 6�/$�6%�1�ค'5� /5//�O6�N6$�%>/6%�6�ค'5�  
�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

   
คN6�1�O�� �5��6��O6� � 6�/� 1,199,160 �6� 

      

  N AP1�N6$N�O�คN6�1�O��Q/OO�N �5��6��O6�O'4N�>��%5��%B� 
คN6�1�O�� �5��6��O6��6#"6%�>�  �5��6��O6��5P/R�   

O'4�CO#?2>��>NR�O%5��6#N���์�?P� 6/��  

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

 

 

 

 

 

      



45 

 

   
N�>�N >P#�N6� N �1� �5��6��O6� � 6�/� 107,220 �6� 

      

  N AP1�N6$N�O�N�>�N >P#�N6�N(คN6ค%1��? �5P/ค%6/) Q/OO�N   
 �5��6��O6��6#"6%�>�  �5��6��O6��5P/R� O'4�CO#?2>��>R�O%5� 

�6#%4N�?$��%4�%/�� 6/��   

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
      

  
�(" 2N'>'�2' 1// 1,281,000 (2% 

   
คN2#1(O%' 1// 340,000 (2% 

   
คN6�1�O���CO��>�5�>%6��6%15�N�O��%4P$��์O�N1�ค์�%��ค%1�2N/��O1��>P� � 6�/� 300,000 �6� 

      

  N AP1�N6$N�O�คN6�1�O���CO��>�5�>%6��6%15�N�O��%4P$��์O�N 
N�0�6'� 6�'��N$O� N�O�คN6�1�O��ค�4�%%#�6% 

�6#%4N�?$��%4�%/��6%ค'5�/N6�O/$�6%�5��AQ1�5��O6�O'4�6%�%>/6%
 52�B"6ค%5�  .0. 2560 N�N� คN6�1�O��ค�4�%%#�6%�%/��6%
�O6� คN6�1�O��ค�4�%%#�6%� 6/��%6ค6�'6� ค�4�%%#�6%�5��AQ1
�5��O6� �N6��COค/�คB#�6�  

N�O6/�O6�?P 52�B /5//�O6N�O6/�O6�?P 52�BN�O��O�  

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

   
คN6�1�O���6%��>�5�>�6��1�N/'6%6��6% � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6�1�O���6%��>�5�>�6��1�N/'6%6��6%  

Q/OO�N �O6%6��6% 'C��O6��%4� 6 O'4 �5��6��O6�  
P�$#?ค 625P�Q/O��>�5�>�6��1�N/'6%6��6% 

�1�N�0�6'� 6�'��N$O� 

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

   
N�>��N/$N/'A1�6%0@�16�B�%       

    
N�>��N/$N/'A1�6%0@�16�B�%�O6%6��6%/ �5��6�/'C��O6��%4� 6 � 6�/� 35,000 �6� 

      

  N AP1�N6$N�O�N�>��N/$N/'A1�6%0@�16�B�%Q/OO�N �5��6�N�0�6' 

�CO�%>/6%O'4 �5��6��O6��?P#?2>��>N�>�R�O 
�6#%4N�?$��%4�%/�#/6�R�$/N6�O/$N�>�2/52�>�6%N�?P$/�5��6%0@�16
�1��B�% �5��6�2N/��O1��>P�  .0.2541 O'4�?PO�OR�N >P#N�>#�@� (��5�
�?P 3 )  .0. 2549 %/#�5Q�/�5�2A125P��6%�?PN�?P$/�O1� 
�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
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คN2QชO210 1// 726,000 (2% 

   
%6$�N6$N AP1Q/OR�O#6�@P��%>�6%       

    
คN6�O6�N/#6�%>�6% � 6�/� 100,000 �6� 

      

  N AP1�N6$N�O�คN6�O6�N/#6�%>�6%Q/O�CO%5��O6�� 6�6%1$N6�Q�1$N6�/�@P��@P�
#>R�ON�O��6% �%4�1� �5�O�'��N1N�># ค%B"5��์  �?P�>�/%A12>P��N12%O6�
1$N6�Q� O'41$CNQ�ค/6#%5��>��1��1��CO%5��O6� N�N�   

คN6�O6�N/#6�>��5Q�%4��Nค%A1�N6$ค1# >/N�1%์  

คN6�O6�N/#6O%��6� คN6�O6�N/#6�C�2>P���>�C' คN6�O6�N/#6�N6$
N1�26% N�O6N'N#  คN6�O6�N/#61AP�N �@P�N�O��%4P$��์�N1�6%�%>/6%�6�
�1�N�0�6' 3'3    

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

   

%6$�N6$N�?P$/N�AP1��5��6%��>�5�>%6��6%�?PR#NN�O6'5�1�4%6$�N6$��%6$�N6$
1AP� N 

      

    
คN6��N�$Pค%��6%N0%1��>��B#�� � 6�/� 576,000 �6� 

      

  N AP1�N6$N�O�คN6��N�$N�>�Pค%��6%N0%1��>��B#�� 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'� ค%5Q��?P 1
$B��062�%์�6%�%>/6%�5��6%�6#/'5��%%#6">�6' /�O6 50 ' 6�5��?P 2 

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

    
คN6Q�O�N6$Q��6%N�>��6�R�%6��6% � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q��6%�@�1�%# �%4�B#25##�6 �50�0@�16O'4�C
�6��5Q�Q��%4N�0O'4�N6��%4N�0 �1�
�O6%6��6% 'C��O6��%4� 6  �5��6��O6��1�N�0�6'� 6�' 

��N$O� �Bคค'"6$�1�/%A1�Bคค'1AP��?PN�?P$/�O1� �?P�%#2N�N2%>#�6%
��ค%1��O1��>P� /%A11�ค์�%/%A12�6�5�1AP�N�O��CO� 6N�>��6%  

/%A1N�0�6'� 6�'��N$O�� 6N�>��6%N1� P�$�N6$N�O�
คN6'��4N�?$� คN6�?P 5� คN6 6/�4 คN6N�?Q$N'?Q$� คN616/6% �'1���
คN6Q�O�N6$1AP� N  

�?PN�?P$/�O1��5��6%1�%#/%A125##�6 
�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

   
คN6� 6%B�%5�16O'4�N1#O�# � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6� 6%B�%5�16O'4�N1#O�#�%5 $์2>��N6�N  

Q��%�?� 6%B�N2?$/6$ Q�O�6%R#NR�O/%A1Q�O�6%R�OO�NR#N�?N�N6�?Pค/% /%A1�@�
N/'6�O1�N�O6� 6%B�%5�16�6#%4$4N/'6�6%Q�O�6� � 6N�O��O1�� 6�6%
�N1#O�#Q/O1$CNQ�2"6 �?P�?26#6%�Q�O�6�R�O
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�6#���> N�N� Nค%AP1��%5�16�60 Nค%AP1� ># ์�?�  

Nค%AP1�15�2 6N�6 Nค%AP1��N6$N1�26%  

Nค%AP1�ค1# >/N�1%์ P�P4 N�O61?Q   
�'O1��N6$%C� %�$��์ %��5�%$6�$��์ O'4�%>N/�%1�16ค6%2 6�5��6�
N�0�6'� 6�'��N$O� 

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

   
คN2/12"B 1// 215,000 (2% 

   
/52�B2 6�5��6� � 6�/� 60,000 �6� 

      

  N AP1�N6$N�O�คN6�AQ12>P��1�Nค%AP1�Q�O
�N6�N  N�N� �%4�61 /#@� �>�21 �6��6 R#O
�%%�5� $6�'� ค'>� N�P� N����>�Q2 '/�N$O��%4�61 �6/ O!O# 2#B�
�5��? 2#B��%4/5�>�O6%6��6% O�� ># ์ �%6$6� �1� ���6�> 2>P� ># ์�?P
R�O�6��6%�AQ1/%A1�O6� ># ์ �Q 6�AP# Nค%AP1�N$O��%4�61 �%4�61R� O��
 ># ์ 3'3  

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

   
/52�B�6��O6��6�ค%5/ � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6/52�B�6��O6��6�ค%5/�N6�N N�N� O�%�  
R#O�/6� N�N� �O/$�6# �O1�2O1# O�O/�Q 6 �6�%1� #?�  

$6�N6O#'� ���5�!1� �Q 6$6� 6ค/6#2416� �4�%O6 �B� '62�>�  

�?P�1� /#1� #BO� �'1�/#1� �O6�C�?P�1� 3'3  

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

   
/52�B$6� 6/�4O'4��2N� � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6/52�B$6� 6/�4O'4��2N��N6� N N�N� O��N�1%?P  
$6��1� $6�Q� 26$R#'์ �Q 6#5�N�%ค /5/N�?$� O#NO%�  
R�ค/� �%4��#1��O6�%�$��์ /#O1�Q 6%�$��์ %��5�%$6�$��์  
O'4Nค%AP1�$��์1AP� N �?PN�?P$/�O1� 3'3  

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

   
/52�BN�AQ1N '>�O'4/'N1'AP� � 6�/� 50,000 �6� 

      

  N AP1�N6$N�O�คN6/52�BN�AQ1N '>�O'4/'N1'AP�  N�N� �Q 6#5��?N�'  

�Q 6#5�N���>� �Q 6#5��6%4�? �Q 6#5�Nค%AP1� �Q 6#5�N�%ค �Q 6�'5P�  

�Q 6#5�2B��6�60  

�Q 6#5�R2P�%'>ค 2 6/%5� %�$�� ์%��5�%$6�$��์  3'3   

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
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/52�BP�1�6O'4N�$O %N � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�BP�1�6O'4
N�$O %N  �N6� N N�N�  �%4�61  2?   CN�5�  R#O15�  3'3  

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

   
/52�Bค1# >/N�1%์ � 6�/� 60,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�Bค1# >/N�1%์ N�N� O�N�/%A1�6��5��@�
�O1#C' N���5��@��O1#C' /5/ ># ์/%A1O�� ># ์2 6/%5�Nค%AP1�
ค1# >/N�1%์ �'5���/#@�2 6/%5�Nค%AP1� ># ์O��N'N�1%์  

O�N��%1�O2� �%4�61�N1N�AP1�  
26$NคN�>' O�O� ># ์ N#��1%์� N#62์ O�N�/��%1>N'O��%1�>�2์  
O�N��>2N��� ์3'3  

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

  
�(ล�%B' 1// 50,000 (2% 

   
คN2ค1B.1!�์ 1// 50,000 (2% 

   
ค%B"5��์2 6�5��6�       

    
�CON�O�N1�26%O�� 2 �6� � 6�/� 18,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1�CON/'O�N�O�N1�26%O�� 2 �6� � 6�/� 3 /'5� 
 1) #?#A1�5���>��>� 

 2) #?O�N��5Q��%5�%4�5� 3 �>Q� 

 3) คB�2#�5�>�6##6�%�6��'>�"5��์1B�26/�%%# (#1�.) 
�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
 

      

   
ค%B"5��์ค1# >/N�1%์/%A11>N'O��%1�>�2์       

    

Nค%AP1�ค1# >/N�1%์2 6/%5��6��%4#/'�' O���?P1 (�1O2��"6 ��6�R#N
�O1$�/N6 19 �>Q/) 

� 6�/� 22,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1�ค1# >/N�1%์2 6/%5��6��%4#/'�' O���?P
1(�1O2��"6 ��6�R#N�O1$�/N6 19 �>Q/) � 6�/� 1 Nค%AP1� 
คB�'5�1�4 AQ��6� 

- #?/�N/$�%4#/'�'�'6� (CPU) R#N�O1$�/N6 6 O��
/'5� (6 core) O'4 12 O��N2#A1� (12 Thread) 

O'4#?N�คP�P'$?N >P#25��6��60>�6R�OQ��%�?�?P�O1�Q�Oค/6#26#6%�Q�
�6%�%4#/'�'2C� (Turbo 

Boost /%A1 Max Boost) P�$#?ค/6#N%O/25��6��60>�62C�2B� R#N�O1$
�/N6 4.2 GHz � 6�/� 1 /�N/$ 

- /�N/$�%4#/'�'�'6� (CPU) #?/�N/$ค/6#� 6
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O�� Cache Memory %/#Q�%4�5� (Level) N�?$/�5� 

��6�R#N�O1$�/N6 8 MB 

- #?/�N/$�%4#/'�'N AP1O2��"6  P�$#?คB�'5�1�41$N6�Q�1$N6�
/�@P� /%A1�?�/N6 �5��?Q 
1) N�O�O��/��%N AP1O2��"6 O$��6�O��/��%/'5��?P#?
/�N/$ค/6#� 6 ��6�R#N�O1$�/N6 2 GB /%A1 

2) #?/�N/$�%4#/'�'N AP1O2��"6 �>��5Q�1$CN"6$Q�/�N/$�%4#/'�'
�'6� O�� Graphics 

Processing Unit �?P26#6%�Q�O/�N/$ค/6#� 6/'5�Q��6%O2��"6 
��6�R#N�O1$�/N6 2 GB /%A1 

3) #?/�N/$�%4#/'�'N AP1O2��"6 �?P#?ค/6#26#6%�Q��6%Q�O
/�N/$ค/6#� 6/'5�Q��6%O2��"6  

��6�R#N�O1$�/N6 2 GB 

- #?/�N/$ค/6#� 6/'5� (RAM) ��>� DDR4 /%A1�?�/N6 #?��6�R#N�O1$
�/N6 8 GB 

- #?/�N/$�5�N�O��O1#C' ��>� SATA /%A1 �?�/N6 ��6�ค/6#�BR#N�O1$
�/N6 1 TB /%A1��>� Solid State 

Drive ��6�ค/6#�BR#N�O1$�/N6 250 GB � 6�/� 1 /�N/$ 

- #?DVD-RW /%A1�?�/N6 � 6�/� 1 /�N/$ 

- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100/1000 Base-T /%A1
�?�/N6 � 6�/� 

R#N�O1$�/N6 1 �N1� 
- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 R#N�O1$
�/N6 3 �N1� 
- #?O�O� ># ์O'4N#62์ 
- #?�1O2��"6 ��6�R#N�O1$�/N6 19 �>Q/ � 6�/� 1 /�N/$ 

�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
        

 
      

    
Nค%AP1� ># ์Multifunction N'N�1%์/%A1 LED �6/� 6 � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1� ># ์Multifunction N'N�1%์/%A1 LED �6/
� 6 � 6�/� 1 Nค%AP1� 
คB�'5�1�4 AQ��6� 

- N�O�1B��%�์�?P#?ค/6#26#6%�
N�O� Printer, Copier, Scanner O'4 Fax "6$Q�Nค%AP1�N�?$/�5� 

- #?ค/6#'4N1?$�Q��6% ># ์R#N�O1$�/N6 600x600 dpi 

- #?ค/6#N%O/Q��6% ># ์2 6/%5��%4�61 A4 R#N�O1$�/N6 28 /�O6�N1
�6�?(ppm) 
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- #?/�N/$ค/6#� 6 (Memory) ��6�R#N�O1$�/N6 256 MB 

- 26#6%�2O��N1�26% ��6� A4 R�O 
- #?ค/6#'4N1?$�Q��6%2O��2C�2B� R#N�O1$�/N6 1,200x1,200 dpi 

- #?�6��O1�N1�26%15�P�#5�>(Auto Document Feed) 

- 26#6%��N6$2 6N�6N1�26%R�O 
- 26#6%�� 62 6N�6R�O2C�2B�R#N�O1$�/N6 99 2 6N�6 
- 26#6%�$N1O'4�$6$R�O25 �@� 400 N�1%์N�O�� ์

- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 � 6�/�R#N�O1$
�/N6 1 �N1� 
- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100 Base-T /%A1
�?�/N6 � 6�/� 

R#N�O1$�/N6 1 �N1� 
- #?�6�Q2N�%4�61R�O%/#�5�R#N�O1$�/N6 250 O�N� 

- 26#6%�Q�OR�O�5� A4, Letter, Legal O'426#6%�� 6/����6��1�
�%4�61N1�R�O�%6��Q�O���6��%>/6%�6��5P/R� �6��%>/6%�6�ค'5� 
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O*'�2'�2111�12ค/2/2�(.20Q' 

 
�2'(1>/21%1P/R)N�?P0/�1(�2111�12ค/2/2�(.20Q' 1// 2,067,960 (2% 

  
�((Bคล2�1 1// 1,440,960 (2% 

   
N�>'N"A1' (+N20)10� 2) 1// 1,440,960 (2% 

   
N�>�N�A1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 498,600 �6� 

      

  N AP1�N6$N�O�N�>�N�A1��O6%6��6% O'4N�>��%5��%B�N�>�N�A1��%4� 6�? 
�1��O6%6��6% N�N� N�>�N'AP1��5Q�N�>�N�A1�N�O��%�? >N01  

N�>��%5�15�%6N�>�N�A1�O'4N'AP1�%4�5�� 6O/�N�   
N�>�Q��6%�%5�15�%6N�>�N�A1�Q/#N N�O��O�  

O'4N�>�คN6�1�O�� >N01�1��O6%6��6%�COR�O%5�N�>�N�A1��5Q�2C�/%A1 

Q�'O�@��5Q�2C��1�15��5�/%A1� 6O/�N� �6#%4N�?$�� 6/�� 

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

   
N�>�N >P#�N6� N �1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 16,200 �6� 

      

  N AP1�N6$N�O�N�>�N >P#�N6�N �1� �5��6�N�0�6'�CO#?2>��>N 
R�O%5� R�OO�N N�>�N >P#�6%ค%1��? �5P/ค%6/ N�>��1�O�� 

 >N01�1��O6%6��6%�COR�O%5�N�>�N�A1��@��5Q�2C��1�15��5� 

N�>�คN6�1�O��%6$N�A1� N�>�N >P#คN6/>�6�?  N�>�N >P#2 6/%5� 

� 6O/�N��?P#?N/�B >N01�1� �5��6�N�0�6'   

N�>�N >P# >N012 6/%5��6%2CO%� ( 2%.) �6#/'5�N���์�?P� 6/�� 

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

   
N�>��%4� 6� 6O/�N� � 6�/� 18,000 �6� 

      

  N AP1�N6$N�O�N�>��%4� 6� 6O/�N� �5��6�N�0�6' 

� 6O/�N�/5//�O6�N6$�O1��5�O'4%5�16ค/6#2��  

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

   
คN6�1�O�� �5��6��O6� � 6�/� 800,160 �6� 

      

  N AP1�N6$N�O�คN6�1�O��Q/OO�N �5��6��O6�O'4N�>��%5��%B�
คN6�1�O�� �5��6��O6��6#"6%�>� O'4 �5��6��O6��5P/R�   

�6#%4N�?$��%4�%/�� 6/��  

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      



52 

 

   
N�>�N >P#�N6� N �1� �5��6��O6� � 6�/� 108,000 �6� 

      

  N AP1�N6$N�O�N�>�N >P#�N6�N(คN6ค%1��? �5P/ค%6/) Q/OO�N 
 �5��6��O6��6#"6%�>�  �5��6��O6��5P/R� O'4�CO#?2>��>NR�O%5� 

�6#%4N�?$��%4�%/�� 6/��  

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

  
�(" 2N'>'�2' 1// 627,000 (2% 

   
คN2QชO210 1// 430,000 (2% 

   

%6$�N6$N�?P$/N�AP1��5��6%��>�5�>%6��6%�?PR#NN�O6'5�1�4%6$�N6$��%6$�N6$
1AP� N 

      

    
Pค%��6%�5��5Q��B�2�5��N/�N�0�6'�?Q/#N�? 2566 � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%�5��5Q��B�2�5��N/�N�0�6'�?
Q/#N �? 2566 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6 
�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'425�ค# /�O6�?P 124  

' 6�5��?P 1  

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q� 

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

    
Pค%��6%�5��5Q��B�2�5��N/�N�0�6'2��%6��์ �? 2566 � 6�/� 30,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Q�Pค%��6%�5��5Q��B�2�5��N/�N�0�6'
2��%6��์ �? 2566 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6 
�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'425�ค# /�O6�?P 125  

' 6�5��?P 4 

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

    
Pค%��6%�O6�2/$ N#A1�2416� ����'1�"5$ � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%�O6�2/$ N#A1�2416� ����'1�"5$ 

(O�� 5��6�O1��>P�  .0.2566-2570) N >P#N�>#/N�'?P$�O�'� ค%5Q��?P 1 
$B��062�%์�6% 5��6 �O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'4
25�ค# /�O6�?P 51 ' 6�5��?P 3 

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q� 

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 
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Pค%��6%�@�1�%#�O1��5�R!�N6 � 6�/� 10,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Q�Pค%��6%�@�1�%#�O1��5�R!�N6 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6 
�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'425�ค# /�O6�?P 126  

' 6�5��?P 7 

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

    

Pค%��6%�@�1�%#N2%>#05�$"6 N�O6 �5��6��O1��5� 

O'4�%%N�626�6%�"5$(unit school) 

� 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%�@�1�%#N2%>#05�$"6  

N�O6 �5��6��O1��5�O'4�%%N�626�6%�"5$(unit school) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'� ค%5Q��?P 1 
$B��062�%์�6% 5��6�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'4
25�ค# /�O6�?P 51 ' 6�5��?P 5 

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

    

Pค%��6%�@�1�%#16262#5ค%�O1��5�"5$�N6$ 'N%A1�  

/'5�2C�%�5��5Q�%BN��?P 3 

� 6�/� 100,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%�@�1�%#16262#5ค%�O1��5�"5$ 

�N6$ 'N%A1� (/'5�2C�%�5��5Q�%BN��?P 3)  

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'� ค%5Q��?P 1 
$B��062�%์�6% 5��6�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'4
25�ค# /�O6�?P 51 ' 6�5��?P 6 

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

   
คN6� 6%B�%5�16O'4�N1#O�# � 6�/� 200,000 �6� 

      

  N AP1�N6$N�O�คN6� 6%B�%5�16O'4�N1#O�#�%5 $์2>��N6�N  

Q��%�?� 6%B�N2?$/6$ Q�O�6%R#NR�O/%A1Q�O�6%R�OO�NR#N�?N�N6�?Pค/% /%A1�@�
N/'6�O1�N�O6� 6%B�%5�16�6#%4$4N/'6 

�6%Q�O�6� � 6N�O��O1�� 6�6%�N1#O�#Q/O1$CNQ�2"6 �?P�? 
26#6%�Q�O�6�R�O�6#���> N�N� Nค%AP1��%5�16�60  

Nค%AP1� ># ์�?� Nค%AP1�15�2 6N�6 Nค%AP1��N6$N1�26%  

Nค%AP1�ค1# >/N�1%์ P�P4 N�O61?Q   
�'O1��N6$%C� %�$��์ %��5�%$6�$��์ Nค%AP1�2C��Q 6  

Nค%AP1��ัP�R! N'AP1$$��์3'3 O'4�%>N/�%1�16ค6%2 6�5��6�N�0�6'
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� 6�'��N$O� �%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

   
คN2/12"B 1// 197,000 (2% 

   
/52�BR!!O6O'4/>�$B � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�BR!!O6O'4/>�$B N�N� !>/2 ์N�O#�5�%5�
26$R!!O6 N�� 5�26$R!!O6 26$R!!O6 �'5R�R!!O6 2/>��์
R!!O6 ค1�N��N�1%์ N�%�N�1%์ 26$16�60 Pค#R!!O6 ' 6P �  
R#Pค%P!� �5�O2��/��%�N6�N Nค%AP1�/5�ค/6#�O6��6�R!!O6  

Nค%AP1�/5�O%��5�R!!O63'3   

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

   
/52�B�N12%O6� � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�B�N12%O6� N�N� N/'O���>��N6� N  

R#O��>��N6�N �>�N�1%์ O�%��62? �C��?N#�� ์  

�C��6/ �%6$  1>�  �%4N�AQ1� 25��42? �4�C คO1� ค?# �1�  

N2?$# �/6� 2/N6� N'AP1$  �N1�Q 6O'41B��%�์�%4�6 3'3  

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

   
/52�B$6� 6/�4O'4��2N� � 6�/� 50,000 �6� 

      

  N AP1�N6$N�O�คN6/52�B$6� 6/�4O'4��2N��N6� N N�N� O��N�1%?P  
$6��1� $6�Q� 26$R#'์ �Q 6#5�N�%ค /5/N�?$� O#NO%�  
R�ค/� �%4��#1��O6�%�$��์ /#O1�Q 6%�$��์ %��5�%$6�$��์  
O'4Nค%AP1�$��์1AP�N �?PN�?P$/�O1� 3'3  

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

   
/52�BN�AQ1N '>�O'4/'N1'AP� � 6�/� 25,000 �6� 

      

  N AP1�N6$N�O�คN6/52�BN�AQ1N '>�O'4/'N1'AP� N�N� �Q 6#5��?N�'  

�Q 6#5�N���>� �Q 6#5��6%4�? �Q 6#5�Nค%AP1� �Q 6#5�N�%ค �Q 6�'5P�  

�Q 6#5�2B��6�60  

�Q 6#5�R2P�%'>ค2 6/%5�%�$��์ %��5�%$6�$��์  3'3   

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 
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/52�BNค%AP1�O�N��6$ � 6�/� 90,000 �6� 

      

  -/52�BNค%AP1�O�N��6$ 1� %. 
� 6�/� 60,000 �6�  

N AP1N�O�คN6Q�O�N6$Nค%AP1�O�N��6$�1�1� %./%A1�B���>�5�>�6% 1�
 %. N�N�  /#/�  N2AQ1  �6�N��  N�O#�5�  %1�N�O6   

N�N� /#/� N2AQ1 �6�N�� N�O#�5� %1�N�O6 3  

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

-/52�BNค%AP1�O�N��6$�6��O1��5�O'4�%%N�626�6%�"5$ 

� 6�/� 30,000 �6� 

N AP1�N6$N�O�คN6/52�BNค%AP1�O�N��6$�6��O1��5�O'4�%%N�626�6%�"5$ 

N�N�  /#/�  N2AQ1  �6�N��  N�O#�5�  %1�N�O6   

N�N� /#/� N2AQ1 �6�N�� N�O#�5� %1�N�O6 3  

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

   
/52�Bค1# >/N�1%์ � 6�/� 7,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�Bค1# >/N�1%์ N�N� O�N�/%A1�6��5��@�
�O1#C' N���5��@��O1#C' /5/ ># ์/%A1O�� ># ์2 6/%5�Nค%AP1�
ค1# >/N�1%์ �'5���/#@�2 6/%5�Nค%AP1� ># ์O��N'N�1%์  

O�N��%1�O2� �%4�61�N1N�AP1�  
26$NคN�>' O�O� ># ์ N#��1%์� N#62์ O�N�/��%1>N'O��%1�>�2์  
O�N��>2N��� ์O%# �6%์��1 3'3  

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��%>/6%�5P/R�N�?P$/�5��6%%5�16ค/6#2��"6$Q� 

 

      

   
/52�B1AP� � 6�/� 5,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Q��6%�5��AQ11B��%�์2 6/%5��6��O1��5�
"5$ N�N� 2#1N%A1 /5/N�AP1#O�P2 /5//6'์/N�>�-�>�O�P2 3'3 

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�  �6��%>/6%�5P/R�
N�?P$/�5��6%%5�16ค/6#2��"6$Q� 
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�2')O1��1'Oล0(11N%222&21!.10 1// 674,100 (2% 

  
�(" 2N'>'�2' 1// 590,000 (2% 

   
คN2#1(O%' 1// 500,000 (2% 

   
คN6�1�O���CO��>�5�>%6��6%15�N�O��%4P$��์O�N1�ค์�%��ค%1�2N/��O1��>P� � 6�/� 500,000 �6� 

      

  คN6Q�O�N6$�1�16262#5ค%Q��6%�O1��5�O'4�%%N�626�6%�"5$ 

� 6�/� 500,000 �6� 

N AP1�N6$N�O�คN6Q�O�N6$�1�16262#5ค%Q��6%�O1��5�O'4 

�%%N�626�6%�"5$ 

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��O1��5�O'4�%%N�626�6%�"5$ 

 

      

   
คN2QชO210 1// 90,000 (2% 

   

%6$�N6$N�?P$/N�AP1��5��6%��>�5�>%6��6%�?PR#NN�O6'5�1�4%6$�N6$��%6$�N6$
1AP� N 

      

    
Pค%��6%�5��6�/5�  1� %. � 6�/� 10,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Pค%��6%�5��6�/5�1� %. 
(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�O6�
N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'425�ค# /�O6�?P 125 ' 6�5�
�?P 5   

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�  

�6��O1��5�O'4�%%N�626�6%�"5$ 

      

    
Pค%��6%�%5��%B�"C#>�50�์N�0�6'� 6�'��N$O� � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%�%5��%B�"C#>�50�์N�0�6'� 6�'��N$O� 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'� ค%5Q��?P 1 
$B��062�%์�6% 5��6�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'4
25�ค# /�O6�?P 51 ' 6�5��?P 7 

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�  

�6��O1��5�O'4�%%N�626�6%�"5$ 

 

      

    
Pค%��6%�O1��5�O'4�%%N�626�6%�"5$ � 6�/� 50,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Pค%��6%�O1��5�O'4�%%N�626�6%�"5$(O�� 5��6
�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6 

�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'4
25�ค# /�O6�?P 125  ' 6�5��?P 6 

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�  

�6��O1��5�O'4�%%N�626�6%�"5$ 
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�(ล�%B' 1// 84,100 (2% 

   
คN2ค1B.1!�์ 1// 44,100 (2% 

   
ค%B"5��์2 6�5��6�       

    
P�P4%5�O��R#O � 6�/� 15,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1P�P4%5�O��R#O � 6�/� 1 �B�  

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��O1��5�O'4�%%N�626�6%�"5$ 

 

      

   
ค%B"5��์�6��O6��6�ค%5/       

    
Nค%AP1��5�/�O6 � 6�/� 9,500 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1��5�/�O6O���O1O�O� � 6�/� 1 Nค%AP1�  
คB�'5�1�4 AQ��6� 

 1) N�O�Nค%AP1��5�/�O6O��24 6$ 

 2) Nค%AP1�$��์��6�R#N�O1$�/N6 1.4 O%�#O6 

 3) �%>#6�%�%4�1�2C�R#N�O1$�/N6 30 �?�? 
 4)  %O1#Q�#?�  

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��O1��5�O'4�%%N�626�6%�"5$ 

 

      

   
ค%B"5��์ค1# >/N�1%์/%A11>N'O��%1�>�2์       

    

Nค%AP1�ค1# >/N�1%์2 6/%5��6�2 6�5��6� (�1O2��"6 ��6�R#N�O1$�/N6 
19 �>Q/) 

� 6�/� 17,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1�ค1# >/N�1%์2 6/%5��6�2 6�5��6�  

(�1O2��"6 ��6�R#N�O1$�/N6 19 �>Q/) � 6�/� 1 Nค%AP1�  
คB�'5�1�4 AQ��6� 

- #?/�N/$�%4#/'�'�'6� (CPU) R#N�O1$�/N6 4 O��
/'5� (4 core) O'4 8 O��N2#A1� (8 

Thread) O'4#?N�คP�P'$?N >P#25��6��60>�6R�OQ��%�?�?P�O1�Q�O
ค/6#26#6%�Q��6% 

�%4#/'�'2C� (Turbo Boost /%A1 Max Boost) P�$#?ค/6#N%O/
25��6��60>�62C�2B� R#N�O1$ 

�/N6 4 GHz � 6�/� 1 /�N/$ 

- /�N/$�%4#/'�'�'6� (CPU) #?/�N/$ค/6#� 6
O�� Cache Memory %/#Q�%4�5� (Level) 

N�?$/�5���6�R#N�O1$�/N6 4 MB 

- #?/�N/$ค/6#� 6/'5� (RAM) ��>� DDR4 /%A1�?�/N6 #?��6�R#N�O1$
�/N6 4 GB 
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- #?/�N/$�5�N�O��O1#C' ��>� SATA /%A1�?�/N6 ��6�ค/6#�BR#N�O1$
�/N6 1 TB /%A1 ��>� Solid 

State Drive ��6�ค/6#�BR#N�O1$�/N6 250 GB � 6�/� 1 /�N/$ 

- #?DVD-RW /%A1�?�/N6 � 6�/� 1 /�N/$- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100/1000 Base-T /%A1
�?�/N6 
� 6�/�R#N�O1$�/N6 1 �N1� 
- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 R#N�O1$
�/N6 3 �N1� 
- #?O�O� ># ์O'4N#62์ 
- #?�1O2��"6 ��6�R#N�O1$�/N6 19 �>Q/ � 6�/� 1 /�N/$  

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��O1��5�O'4�%%N�626�6%�"5$ 

       
 

       

    
Nค%AP1� ># ์N'N�1%์/%A1 LED �6/� 6 (18 /�O6/�6�?) � 6�/� 2,600 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1� ># ์N'N�1%์/%A1 LED �6/� 6 (18 /�O6/
�6�?) � 6�/� 1 Nค%AP1�  
คB�'5�1�4 AQ��6� 

- #?ค/6#'4N1?$�Q��6% ># ์R#N�O1$�/N6 600x600 dpi 

- #?ค/6#N%O/Q��6% ># ์2 6/%5��%4�61 A4 R#N�O1$�/N6 18 /�O6�N1
�6�? (ppm) 

- #?/�N/$ค/6#� 6 (Memory) ��6�R#N�O1$�/N6 32 MB 

- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 � 6�/�R#N�O1$
�/N6 1 �N1� - #?�6�Q2N�%4�61R�O%/#�5�R#N�O1$�/N6 150 O�N� 

- 26#6%�Q�OR�O�5� A4, Letter, Legal O'426#6%�� 6/����6��1�
�%4�61N1�R�O �%6��Q�O���6��6%%5�16ค/6#2��"6$Q�   

�6��O1��5�O'4�%%N�626�6%�"5$ 

 

      

   
คN2%?P">'Oล02>P��N121O2� 1// 40,000 (2% 

   
คN6�%5��%B��?P�>�O'42>P��N12%O6�       

    
Pค%��6%�%5��%B�2 6�5��6��O1��5�O'4�%%N�626�6%�"5$ � 6�/� 40,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Pค%��6%�%5��%B�2 6�5��6��O1��5�O'4�%%N�626
�6%�"5$  
-�N1N�>#��5�/O1��O1��5�O'4�%%N�626�6%�"5$ $6/ 14.20 #. 2C� 
2.05 #. �O/$O�N�2#6%์��1%์�  
-�N1#O�#�%4�C/O1��O1��5�O'4�%%N�626�6%�"5$ �/O6� 0.95 #. 2C� 
2.00 #. � 6�/� 2 �6�  
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�6#O��O�'�N�0�6'� 6�'��N$O��?P 1.022/2566  
(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'� ค%5Q��?P 1 
$B��062�%์�6% 5��6�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'4
25�ค# /�O6�?P 51 ' 6�5��?P 4 

�%6��Q�O���6��6%%5�16ค/6#2��"6$Q�  

�6��O1��5�O'4�%%N�626�6%�"5$ 
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O*'�2'�210@�12 

 
�2'(1>/21%1P/R)N�?P0/�1(�210@�12 1// 2,746,800 (2% 

  
�((Bคล2�1 1// 2,325,000 (2% 

   
N�>'N"A1' (+N20)10� 2) 1// 2,325,000 (2% 

   
N�>�N�A1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 1,360,000 �6� 

      

  N AP1�N6$N�O�N�>�N�A1� �5��6�N�0�6'Q�� 6O/�N�  
�CO1 6�/$�6%�1��6%0@�16,/5//�O6�N6$�%>/6%�6%0@�16,�5�/>�6�6%
0@�16� 6�6��6%  

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

   
N�>��%4� 6� 6O/�N� � 6�/� 60,000 �6� 

      

  N AP1�N6$N�O�N�>��%4� 6� 6O/�N��CO1 6�/$�6%�1��6%0@�16 

/5//�O6�N6$�%>/6%�6%0@�16 

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16  

 

      

   
คN6�1�O�� �5��6��O6� � 6�/� 830,000 �6� 

      

  N AP1�N6$N�O�คN6�1�O��Q/OO�N �5��6��O6�  
�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

   
N�>�N >P#�N6� N �1� �5��6��O6� � 6�/� 75,000 �6� 

      

  N AP1�N6$N�O�N�>�N >P#�N6�NQ/OO�N �5��6��O6�  
�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

  
�(" 2N'>'�2' 1// 395,000 (2% 

   
คN2#1(O%' 1// 135,000 (2% 

   
คN6�1�O���6%��>�5�>�6��1�N/'6%6��6% � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�1�O���6%��>�5�>�6��1�N/'6%6��6% Q/OO�N
�O6%6��6% 'C��O6��%4� 6 O'4 �5��6��O6� P�$#?ค 625P�Q/O��>�5�>�6�
�1�N/'6%6��6%�1�N�0�6'� 6�'��N$O� 

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16  

 

      

   
คN6N�N6�O6� � 6�/� 75,000 �6� 

      

  N AP1�N6$N�O�N�>�คN6N�N6�O6��1��O6%6��6%�1�N�0�6'� 6�'��
N$O� �6#%4N�?$��%4�%/�#/6�R�$  

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 
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N�>��N/$N/'A1�6%0@�16�B�%       

    
N�>��N/$N/'A1�6%0@�16�B�%�O6%6��6%/ �5��6�/'C��O6��%4� 6 � 6�/� 50,000 �6� 

      

  N AP1�N6$N�O�N�>��N/$N/'A1�6%0@�16�B�%Q/OO�N �5��6�N�0�6' 

�CO�%>/6%O'4 �5��6��O6��?P#?2>��>N�>�R�O 
�6#%4N�?$��%4�%/�#/6�R�$/N6�O/$N�>�2/52�>�6%N�?P$/�5��6%0@�16
�1��B�% �5��6�2N/��O1��>P�  .0.2541 O'4�?PO�OR�N >P#N�>#�@�  
(��5��?P 3 )  .0. 2549 %/#�5Q�/�5�2A125P��6%�?PN�?P$/�O1� 
�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

   
คN2QชO210 1// 135,000 (2% 

   
%6$�N6$N AP1Q/OR�O#6�@P��%>�6%       

    
คN6�O6�N/#6�%>�6% � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6�O6�N/#6�%>�6%Q/O�CO%5��O6�� 6�6%1$N6�Q�1$N6�/�@P��@P�
#>R�ON�O��6% �%4�1� �5�O�'��N1N�># ค%B"5��์ �?P�>�/%A12>P��N12%O6�
1$N6�Q� O'41$CNQ�ค/6#%5��>��1��1��CO%5��O6� N�N�   

คN6�O6�N/#6�>��5Q�%4��Nค%A1�N6$ค1# >/N�1%์   

คN6�O6�N/#6O%��6� คN6�O6�N/#6�C�2>P���>�C'   

คN6�O6�N/#6�N6$N1�26%N�O6N'N# คN6�O6�N/#61AP� N  

�@P�N�O��%4P$��์�N1�6%�%>/6%�6��1�N�0�6'3'3    

�%6��Q�O���6��6%0@�16 �6��%>/6%�5P/R�N�?P$/�5��6%0@�16   

 

      

    
คN6N�N6�%5 $์2>� � 6�/� 50,000 �6� 

      

  N AP1N�O�คN6N�N6�%5 $์2>��N6� N  

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

   
%6$�N6$N�?P$/�5��6%%5�%1�O'4 >�?�6% � 6�/� 10,000 �6� 

      

  -คN6%5�%1� � 6�/� 5,000 �6� 

N AP1�N6$N�O�คN6%5�%1�Q��6%�O1�%5��Bคค'  

ค�4�Bคค' R�OO�N คN616/6% คN6Nค%AP1��AP# คN6�1��/5� คN6 ># ์
N1�26% คN6�%>�6%O'4คN6Q�O�N6$1AP� N �?PN�?P$/N�AP1�Q��6%%5�%1�  
%/#�@�คN6%5�%1�Q��6%�O1�%5��Bคค' ค�4�Bคค'�?P#6�>N�0�6�  

�%/��6� N$?P$#�#/%A1�50�0@�16�C�6� O'4N�O6/�O6�?P�?PN�?P$/�O1��@P�
%N/#�O1�%5��Bคค' ค�4�Bคค' 

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 
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-คN6Q�O�N6$Q��6%�%4�B#%6��6% � 6�/� 5,000 �6� 

N AP1�N6$N�O�คN6Q�O�N6$Q��6%�%4�B#%6��6%  

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

   

%6$�N6$N�?P$/N�AP1��5��6%��>�5�>%6��6%�?PR#NN�O6'5�1�4%6$�N6$ 

��%6$�N6$1AP� N 
      

    
คN6Q�O�N6$Q��6%N�>��6�R�%6��6% � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q��6%�@�1�%# �%4�B#25##�6 �50�0@�16O'4�C
�6��5Q�Q��%4N�0O'4�N6��%4N�0  

�1��O6%6��6% 'C��O6��%4� 6  �5��6��O6� 
�1�N�0�6'� 6�'��N$O� �Bคค'"6$�1�/%A1�Bคค'1AP��?PN�?P$/�O1�  
�?P�%#2N�N2%>#�6%��ค%1��O1��>P� /%A11�ค์�%/%A12�6�5�1AP�N�O�
�CO� 6N�>��6% /%A1N�0�6'� 6�'��N$O�� 6N�>��6%N1�P�$�N6$N�O�
คN6'��4N�?$� คN6�?P 5� คN6 6/�4 คN6N�?Q$N'?Q$�   
คN616/6% �'1���คN6Q�O�N6$1AP�N �?PN�?P$/�O1��5��6%1�%# 

/%A125##�6   
�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

    
คN6'��4N�?$�Q��6%�@�1�%# � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q��6%'��4N�?$��@�1�%# 

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

  

      

    
Pค%��6%2N�N2%>#�5�14�?/>�N$6/��R�$N AP1/N6�R�'$6N2 �>� � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%Pค%��6%2N�N2%>#�5�14�?/>�N$6/��
R�$N AP1/N6�R�'$6N2 �>� 

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6
�6%0@�16�%4N �?O'4/5���%%# /�O6�?P 94 ' 6�5��?P 3 

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

   
คN6� 6%B�%5�16O'4�N1#O�# � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6� 6%B�%5�16O'4�N1#O�#�%5 $์2>��N6�N  

Q��%�?� 6%B�N2?$/6$ Q�O�6%R#NR�O/%A1Q�O�6%R�OO�NR#N�?N�N6�?Pค/% /%A1�@�
N/'6�O1�N�O6� 6%B�%5�16�6#%4$4N/'6�6%Q�O�6� � 6N�O��O1�� 6�6%
�N1#O�#Q/O1$CNQ�2"6 �?P�?26#6%�Q�O�6�R�O
�6#���> N�N� Nค%AP1��%5�16�60 Nค%AP1� ># ์�?� Nค%AP1�15�2 6N�6 Nค%AP1�
�N6$N1�26% Nค%AP1�ค1# >/N�1%์ P�P4 N�O61?Q   
�'O1��N6$%C� %�$��์ %��5�%$6�$��์ Nค%AP1�2C��Q 6  
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Nค%AP1��ัP�R! N'AP1$$��์3'3 O'4�%>N/�%1�16ค6%2 6�5��6�N�0�6'
� 6�'��N$O� 

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

   
คN2/12"B 1// 125,000 (2% 

   
/52�B2 6�5��6� � 6�/� 40,000 �6� 

      

  N AP1�N6$N�O�คN6/52�B2 6�5��6��1��6%0@�16 คN62>P��1�Nค%AP1�Q�O
�N6�N  N�N� �%4�61 /#@� �>�21 �6��6  
R#O�%%�5� $6�'� ค'>� N�P� N����>�Q2 '/�N$O�
�%4�61 �6/ O!O# 2#B��5��? 2#B��%4/5�>�O6%6��6% O�� ># ์  
�%6$6� �1� ���6�> 2>P� ># ์�?PR�O�6��6%�AQ1/%A1�O6� ># ์  

�Q 6�AP# Nค%AP1�N$O��%4�61 �%4�61R� O�� ># ์ 3'3   

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

   
/52�BR!!O6O'4/>�$B � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�BR!!O6O'4/>�$B N�N� !>/2 ์ 

N�O#�5�%5�26$R!!O6 N�� 5�26$R!!O6 26$R!!O6 �'5R�R!!O6  
2/>��์R!!O6 ค1�N��N�1%์ N�%�N�1%์ 26$16�60  

Pค#R!!O6 ' 6P � R#Pค%P!� �5�O2��/��%�N6�N  

Nค%AP1�/5�ค/6#�O6��6�R!!O6 Nค%AP1�/5�O%��5�R!!O63'3  

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

   
/52�B�6��O6��6�ค%5/ � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�B�6��O6��6�ค%5/ N AP1Q�OQ��1�
�6%0@�16 N�N� O�%� R#O�/6� N�N� �O/$�6# �O1�2O1# O�O/�Q 6  
�6�%1� #?� $6�N6O#'� ���5�!1�  

�Q 6$6�6ค/6#2416� �4�%O6 �B� '62�>�  

�?P�1� /#1� #BO� �'1�/#1� �O6�C�?P�1� 3'3  

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

   
/52�B$6� 6/�4O'4��2N� � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6/52�B$6� 6/�4O'4��2N��N6�N N�N� O��N�1%?P  
$6��1� $6�Q� 26$R#'์ �Q 6#5�N�%ค /5/N�?$� O#NO%�  
R�ค/� �%4��#1��O6�%�$��์  
/#O1�Q 6%�$��์ %��5�%$6�$�� ์O'4Nค%AP1�$��์1AP� N  

�?PN�?P$/�O1�3'3  

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

      



64 

 

   
/52�BN�AQ1N '>�O'4/'N1'AP� � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6/52�BN�AQ1N '>�O'4/'N1'AP� N�N� �Q 6#5��?N�'  

�Q 6#5�N���>� �Q 6#5��6%4�? �Q 6#5�Nค%AP1� �Q 6#5�N�%ค �Q 6�'5P�  

�Q 6#5�2B��6�60  

�Q 6#5�R2P�%'>ค 2 6/%5� %�$�� ์%��5�%$6�$��์  3'3   

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

  

      

   
/52�BP�1�6O'4N�$O %N � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�B1B��%�์Q��6%P�1�6O'4
N�$O %N N�N� �%4�61N�?$�P�2N�1%์  CN�5� 2?  !>'์#2R'�์ 3'3  

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

   
/52�B�?06 � 6�/� 5,000 �6� 

      

  N AP1N�O�คN6�5��AQ1/52�B�?06 N�N� /N/�$6� 'C�!B��1' 'C��>��1�  
R#O�?�>��1� 'C�O�%์�1' R#OO��#>��5� 'C�O��#>��5�  

R#ON���>2 'C�N���>2 N�A1��%4P�� �6�21�#A1 �4�%O1  

�4�%O6//6$O�%์�1' �6�N6$�?06 ��//?�  

�60>�6�5�N/'6 �/# 'C��BN#�Q 6/�5� N26�6�N6$�?06  
/N/��62N�O��1'N/'O� 3'3 

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

   
/52�Bค1# >/N�1%์ � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�Bค1# >/N�1%์ N�N� O�N�/%A1�6��5��@�
�O1#C' N���5��@��O1#C' /5/ ># ์/%A1O�� ># ์2 6/%5�Nค%AP1�
ค1# >/N�1%์ �'5���/#@�2 6/%5�Nค%AP1� ># ์O��N'N�1%์  

O�N��%1�O2� �%4�61�N1N�AP1�  
26$NคN�>' O�O� ># ์ N#��1%์� N#62์ O�N�/��%1>N'O��%1�>�2์  
O�N��>2N��� ์3'3  

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

  
�(ล�%B' 1// 26,800 (2% 

   
คN2ค1B.1!�์ 1// 26,800 (2% 

   
ค%B"5��์2 6�5��6�       

    
N�O61?Q� 6�6� � 6�/� 3,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1N�O61?Q� 6�6� � 6�/� 1 �5/ 

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 
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ค%B"5��์�6��O6��6�ค%5/       

    
Nค%AP1��5�/�O6O��N�O� � 6�/� 13,800 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1 Nค%AP1��5�/�O6O��N�O� � 6�/� 1 Nค%AP1� 
คB�'5�1�4 AQ��6�  

 1) N�O�Nค%AP1��5�/�O6O��N�O���>�2C��1� 

 2) Nค%AP1�$��์��6�R#N�O1$�/N6 3.5 O%�#O6 

 3) %50#?�5�/�O6�/O6�R#N�O1$�/N6 18 �>Q/ 

�%6��Q�O���6��6%0@�16  �6��%>/6%�5P/R�N�?P$/�5��6%0@�16 

 

      

   
ค%B"5��์ค1# >/N�1%์/%A11>N'O��%1�>�2์       

    
Nค%AP1� ># ์N'N�1%์/%A1 LED 2?��>� Network O���?P 1 (20 /�O6/�6�?) � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1 Nค%AP1� ># ์N'N�1%์/%A1 LED 2?
��>� Network O���?P 1 (20 /�O6/�6�?) � 6�/� 1 Nค%AP1� 
คB�'5�1�4 AQ��6�  

- #?ค/6#'4N1?$�Q��6% ># ์R#N�O1$�/N6 600x600 dpi 

- #?ค/6#N%O/Q��6% ># ์�6/� 62 6/%5��%4�61 A4 R#N�O1$�/N6 20 /�O6
�N1�6�? (ppm) 

- #?ค/6#N%O/Q��6% ># ์2?2 6/%5��%4�61 A4 R#N�O1$�/N6 20 /�O6�N1
�6�? (ppm) 

- 26#6%� ># ์N1�26%�'5�/�O615�P�#5�>R�O 
- #?/�N/$ค/6#� 6 (Memory) ��6�R#N�O1$�/N6 256 MB 

- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 � 6�/�R#N�O1$
�/N6 1 �N1� 
- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100 Base-T /%A1
�?�/N6 � 6�/�R#N�O1$�/N6 1 �N1� O'426#6%�Q�O�6��N6�Nค%A1�N6$R%O
26$ Wi-Fi (IEEE 802.11b, g, n) R�O- #?�6�Q2N�%4�61R�O%/#�5�R#N
�O1$�/N6 250 O�N� - 26#6%�Q�OR�O�5� A4, Letter, Legal O'426#6%�
� 6/����6��1��%4�61N1�R�O�%6��Q�O���6��6%0@�16  �6�
�%>/6%�5P/R�N�?P$/�5��6%0@�16 
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�2'10"1(�N1'/10N1?0'Oล0)10$/0@�12 1// 25,490,470 (2% 

  
�((Bคล2�1 1// 12,800,000 (2% 

   
N�>'N"A1' (+N20)10� 2) 1// 12,800,000 (2% 

   
N�>�N�A1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 7,500,000 �6� 

      

  N AP1�N6$N�O�N�>�N�A1� �5��6�ค%CN�0�6' N�>�N�A1�ค%C�CO�CO'N�O� 

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

   
N�>�N >P#�N6� N �1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 350,000 �6� 

      

  N AP1�N6$N�O�คN6�1�O��%6$N�A1��1��CO1 6�/$�6%P%�N%?$�1�B�6'
N�0�6'� 6�'��N$O� O'4 �5��6�ค%CQ�25��5�N�0�6'� 6�'��N$O� 

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

   
N�>�/>�$�6�4 � 6�/� 800,000 �6� 

      

  N AP1�N6$N�O�N�>�คN6/>�$�6�4 �5��6�ค%CN�0�6'  

ค%C�CO�CO'N�O� 

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

   
คN6�1�O�� �5��6��O6� � 6�/� 4,000,000 �6� 

      

  N AP1�N6$N�O�N�>�คN6�1�O�� �5��6��O6� (�CO�N/$ค%C)  
N�>�คN6�1�O�� �5��6��O6� (�Bค'6�%2�5�2�B��6%21�)  
N�>�คN6�1�O�� �5��6��O6��5P/R� ("6%P%�) 
�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

   
N�>�N >P#�N6� N �1� �5��6��O6� � 6�/� 150,000 �6� 

      

  N AP1�N6$N�O�N�>�N >P#�N6�N Q/OO�N  
 �5��6��O6� (�CO�N/$ค%C)  
N�>�N >P#�N6�N �5��6��O6� (�Bค'6�%2�5�2�B��6%21�) 
N�>�N >P#�N6�N  �5��6��O6��5P/R� ("6%P%�) 
�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

  
�(" 2N'>'�2' 1// 8,494,270 (2% 

   
คN2#1(O%' 1// 47,800 (2% 

   
คN6�1�O���CO��>�5�>%6��6%15�N�O��%4P$��์O�N1�ค์�%��ค%1�2N/��O1��>P� � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6�1�O���CO��>�5�>%6��6%15�N�O��%4P$��์ 
O�N1�ค์�%��ค%1�2N/��O1��>P� 

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 
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N�>��N/$N/'A1�6%0@�16�B�%       

    
N�>��N/$N/'A1�6%0@�16�B�%�O6%6��6%/ �5��6�/'C��O6��%4� 6 � 6�/� 42,800 �6� 

      

  N AP1�N6$N�O�N�>��N/$N/'A1�6%0@�16�B�%Q/OO�N �5��6�
N�0�6' �CO�%>/6%O'4 �5��6��O6� �?P#?2>��>N�>�R�O�6#%4N�?$�
�%4�%/�#/6�R�$/N6�O/$N�>�2/52�>�6%N�?P$/�5��6%0@�16�1��B�%
 �5��6�2N/��O1��>P�  .0.2541 O'4�?PO�OR�N >P#N�>#�@�  
(��5��?P 3 )  .0. 2549 %/#�5Q�/�5�2A125P��6%�?PN�?P$/�O1� 
�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

   
คN2QชO210 1// 4,947,970 (2% 

   
%6$�N6$N AP1Q/OR�O#6�@P��%>�6%       

    
คN6�O6�N/#6�%>�6% � 6�/� 550,000 �6� 

      

  N AP1�N6$N�O�คN6�O6�N/#6�%>�6%Q/O�CO%5��O6�� 6�6%1$N6�Q�1$N6�/�@P��@P�
#>R�ON�O��6% �%4�1� �5�O�'��N1N�>#ค%B"5��์ �?P�>�/%A12>P��N12%O6�
1$N6�Q� O'41$CNQ�ค/6#%5��>��1��1��CO%5��O6� N�N� คN6�O6�N/#6�>��5Q�
%4��Nค%A1�N6$ค1# >/N�1%์   

คN6�O6�N/#6O%��6� คN6�O6�N/#6�C�2>P���>�C' คN6�O6�N/#6�N6$N1�26%
N�O6N'N# คN6�O6�N/#61AP�N �@P�N�O��%4P$��์�N1�6%�%>/6%�6��1�
N�0�6' 3'3    

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

    
คN6 6/�4� 62N�N�O��5�N%?$��1�P%�N%?$�1�B�6'N�0�6'� 6�'��N$O� � 6�/� 500,000 �6� 

      

  N AP1�N6$N�O�คN6 6/�4� 62N�N�O��5�N%?$��1�P%�N%?$�1�B�6'N�0�6'
� 6�'��N$O� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 95 ' 6�5��?P 5 

�%6��Q�NN���6��6%0@�16 �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

   

%6$�N6$N�?P$/N�AP1��5��6%��>�5�>%6��6%�?PR#NN�O6'5�1�4%6$�N6$��%6$�N6$
1AP� N 

      

    
คN6�>��%%# 5��6คB�"6 �CON%?$�P%�N%?$�1�B�6'N�0�6'� 6�'��N$O� � 6�/� 110,000 �6� 

      

  N AP1�N6$N�O�คN6�>��%%# 5��6คB�"6 �CON%?$� 

P%�N%?$�1�B�6'N�0�6'� 6�'��N$O� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 106 ' 6�5��?P 35 

�%6��Q�NN���6��6%0@�16 �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 
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คN6�>��%%# 5��6�CON%?$�0C�$์ 5��6N�O�N'O� � 6�/� 89,870 �6� 

      

  N AP1�N6$N�O�คN6�>��%%# 5��6�CON%?$�0C�$์ 5��6N�O�N'O� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 102 ' 6�5��?P 24 

�%6��Q�NN���6��6%0@�16 �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
คN6Nค%AP1�O���5�N%?$�P%�N%?$�1�B�6'N�0�6'� 6�'��N$O� � 6�/� 80,000 �6� 

      

  N AP1�N6$N�O�คN6Nค%AP1�O���5�N%?$�P%�N%?$�1�B�6'N�0�6'� 6�'��N$O� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 106 ' 6�5��?P 35 

�%6��Q�NN���6��6%0@�16 �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
คN6Nค%AP1�O���5�N%?$�0C�$์ 5��6N�O�N'O� � 6�/� 62,700 �6� 

      

  N AP1�N6$N�O�คN6Nค%AP1�O���5�N%?$�0C�$์ 5��6N�O�N'O� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 102 ' 6�5��?P 24 

�%6��Q�NN���6��6%0@�16 �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
คN6Nค%AP1�1B��%�์�6%N%?$�P%�N%?$�1�B�6'N�0�6'� 6�'��N$O� � 6�/� 80,000 �6� 

      

  N AP1�N6$N�O�คN6Nค%AP1�1B��%�์�6%N%?$�P%�N%?$�1�B�6'N�0�6'� 6�'
��N$O� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 106 ' 6�5��?P 35 

�%6��Q�NN���6��6%0@�16 �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
คN6Nค%AP1�1B��%�์�6%N%?$�0C�$์ 5��6N�O�N'O� � 6�/� 41,800 �6� 

      

  N AP1�N6$N�O�คN6Nค%AP1�1B��%�์�6%N%?$�0C�$์ 5��6N�O�N'O� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 102 ' 6�5��?P 24 

�%6��Q�NN���6��6%0@�16 �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
คN6�5��6%N%?$��6%21� (%6$/5/) %4�5�0C�$์ 5��6N�O�N'O� � 6�/� 365,000 �6� 

      

  N AP1�N6$N�O�คN6�5��6%N%?$��6%21�(%6$/5/) %4�5� 

0C�$์ 5��6N�O�N'O� (O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์
�6% 5��6�6%0@�16�%4N �?O'4/5���%%# /�O6�?P 102 ' 6�5��?P 24 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 
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คN6�5��6%N%?$��6%21� (%6$/5/) P%�N%?$�1�B�6'N�0�6' 

� 6�'��N$O� 

� 6�/� 420,000 �6� 

      

  N AP1�N6$N�O�คN6�5��6%N%?$��6%21� (%6$/5/) P%�N%?$�1�B�6'N�0�6'
� 6�'��N$O� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 106 ' 6�5��?P 35 

�%6��Q�NN���6��6%0@�16 �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    

คN6Q�O�N6$Pค%��6%1�%#N�>���>�5�>�6%#6�%�6%�O6�ค/6#�'1�"5$Q�
2�6�0@�1625��5�N�0�6'� 6�'��N$O� 

� 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%1�%#N�>���>�5�>�6%#6�%�6%�O6�ค/6#
�'1�"5$Q�2�6�0@�1625��5�N�0�6'� 6�'��N$O� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 98 ' 6�5��?P 14 

�%6��Q�NN���6��6%0@�16 �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 
 

      

    
คN6Q�O�N6$Pค%��6%16/6%�'6�/5� %.%. 1�B�6'N�0�6'� 6�'��N$O� � 6�/� 950,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%16/6%�'6�/5� %.%. 1�B�6'N�0�6'
� 6�'��N$O� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 98 ' 6�5��?P 15 

�%6��Q�NN���6��6%0@�16 �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    

คN6Q�O�N6$Pค%��6%16/6%�'6�/5�0C�$์ 5��6N�O�N'O�25��5�N�0�6'� 6�'
��N$O� � 6�/� 8 O/N� 

� 6�/� 1,100,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%16/6%�'6�/5�0C�$์ 5��6N�O�N'O�25��5�
N�0�6'� 6�'��N$O� � 6�/� 8 O/N� 
(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 102 ' 6�5��?P 25 

�%6��Q�NN���6��6%0@�16 �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
คN6Q�O�N6$Q��6%�5��6�/5�N�O�NN/N��6�> �%4� 6�? 2566 � 6�/� 100,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Q��6%�5��6�/5�N�O�NN/N��6�> �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 100 ' 6�5��?P 21 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 
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คN6Q�O�N6$Q��6%N�>��6�R�%6��6% � 6�/� 40,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q��6%�@�1�%# �%4�B#25##�6  
�50�0@�16O'4�C�6��5Q�Q��%4N�0O'4�N6��%4N�0  

�1��O6%6��6% 'C��O6��%4� 6  �5��6��O6��1�N�0�6' 

� 6�'��N$O� �Bคค'"6$�1�/%A1�Bคค'1AP��?PN�?P$/�O1��?P�%#2N�N2%>#�6%
��ค%1��O1��>P�/%A11�ค์�%/%A12�6�5�1AP�N�O��CO� 6N�>��6% /%A1
N�0�6'� 6�'��N$O�� 6N�>��6%N1� P�$�N6$N�O�คN6'��4N�?$� คN6�?P
 5� คN6 6/�4  

คN6N�?Q$N'?Q$� คN616/6% �'1���คN6Q�O�N6$1AP� N  

�?PN�?P$/�O1��5��6%1�%#/%A125##�6   
�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    

คN6Q�O�N6$1>�N�1%์N�O�P%�N%?$�%4�� Asymmetric Digital Subscriber 

Line : ADSL 

� 6�/� 9,600 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$1>�N�1%์N�O�P%�N%?$�
%4�� Asymmetric Digital Subscriber Line : ADSL 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 96 ' 6�5��?P 8 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
คN6Q�O�N6$1>�N�1%์N�O�P%�N%?$�%4�� Wireless Fidelity:WiFI � 6�/� 7,200 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$1>�N�1%์N�O�P%�N%?$�
%4�� Wireless Fidelity:WiFI) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'� ค%5Q��?P 1
$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6�?P 49 ' 6�5��?P 2 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
คN6�ั��5$ AQ��6�2 6/%5��5�N%?$�$6��� � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6�ั��5$ AQ��6�2 6/%5��5�N%?$�$6��� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 103 ' 6�5��?P 27 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
คN6'��4N�?$�Q��6%�@�1�%# � 6�/� 40,000 �6� 

      
  N AP1�N6$N�O�คN6Q�O�N6$คN6'��4N�?$��@�1�%# 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 
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คN6/�5�2A1N%?$�P%�N%?$�1�B�6'N�0�6'� 6�'��N$O� � 6�/� 140,000 �6� 

      

  N AP1�N6$N�O�คN6/�5�2A1N%?$�P%�N%?$�1�B�6'N�0�6'� 6�'��N$O� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 106 ' 6�5��?P 35 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
คN6/�5�2A1N%?$�0C�$์ 5��6N�O�N'O� � 6�/� 41,800 �6� 

      

  N AP1�N6$N�O�คN6/�5�2A1N%?$�0C�$์ 5��6N�O�N'O� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 102 ' 6�5��?P 24 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
Pค%��6%�%4�B#�CO��ค%1�0C�$์ 5��6N�O�N'O� � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%�%4�B#�CO��ค%1�0C�$์ 5��6N�O�N'O� 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 95 ' 6�5��?P 4 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
Pค%��6%1�%# 5��605�$"6 ค%CO'4�Bค'6�%�6��6%0@�16 � 6�/� 50,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%1�%# 5��605�$"6 ค%CO'4�Bค'6�%
�6��6%0@�16 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�6%0@�16
�%4N �?O'4/5���%%# /�O6�?P 94 ' 6�5��?P 1 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    

Pค%��6%1�%#Q/Oค/6#%CON%AP1�N 0/>�?0@�16 O'4�5�14�?/>�Q��6%�O1��5�
O'4O�OR��ั�/6�6%�5Q�ค%%"์Q�/5$%BN� 

� 6�/� 50,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%1�%#Q/Oค/6#%CON%AP1�N 0/>�?0@�16 O'4
�5�14�?/>�Q��6%�O1��5�O'4O�OR��ั�/6�6%�5Q�ค%%"์Q�/5$%BN� 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'� ค%5Q��?P 1
$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6�?P 49 ' 6�5��?P 1 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 
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คN6� 6%B�%5�16O'4�N1#O�# � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6�N1#NN�#ค%B"5��์P%�N%?$�1�B�6'3  

NN'40C�$์ 5��6N�O�N'O�  

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 
 

      

   
คN2/12"B 1// 3,076,500 (2% 

   
/52�B2 6�5��6� � 6�/� 80,000 �6� 

      

  N AP1�N6$N�O�คN6�AQ1/52�B2 6�5��6��1�0C�$์ 5��6N�O�N'O� 2>P��1�
Nค%AP1�Q�O�N6�N  N�N� �%4�61 /#@� �>�21 �6��6 R#O
�%%�5� $6�'� ค'>� N�P� N����>�Q2 '/�N$O��%4�61 �6/ O!O# 2#B�
�5��? 2#B��%4/5�>�O6%6��6% O�� ># ์ �%6$6� �1� ���6�> 2>P� ># ์�?P
R�O�6��6%�AQ1/%A1�O6� ># ์ �Q 6�AP# Nค%AP1�N$O��%4�61 �%4�61R� O��
 ># ์ 3'3   

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

   
/52�BR!!O6O'4/>�$B � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�BR!!O6O'4/>�$B N�N� !>/2 ์N�O#�5�%5�
26$R!!O6 N�� 5�26$R!!O6 26$R!!O6 �'5R�R!!O6 2/>��์
R!!O6 ค1�N��N�1%์ N�%�N�1%์ 26$16�60 Pค#R!!O6 ' 6P �  
R#Pค%P!� �5�O2��/��%�N6�N Nค%AP1�/5�ค/6#�O6��6�R!!O6 Nค%AP1�/5�
O%��5�R!!O6 3'3  

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 
 

      

   
/52�B�6��O6��6�ค%5/ � 6�/� 2,750,000 �6� 

      

  - คN6/52�B�6��O6��6�ค%5/0C�$์ 5��6N�O�N'O�  

� 6�/� 80,000 �6� 

N AP1�N6$N�O�คN6/52�B�6��O6��6�ค%5/�N6�N N�N� O�%�  
R#O�/6� N�N� �O/$�6# �O1�2O1# O�O/�Q 6 �6�%1� #?� $6�N6
O#'� ���5�!1� �Q 6$6� 6ค/6#2416� �4�%O6 �B� '62�>� �?P
�1� /#1� #BO� �'1�/#1� �O6�C�?P�1� 3'3  

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 
 

- คN6/52�B�6��O6��6�ค%5/P%�N%?$�1�B�6'N�0�6'� 6�'��N$O� 

� 6�/� 20,000 �6� 

N AP1�N6$N�O�คN6/52�B�6��O6��6�ค%5/�N6�N N�N� O�%�  
R#O�/6� N�N� �O/$�6# �O1�2O1# O�O/�Q 6 �6�%1� #?� $6�N6
O#'� ���5�!1� �Q 6$6� 6ค/6#2416� �4�%O6 �B� '62�>� �?P
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�1� /#1� #BO� �'1�/#1� �O6�C�?P�1� 3'3  

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 
 

-คN616/6%N2%>#�#P%�N%?$�1�B�6'N�0�6'� 6�'��N$O�O'4P%�N%?$�
�%4�#0@�16 16/6%N2%>#�1�0C�$์ 5��6N�O�N'O�Q�N��N�0�6'� 6�'
��N$O� � 6�/� 2,650,000 �6�  

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

   
/52�B�N12%O6� � 6�/� 76,500 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�B�N12%O6� N�N� N/'O���>��N6� N R#O��>�
�N6�N �>�N�1%์ O�%��62? �C��?N#�� ์�C�
�6/ �%6$ 1>�  �%4N�AQ1� 25��42? �4�C คO1� ค?# �1� N2?$# �/6�
2/N6� N'AP1$  �N1�Q 6O'41B��%�์�%4�6 3'3   

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

   
/52�B/>�$6062�%์/%A1�6%O �$์ � 6�/� 10,000 �6� 

      

  N AP1N�O�คN6�5��AQ1/52�B/>�$6062�%์/%A1
�6%O �$์ N�N� O1'�121'์ 11��>N�� �Q 6$6�N6�N N'A1� 26$$6� 'C�
$6�  /'1�O�O/ N/�"5��์ !>'์#N1��N%$์ Nค#?"5��์  

( %/#� 6#4�5� �%� �N6� ) '/�N�AP1#N�>� �B�#A1 �%4�61�%1�  
�B��N6�N 25�/์N'?Q$�N AP1�6%��'1� />�$6062�%์/%A1�6%O �$์  

2 6'?O'4�O6 5�O�'  /'1�N1��N%$์ �B�Nค%AP1�#A1�N6�5� �?P/6��%/$ 

O�O/  �%4�1��/� N�O6/'1# /C!ั� (Stethoscope) N�'/6#ค�R�O ค?#
�1�!ั� Nค%AP1�/5��Q 6�� �5�N�O�N�AQ1N '>�  
Nค%AP1��@P� Nค%AP1�#A1/>�$6062�%์ 3'3 

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

   
/52�B�6%N�1�% � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�B�6%N�1�% N�N� 26%Nค#?�O1��5�NN'4� 6�5�
05�%C A�NN'425�/์ 16/6%25�/์  5��B์ A� �BQ$  5��B์25�/์�?�NN'425�/์
�Q 6 �Q 6N�AQ1 5��B์25�/์ /52�BN 64� 6 1B��%�์Q��6%�$6$ 5��B์
 A� N�N� Q�#?� N�A1� N�O��O� �O6Q�/%A1�O6 '62�>�  

/�O6�6��O1��5�NN�P2 >1 2�%>�N�'1%์ �1�/#B� �6� %/� �6�R�
�%4�4 Nค%AP1�/$1�/%A1//N6�N#'O� 5��B์  Nค%AP1�� 6ค/6#2416�N#'O�
 5��B์ ค%6��?P %/��>�%4//N6�NN�/  Nค%AP1��5�NN#'�
1/� (2 6N%O�%C�)  �%4�5�  3'3   

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 
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/52�BP�1�6O'4N�$O %N � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�BP�1�6O'4
N�$O %N  �N6� N N�N�  �%4�61  2?   CN�5�  R#O15�  3'3 �%6��Q�
O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

   
/52�B�?06 � 6�/� 10,000 �6� 

      

  N AP1N�O�คN6�5��AQ1/52�B�?06 N�N� /N/�$6� 'C�!B��1' 'C��>��1�  
R#O�?�>��1� 'C�O�%์�1' R#OO��#>��5� 'C�O��#>��5� R#ON���>2 'C�
N���>2 N�A1��%4P�� �6�21�#A1 �4�%O1  

�4�%O6//6$O�%์�1' �6�N6$�?06 ��//?� �60>�6�5�N/'6  
�/#'C��BN#�Q 6/�5� N26�6�N6$�?06 /N/��62N�O��1'N/'O� 3'3 

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

   
/52�Bค1# >/N�1%์ � 6�/� 40,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�Bค1# >/N�1%์ N�N� O�N�/%A1�6��5��@�
�O1#C' N���5��@��O1#C' /5/ ># ์/%A1O�� ># ์2 6/%5�Nค%AP1�
ค1# >/N�1%์ �'5���/#@�2 6/%5�Nค%AP1� ># ์O��N'N�1%์  

O�N��%1�O2� �%4�61�N1N�AP1�  
26$NคN�>' O�O� ># ์ N#��1%์� N#62์ O�N�/��%1>N'O��%1�>�2์  
O�N��>2N��� ์3'3  

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

   
/52�B�6%0@�16 � 6�/� 80,000 �6� 

      

  N AP1N�O�คN6�5��AQ1/52�B�6%0@�16�1� 
0C�$์ 5��6N�O�N'O� N�N� /BN� O��� 6'1�"C#>�%4N�0  

2AP1�6%N%?$��6%21�� 6�O/$ '62�>� N�64$A�/$BN�  

N�64#/$�'Q 6 N�64$CP� 3'3 

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 

 

      

   
/52�BNค%AP1��5�N '>� � 6�/� 10,000 �6� 

      

  N AP1N�O�คN6/52�BNค%AP1��5�N '>� N�N� /6'์/�Q 6�5�N '>�(N�AP1#�5�
%��5�N '>�) �N126$2N��Q 6 26$�5�N '>� �5��5�N '>� 'C��1'
�5�N '>� 1B��%�์�5�R!�N6(N�N� 26$�?� �5� R#O��R!) 3'3 

�%6��Q�O���6��6%0@�16 �6�%4�5��N1�/5$N%?$�O'4�%4�#0@�16 
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คN222&21!C)P.ค 1// 422,000 (2% 

   
คN6R!!O6 � 6�/� 350,000 �6� 

      

  N AP1�N6$N�O�คN6R!!O6 �1�0C�$์ 5��6N�O�N'O� 

คN6R!!O6�1�P%�N%?$�1�B�6'N�0�6'� 6�'��N$O�  

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

   
คN6�Q 6�%4�6 คN6�Q 6�6�6' � 6�/� 2,000 �6� 

      

  N AP1�N6$N�O�คN6�Q 6�%4�6�1�0C�$์ 5��6N�O�N'O�   

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

   
คN6�%>�6%P�%05 �์ � 6�/� 70,000 �6� 

      

  คN6P�%05 �์P%�N%?$�1�B�6'N�0�6'� 6�' 

คN6P�%05 �์0C�$์ 5��6N�O�N'O� 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

  

      

  
�(ล�%B' 1// 546,200 (2% 

   
คN2ค1B.1!�์ 1// 546,200 (2% 

   
ค%B"5��์2 6�5��6�       

    
�5Q�/6�1N���%42�ค์ 9 �N1� � 6�/� 12,500 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1�5Q�/6�1N���%42�ค์ 9 �N1� � 6�/� 5 /'5�  
Q/O0C�$์ 5��6N�O�N'O��O6���N$O� � 6�/� 3 /'5� 
0C�$์ 5��6N�O�N'O��O6�/�1�Oค� � 6�/� 2 /'5� 
�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
P�P4� 6�6� %O1#N�O61?Q'O1N'AP1� � 6�/� 28,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1P�P4� 6�6� %O1#N�O61?Q'O1N'AP1� � 6�/� 4 �B� �B�
'4 7,000 �6� Q/OP%�N%?$�1�B�6'N�0�6'� 6�'��N$O� 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 
      

    
P�P4 %O1#N�O61?Q�5�N%?$� R#O$6� 6%6�6N/'O� � 6�/� 75,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1P�P4 %O1#N�O61?Q�5�N%?$� R#O$6� 6%6�6
N/'O� %4�5��%4�#0@�16 � 6�/� 50 �B� �B�'4 1,500 �6� Q/O
P%�N%?$�1�B�6'N�0�6'� 6�'��N$O�  

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 
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P�P4 5�N1���%42�ค์P!N#�O6 ��6� 75x180 �#. � 6�/� 6,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1P�P4 5�N1���%42�ค์P!
N#�O6 ��6� 75x180 �#. � 6�/� 4 �5/ �5/'4 1,500 �6� Q/O0C�$์
 5��6N�O�N'O��O6���N$O�  

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
 5�'#Pค�% �>���5� ��6� 18 �>Q/ � 6�/� 4,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1 5�'#Pค�% �>�
��5� ��6� 18 �>Q/ � 6�/� 1 Nค%AP1� Q/O 
0C�$์ 5��6N�O�N'O��O6��N�P � 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
 5�'#Pค�% �>�N �6� ��6� 18 �>Q/ � 6�/� 14,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1 5�'#Pค�% �>�
N �6� ��6� 18 �>Q/ � 6�/� 7 Nค%AP1� Nค%AP1�'4 2,000 �6� Q/O 
0C�$์ 5��6N�O�N'O��O6�Pค��4O�� � 6�/� 3 Nค%AP1� 
0C�$์ 5��6N�O�N'O��O6�Pค��6#N'?$� � 6�/� 4 Nค%AP1� 
�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
 5�'#�5Q� AQ�O��2R'�์ ��6� 16 �>Q/ � 6�/� 4,800 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1 5�'#�5Q� AQ�O��
2R'�์ ��6� 16 �>Q/ � 6�/� 3 Nค%AP1� Nค%AP1�'4 1,600 �6� Q/O0C�$์
 5��6N�O�N'O��O6���N$O�  

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
 5�'#N �6�O�� 3 Q� 5� � 6�/� 8,400 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1 5�'#N �6�
O�� 3 Q� 5� � 6�/� 7 Nค%AP1� Nค%AP1�'4 1,200 �6� Q/O0C�$์ 5��6
N�O�N'O��O6�P �2/6� 
�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
 5�'#R1N$O� ��6� 42 '>�% � 6�/� 14,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1 5�'#R1N$O�
��6� 42 '>�% � 6�/� 2 Nค%AP1� Nค%AP1�'4 7,000 �6�Q/O0C�$์ 5��6
N�O�N'O��O6�26#�5/-�1�2/%%ค์ � 6�/� 1 Nค%AP1� 0C�$์ 5��6N�O�N'O�
�O6�Pค��6#N'?$� � 6�/� 1 Nค%AP1� 
�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 
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ค%B"5��์�6��O6��6�ค%5/       

    
Nค%AP1��5��O6O���%%#�6 ��6� 15 �>P'�%5# � 6�/� 18,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1��5��O6O��
�%%#�6 ��6� 15 �>P'�%5# � 6�/� 1 Nค%AP1� Q/OP%�N%?$�1�B�6'
N�0�6'� 6�'��N$O� 

คB�'5�1�4 AQ��6� 

1) N�O���6��?P26#6%��5��O6O/O�R�Oค%5Q�'4R#N�O1$�/N6�?P� 6/��  

2) N�O�Nค%AP1�O���5�N�?P$/ N�>��6��  

3) #?%4���ัP�O/O�/%A1/#6� 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

      

    
�CO� 6�Q 6N$O� � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1�CO� 6�Q 6N$O� � 6�/� 1 Nค%AP1� Q/O0C�$์ 5��6N�O�
N'O��O6�26#�5/-�1�2/%%ค์ 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

   
ค%B"5��์ค1# >/N�1%์/%A11>N'O��%1�>�2์       

    
Nค%AP1�ค1# >/N�1%์ All In One 2 6/%5��6��%4#/'�' � 6�/� 23,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1�ค1# >/N�1%์ All In One 2 6/%5��6�
�%4#/'�' Nค%AP1�'4 23,000 �6� Q/O0C�$์ 5��6N�O�N'O��O6��6�6� 

คB�'5�1�4 AQ��6�  

- #?/�N/$�%4#/'�'�'6� (CPU) R#N�O1$�/N6 6 O��
/'5� (6 core) O'4 12 O��N2#A1� (12 Thread) O'4#?N�คP�P'$?N >P#
25��6��60>�6R�OQ��%�?�?P�O1�Q�Oค/6#26#6%�Q��6%�%4#/'�'
2C� (Turbo Boost /%A1 Max Boost) P�$#?ค/6#N%O/25��6��60>�6
2C�2B� R#N�O1$�/N6 3.6 GHz � 6�/� 1 /�N/$  

- /�N/$�%4#/'�'�'6� (CPU) #?/�N/$ค/6#� 6
O�� Cache Memory %/#Q�%4�5� (Level) N�?$/�5� ��6�R#N�O1$
�/N6 8 MB  

- #?/�N/$�%4#/'�'N AP1O2��"6  P�$#?คB�'5�1�41$N6�Q�1$N6�
/�@P� /%A1�?�/N6 �5��?Q 1) #?/�N/$�%4#/'�'N AP1O2��"6 �>��5Q�1$CN��
O��/��%/'5��?P#?ค/6#26#6%�Q��6%Q�O /�N/$ค/6#� 6O$��6�
/�N/$ค/6#� 6/'5���6�R#N�O1$�/N6 2 GB 2) #?/�N/$�%4#/'�'N AP1
O2��"6 �?P#?ค/6#26#6%�Q��6%Q�O/�N/$ค/6#� 6/'5�Q��6%
O2�� "6 ��6�R#N�O1$�/N6 2 GB  

- #?/�N/$ค/6#� 6/'5� (RAM) ��>� DDR4 /%A1�?�/N6 #?��6�R#N�O1$
�/N6 8 GB  
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- #?/�N/$�5�N�O��O1#C' ��>� SATA /%A1�?�/N6 ��6�ค/6#�BR#N�O1$
�/N6 1 TB /%A1 ��>� Solid State Drive ��6�ค/6#�BR#N�O1$
�/N6 250 GB � 6�/� 1 /�N/$  

- #? DVD-RW /%A1�?�/N6 O���>��5Q�"6$Q� (Internal) /%A1
"6$�1� (External) � 6�/� 1 /�N/$  

- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100/1000 Base-T /%A1
�?�/N6 � 6�/� R#N�O1$�/N6 1 �N1�  
- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 R#N�O1$
�/N6 3 �N1�  
- #?O�O� ># ์O'4N#62์  
- #?�1O2��"6 Q��5/ O'4#?��6�R#N�O1$�/N6 21 �>Q/ ค/6#'4N1?$�
O�� FHD (1920x1080) - 26#6%�Q�O�6�R�OR#N�O1$�/N6 Wi-

Fi (IEEE 802.11 ac) O'4 Bluetooth 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

    
Nค%AP1�ค1# >/N�1%์P�O��BP� 2 6/%5��6��%4#/'�' � 6�/� 88,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1�ค1# >/N�1%์P�O��BP� 2 6/%5��6�
�%4#/'�' � 6�/� 4 Nค%AP1� Nค%AP1�'4 22,000 �6� Q/O 
0C�$์ 5��6N�O�N'O��O6���N$O� � 6�/� 1 Nค%AP1� 
0C�$์ 5��6N�O�N'O��O6�/�1�Oค� � 6�/� 1 Nค%AP1� 
0C�$์ 5��6N�O�N'O��O6�Pค��6#N'?$� � 6�/� 1 Nค%AP1� 
0C�$์ 5��6N�O�N'O��O6��N�P � � 6�/� 1 Nค%AP1� 
คB�'5�1�4 AQ��6�  

- #?/�N/$�%4#/'�'�'6� (CPU) R#N�O1$�/N6 4 O��
/'5� (4 core) O'4 8 O��N2#A1� (8 Thread) O'4#?N�คP�P'$?N >P#
25��6��60>�6R�OQ��%�?�?P�O1�Q�Oค/6#26#6%�Q��6%�%4#/'�'
2C� (Turbo Boost /%A1 Max Boost) P�$#?ค/6#N%O/25��6��60>�6
2C�2B� R#N�O1$�/N6 4 GHz � 6�/� 1 /�N/$  

- /�N/$�%4#/'�'�'6� (CPU) #?/�N/$ค/6#� 6
O�� Cache Memory %/#Q�%4�5� (Level) N�?$/�5� ��6�R#N�O1$
�/N6 8 MB  

- #?/�N/$ค/6#� 6/'5� (RAM) ��>� DDR4 /%A1�?�/N6 ��6�R#N�O1$
�/N6 8 GB - #?/�N/$�5�N�O��O1#C' ��>� SATA /%A1�?�/N6 ��6�ค/6#�B
R#N�O1$�/N6 1 TB /%A1 ��>� Solid State Drive ��6�ค/6#�BR#N�O1$
�/N6 250 GB � 6�/� 1 /�N/$  

- #?�1"6 �?P%1�%5�ค/6#'4N1?$�R#N�O1$�/N6 1,366 x 768 Pixel O'4
#?��6�R#N�O1$�/N6 12 �>Q/  
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- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 R#N�O1$
�/N6 3 �N1�  
- #?�N1�N�AP1#�N1O�� HDMI /%A1 VGA � 6�/�R#N�O1$�/N6 1�N1�  
- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100/1000 Base-T /%A1
�?�/N6 O�� �>��5Q�"6$Q� (Internal) /%A1"6$�1� (External) � 6�/�
R#N�O1$�/N6 1 �N1�  
- 26#6%�Q�O�6�R�OR#N�O1$�/N6 Wi-

Fi (IEEE 802.11 ac) O'4 Bluetooth 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

        
 

      

    
Nค%AP1�ค1# >/N�1%์P�O��BP� 2 6/%5��6�2 6�5��6� � 6�/� 32,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1�ค1# >/N�1%์P�O��BP� 2 6/%5��6�
2 6�5��6� � 6�/� 2 Nค%AP1� Nค%AP1�'4 16,000 �6� Q/O 
0C�$์ 5��6N�O�N'O��O6�Pค��4O�� � 6�/� 1 Nค%AP1� 
0C�$์ 5��6N�O�N'O��O6�P �2/6� � 6�/� 1 Nค%AP1� 
คB�'5�1�4 AQ��6�  

- #?/�N/$�%4#/'�'�'6� (CPU) R#N�O1$�/N6 2 O��
/'5� (2 core) O'4 4 O��N2#A1� (4 Thread) O'4#?N�คP�P'$?N >P#
25��6��60>�6R�OQ��%�?�?P�O1�Q�Oค/6#26#6%�Q��6%�%4#/'�'
2C� (Turbo Boost /%A1 Max Boost) P�$#?ค/6#N%O/25��6��60>�6
2C�2B� R#N�O1$�/N6 3.5 GHz � 6�/� 1 /�N/$  

- /�N/$�%4#/'�'�'6� (CPU) #?/�N/$ค/6#� 6
O�� Cache Memory %/#Q�%4�5� (Level) N�?$/�5� ��6�R#N�O1$
�/N6 4 MB  

- #?/�N/$ค/6#� 6/'5� (RAM) ��>� DDR4 /%A1�?�/N6 ��6�R#N�O1$
�/N6 4 GB  

- #?/�N/$�5�N�O��O1#C' ��>� SATA /%A1�?�/N6 ��6�ค/6#�BR#N�O1$
�/N6 1 TB /%A1 ��>� Solid State Drive ��6�ค/6#�BR#N�O1$
�/N6 250 GB � 6�/� 1 /�N/$ - #?�1"6 �?P%1�%5�ค/6#'4N1?$�R#N
�O1$�/N6 1,366 x 768 Pixel O'4#?��6�R#N�O1$�/N6 12 �>Q/  

- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 R#N�O1$
�/N6 3 �N1�  
- #?�N1�N�AP1#�N1O�� HDMI /%A1 VGA � 6�/�R#N�O1$�/N6 1�N1�  
- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100/1000 Base-T /%A1
�?�/N6 O�� �>��5Q�"6$Q� (Internal) /%A1"6$�1� (External) � 6�/�
R#N�O1$�/N6 1 �N1�  
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- 26#6%�Q�O�6�R�OR#N�O1$�/N6 Wi-

Fi (IEEE 802.11 ac) O'4 Bluetooth 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

        
 

      

    

Nค%AP1�ค1# >/N�1%์2 6/%5��6�2 6�5��6�  (�1O2��"6 ��6�R#N�O1$�/N6 
19 �>Q/) 

� 6�/� 170,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1�ค1# >/N�1%์2 6/%5��6�2 6�5��6� (�1O2��
"6 ��6�R#N�O1$�/N6 19 �>Q/) � 6�/� 10 Nค%AP1�  
Nค%AP1�'4 17,000 �6� Q/OP%�N%?$�1�B�6'N�0�6'� 6�'��N$O� 

คB�'5�1�4 AQ��6�  

- #?/�N/$�%4#/'�'�'6� (CPU) R#N�O1$�/N6 4 O��
/'5� (4 core) O'4 8 O��N2#A1� (8 Thread) O'4#?N�คP�P'$?N >P#
25��6��60>�6R�OQ��%�?�?P�O1�Q�Oค/6#26#6%�Q��6% �%4#/'�'
2C� (Turbo Boost /%A1 Max Boost) P�$#?ค/6#N%O/25��6��60>�6
2C�2B� R#N�O1$ �/N6 4 GHz � 6�/� 1 /�N/$  

- /�N/$�%4#/'�'�'6� (CPU) #?/�N/$ค/6#� 6
O�� Cache Memory %/#Q�%4�5� (Level) N�?$/�5���6�R#N�O1$
�/N6 4 MB  

- #?/�N/$ค/6#� 6/'5� (RAM) ��>� DDR4 /%A1�?�/N6 #?��6�R#N�O1$
�/N6 4 GB  

- #?/�N/$�5�N�O��O1#C' ��>� SATA /%A1�?�/N6 ��6�ค/6#�BR#N�O1$
�/N6 1 TB /%A1 ��>� Solid State Drive ��6�ค/6#�BR#N�O1$
�/N6 250 GB � 6�/� 1 /�N/$  

- #?DVD-RW /%A1�?�/N6 � 6�/� 1 /�N/$  

- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100/1000 Base-T /%A1
�?�/N6 � 6�/�R#N�O1$�/N6 1 �N1�  
- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 R#N�O1$
�/N6 3 �N1�  
- #?O�O� ># ์O'4N#62์  
- #?�1O2��"6 ��6�R#N�O1$�/N6 19 �>Q/ � 6�/� 1 /�N/$ 

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
Nค%AP1� ># ์Multifunction N'N�1%์/%A1 LED 2? � 6�/� 15,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1� ># ์Multifunction N'N�1%์
/%A1 LED 2? � 6�/� 1 Nค%AP1�Q/O0C�$์ 5��6N�O�N'O��O6�/�1�Oค� 

คB�'5�1�4 AQ��6�  

- N�O�1B��%�์�?P#?ค/6#26#6%�
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N�O� Printer, Copier O'4 Scanner "6$Q�Nค%AP1�N�?$/�5�  

- #?ค/6#'4N1?$�Q��6% ># ์R#N�O1$�/N6 600x600 dpi  

- #?ค/6#N%O/Q��6% ># ์�6/� 62 6/%5��%4�61 A4 R#N�O1$�/N6 20 /�O6
�N1�6�?(ppm)  

- #?ค/6#N%O/Q��6% ># ์2?2 6/%5��%4�61 A4 R#N�O1$�/N6 20 /�O6�N1
�6�? (ppm)  

- #?/�N/$ค/6#� 6 (Memory) ��6�R#N�O1$�/N6 256 MB - 26#6%�
2O��N1�26% ��6� A4 (�6/� 6 O'4 2?) R�O  
- #?ค/6#'4N1?$�Q��6%2O��2C�2B� R#N�O1$�/N6 1,200x1,200 dpi  

- #?�6��O1�N1�26%15�P�#5�>(Auto Document Feed)  

- 26#6%��N6$2 6N�6N1�26%R�O�5Q�2?O'4�6/� 6 - 26#6%�� 62 6N�6R�O
2C�2B�R#N�O1$�/N6 99 2 6N�6  
- 26#6%�$N1O'4�$6$R�O25 �@� 400 N�1%์N�O�� ์ 

- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 � 6�/�R#N�O1$
�/N6 1 �N1�  
- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100 Base-T /%A1
�?�/N6 � 6�/� R#N�O1$�/N6 1 �N1� /%A1 26#6%�Q�O�6��N6�Nค%A1�N6$R%O
26$ Wi-Fi (IEEE 802.11b, g, n) R�O  
- #?�6�Q2N�%4�61R�O%/#�5�R#N�O1$�/N6 250 O�N�  

- 26#6%�Q�OR�O�5� A4, Letter, Legal O'426#6%�� 6/����6��1�
�%4�61N1�R�O 
�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

        
 

      

    
Nค%AP1� ># ์O���?�/#@� %O1#�>��5Q��5�/#@� ># ์ (Ink Tank Printer) � 6�/� 4,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1� ># ์O���?�/#@� %O1#�>��5Q��5�/#@�
 ># ์ (Ink Tank Printer)  

� 6�/� 1 Nค%AP1� Q/O0C�$์ 5��6N�O�N'O��O6���N$O� 

คB�'5�1�4 AQ��6�  

- N�O�Nค%AP1� ># ์O���?�/#@� %O1#�>��5Q��5�/#@� ># ์
(Ink Tank Printer) �6�P%��6��CO�'>�  

- #?ค/6#'4N1?$�Q��6% ># ์R#N�O1$�/N6 1,200x1,200 dpi  

- #?ค/6#N%O/Q��6% ># ์%N6��6/� 62 6/%5��%4�61��6� A4 R#N�O1$
�/N6 19 /�O6�N1�6�?(ppm) /%A1 8.8 "6 �N1�6�?  
- #?ค/6#N%O/Q��6% ># ์%N6�2?2 6/%5��%4�61��6� A4 R#N�O1$
�/N6 15 /�O6�N1�6�?(ppm) /%A1 5 "6  �N1�6�?(ipm)  

- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 � 6�/�R#N�O1$
�/N6 1 �N1�  
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- #?�6�Q2N�%4�61R�O%/#�5�R#N�O1$�/N6 50 O�N� - 26#6%�Q�OR�O
�5� A4, Letter, Legal O'426#6%�� 6/����6��1��%4�61N1�R�O 
�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

    
Nค%AP1� ># ์N'N�1%์/%A1 LED 2?��>� Network O���?P 1 (20 /�O6/�6�?) � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1� ># ์N'N�1%์/%A1 LED 2?
��>� Network O���?P 1 (20 /�O6/�6�?) 
� 6�/� 2 Nค%AP1� Nค%AP1�'4 10,000 �6� Q/O 
0C�$์ 5��6N�O�N'O��O6��6�6� � 6�/� 1 Nค%AP1� 
0C�$์ 5��6N�O�N'O��O6�P �2/6� � 6�/� 1 Nค%AP1� 
คB�'5�1�4 AQ��6�  

- #?ค/6#'4N1?$�Q��6% ># ์R#N�O1$�/N6 600x600 dpi  

- #?ค/6#N%O/Q��6% ># ์�6/� 62 6/%5��%4�61 A4 R#N�O1$�/N6 20 /�O6
�N1�6�? (ppm)  

- #?ค/6#N%O/Q��6% ># ์2?2 6/%5��%4�61 A4 R#N�O1$�/N6 20 /�O6�N1
�6�? (ppm)  

- 26#6%� ># ์N1�26%�'5�/�O615�P�#5�>R�O - #?
/�N/$ค/6#� 6 (Memory) ��6�R#N�O1$�/N6 256 MB  

- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 � 6�/�R#N�O1$
�/N6 1 �N1�  
- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100 Base-T /%A1
�?�/N6 � 6�/�R#N�O1$ �/N6 1 �N1� O'426#6%�Q�O�6��N6�Nค%A1�N6$R%O
26$ Wi-Fi (IEEE 802.11b, g, n) R�O 
- #?�6�Q2N�%4�61R�O%/#�5�R#N�O1$�/N6 250 O�N�  

- 26#6%�Q�OR�O�5� A4, Letter, Legal O'426#6%�� 6/����6��1�
�%4�61N1�R�O 
�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

      

    
1B��%�์�%4�6$25��6� (L2 Switch) ��6� 24 �N1� O���?P 1 � 6�/� 4,500 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ11B��%�์�%4�6$
25��6� (L2 Switch) ��6� 24 �N1� O���?P 1 � 6�/� 1 Nค%AP1� Q/O
P%�N%?$�1�B�6'N�0�6'� 6�'��N$O�  

คB�'5�1�4 AQ��6�  

- #?'5�1�4�6%� 6�6�R#N�O1$�/N6 Layer 2 �1� OSI Model  

- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100/1000 Base-T /%A1
�?�/N6 � 6�/� R#N�O1$�/N6 24 �N1�  
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- #?25��6�R!O2��2�6�4�1��6%� 6�6��N1�N�AP1#�N1%4��Nค%A1�N6$
�B��N1� 
�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4�%4�#0@�16 

 

  
�(N�>'1B"/'B' 1// 3,650,000 (2% 

   
N�>'1B"/'B' 1// 3,650,000 (2% 

   
N�>�1B�/�B�2N/�%6��6%       

    
N�>�1B�/�B�คN616/6%�'6�/5� %.%. 2 � � 6�/� 8 O/N� � 6�/� 3,650,000 �6� 

      

  N AP1�N6$N�O�N�>�1B�/�B�คN616/6%�'6�/5� %.%. 2 � � 6�/� 8 O/N� 
(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6
�6%0@�16�%4N �?O'4/5���%%# /�O6 110 ' 6�5��?P 45   

�%6��Q�NN���6��6%0@�16  �6�%4�5��N1�/5$N%?$�NN'4 

�%4�#0@�16 
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O*'�2'22&21!2B� 

 
�2'(1>/21%1P/R)N�?P0/�1(22&21!2B� 1// 2,051,400 (2% 

  
�((Bคล2�1 1// 2,045,400 (2% 

   
N�>'N"A1' (+N20)10� 2) 1// 2,045,400 (2% 

   
N�>�N�A1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 862,560 �6� 

      

  N AP1�N6$N�O�N�>�N�A1��O6%6��6% O'4N�>��%5��%B�N�>�N�A1��%4� 6�?�1�
�O6%6��6% N�N�  N�>�N'AP1��5Q�N�>�N�A1�N�O��%�? >N01 N�>��%5�15�%6
N�>�N�A1�O'4N'AP1�%4�5�� 6O/�N� N�>�Q��6%�%5�15�%6N�>�N�A1�
Q/#N N�O��O� O'4N�>�คN6�1�O�� >N01�1��O6%6��6%�COR�O%5�N�>�N�A1�
�5Q�2C� /%A1Q�'O�@��5Q�2C��1�15��5�/%A1� 6O/�N� �6#%4N�?$��%4�%/�
� 6/�� 

�%6��Q�O���6�26�6%�2B� �6��%>/6%�5P/R�N�?P$/�5�26�6%�2B� 

 

      

   
N�>��%4� 6� 6O/�N� � 6�/� 60,000 �6� 

      

  N AP1Q�O�N6$N�O�N�>��%4� 6� 6O/�N��1� �5��6�N�0�6' 

� 6O/�N�1 6�/$�6%%4�5��O�  �1��1�26�6%�2B�O'4
2>P�O/�'O1# � 6�/� 2 ค�    

�%6��Q�O���6�26�6%�2B� �6��%>/6%�5P/R�N�?P$/�5�26�6%�2B� 

 

      

   
คN6�1�O�� �5��6��O6� � 6�/� 1,012,440 �6� 

      

  N AP1�N6$N�O�คN6�1�O��Q/OO�N �5��6��O6�O'4N�>��%5��%B�
คN6�1�O�� �5��6��O6��6#"6%�>�   �5��6��O6��5P/R�   

O'4�CO#?2>��>NR�O%5��6#/'5�N���์�?P� 6/�� 

�%6��Q�O���6�26�6%�2B� �6��%>/6%�5P/R�N�?P$/�5�26�6%�2B� 

 

      

   
N�>�N >P#�N6� N �1� �5��6��O6� � 6�/� 110,400 �6� 

      

  N AP1�N6$N�O�N�>�N >P#�N6� N�1� �5��6��O6�(คN6ค%1��? �5P/ค%6/)   
Q/OO�N �5��6��O6��6#"6%�>�   �5��6��O6��5P/R�  O'4�CO#?2>��>NR�O%5�
�6#%4N�?$��%4�%/�� 6/�� 

�%6��Q�O���6�26�6%�2B� �6��%>/6%�5P/R�N�?P$/�5�26�6%�2B� 
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�(ล�%B' 1// 6,000 (2% 

   
คN2ค1B.1!�์ 1// 6,000 (2% 

   
ค%B"5��์2 6�5��6�       

    
N�O61?Q� 6�6� � 6�/� 6,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1N�O61?Q� 6�6� �5/'4 2,000 �6� � 6�/� 3 �5/ 

(� 6/���6#%6ค6Q��O1��'6� N�AP1��6�R#N�%6��Q��5��?%6ค6
#6�%�6�ค%B"5��์�1�2 6�5����%4#6�)  
�%6��Q�O���6�26�6%�2B�  �6��%>/6%�5P/R�N�?P$/�5�26�6%�2B� 

 

      

 
�2'(1>�2122&21!2B�Oล0�2'22&21!2B�1AP' 1// 3,293,000 (2% 

  
�(" 2N'>'�2' 1// 3,013,000 (2% 

   
คN2#1(O%' 1// 20,000 (2% 

   
คN6�1�O���6%��>�5�>�6��1�N/'6%6��6% � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�N�>�คN6�1�O���6%��>�5�>�6��1�N/'6 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

      

   
N�>��N/$N/'A1�6%0@�16�B�%       

    
N�>��N/$N/'A1�6%0@�16�B�%�O6%6��6%/ �5��6�/'C��O6��%4� 6 � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�N�>��N/$N/'A1�6%0@�16�B�%Q/OO�N �5��6�N�0�6' 

�CO�%>/6%O'4 �5��6��O6��?P#?2>��>N�>�R�O �6#%4N�?$�
�%4�%/�#/6�R�$/N6�O/$N�>�2/52�>�6%N�?P$/�5��6%0@�16�1��B�%
 �5��6�2N/��O1��>P�  .0.2541 O'4�?PO�OR�N >P#N�>#�@�  
(��5��?P 3 )  .0. 2549 %/#�5Q�/�5�2A125P��6%�?PN�?P$/�O1� 
�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

   
คN2QชO210 1// 1,992,800 (2% 

   
%6$�N6$N AP1Q/OR�O#6�@P��%>�6%       

    
คN6�O6�N/#6�%>�6% � 6�/� 408,000 �6� 

      

  N AP1�N6$N�O�คN6�O6�N/#6�%>�6%Q/O�CO%5��O6�� 6�6%1$N6�Q�1$N6�/�@P��@P�
#>R�ON�O��6% �%4�1� �5�O�'��N1N�># ค%B"5��์ �?P�>�/%A12>P��N12%O6�
1$N6�Q� O'41$CNQ�ค/6#%5��>��1��1��CO%5��O6� N�N� คN6�O6�N/#6�>��5Q�
%4��Nค%A1�N6$ค1# >/N�1%์   

คN6�O6�N/#6O%��6� คN6�O6�N/#6�C�2>P���>�C' คN6�N6�N/#6� 6�5�
�$4 คN6�O6� N/#6�N6$N1�26%N�O6N'N# คN6�O6�N/#61AP� N  
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�@P�N�O��%4P$��์�N1�6%�%>/6%�6��1�N�0�6' 3'3   

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

    

คN6�O6�N/#6�%>�6%�Bค'"6$�1�N�O��CO��>�5�>�6��6%O �$์�B�N�>�/�CO�? 
�CO"5$ 

� 6�/� 840,000 �6� 

      

  N AP1N�O�%6$�N6$คN6�O6�N/#6�%>�6%�Bค'"6$�1�N�O��CO��>�5�>�6�
�6%O �$์�B�N�>�/�CO�? �CO"5$  

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

    

คN6�O6�N/#6�Bคค'"6$�1��CO'%5�16ค/6#2416�16ค6% 

2 6�5��6�N�0�6'� 6�'��N$O� 

� 6�/� 156,000 �6� 

      

  N AP1N�O�%6$�N6$คN6�O6�N/#6�Bคค'"6$�1��CO'%5�16ค/6#2416�
16ค6%2 6�5��6� N�0�6'� 6�'��N$O�    

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

    

คN6�O6�N/#6�Bคค'"6$�1���>�5�>�6��O6�ค/6#2416��B#��  

"6$Q�N�� N�0�6' � 6�'��N$O� 

� 6�/� 216,000 �6� 

      

  N AP1N�O�%6$�N6$คN6N/#6�Bคค'"6$�1���>�5�>�6��O6�ค/6#2416�
�B#�� "6$Q�N�� N�0�6'� 6�'��N$O�  

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

   

%6$�N6$N�?P$/N�AP1��5��6%��>�5�>%6��6%�?PR#NN�O6'5�1�4%6$�N6$��%6$�N6$
1AP� N 

      

    
คN6Q�O�N6$Q��6%N�>��6�R�%6��6% � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q��6%�@�1�%# �%4�B#25##�6 �50�0@�16O'4�C
�6��5Q�Q��%4N�0O'4�N6��%4N�0 �O6%6��6% 'C��O6��%4� 6  �5��6�
�O6��1�N�0�6'� 6�'��N$O� �Bคค'"6$�1�/%A1�Bคค'1AP��?PN�?P$/�O1�  
�?P�%#2N�N2%>#�6%��ค%1��O1��>P� /%A11�ค์�%/%A12�6�5�1AP�N�O�
�CO� 6N�>��6% /%A1N�0�6'� 6�'��N$O�� 6N�>��6%N1� P�$�N6$N�O�
คN6'��4N�?$� คN6�?P 5� คN6 6/�4  

คN6N�?Q$N'?Q$� คN616/6% �'1���คN6Q�O�N6$1AP� N  

�?PN�?P$/�O1��5��6%1�%#/%A125##�6   
(O�� 5��6�O1��>P�  .0. 2561-2565) $B��062�%์�6% 5��6คB�"6 
�?/>�/�O6 190 ' 6�5��?P 2 
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�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

    
คN6Q�O�N6$Q�Pค%��6%�O1��5�O'4O�OR��ั�/6$6N2 �>� � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�Q�O�N6$Q�Pค%��6%�O1��5�O'4O�OR��ั�/6$6N2 �>� 

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6คB�"6 
�?/>�/�O6 135 ' 6�5��?P 5 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

    

คN6Q�O�N6$Q�Pค%��6% 5��605�$"6 �CO��>�5�>�6� �6%O �$์�B�N�>�/%A1�CO
�? �CO"5$ 

� 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�Pค%��6% 5��605�$"6 �CO��>�5�>�6� �6%O �$์�B�N�>�
/%A1�CO�? �CO"5$ 

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6คB�"6 
�?/>�/�O6 134 ' 6�5��?P 2 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

    

Pค%��6%�5�Nค'AP1�Pค%��6%25�/์�'1�P%ค ค��'1�"5$ �6�P%ค >12B�5�
�O6 �6# %4��>�6�062�%6�6%$์ �%. 2#N�O� %4N�O6'C�N�1N�O6!O6�B06
"%�์/'5$'5�1�์ 15ค%%6��B#6%? 

� 6�/� 100,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%�5�Nค'AP1�Pค%��6%25�/์�'1�P%ค ค�
�'1�"5$ �6�P%ค >12B�5��O6 �6# %4��>�6�
062�%6�6%$์ �%. 2#N�O� %4N�O6'C�N�1N�O6!O6�B06"%�์/'5$
'5�1�์ 15ค%%6��B#6%? 
(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6คB�"6 
�?/>�/�O6 138 ' 6�5��?P 13 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

    

Pค%��6%�%4�B#N�>���>�5�>�6%�5�� 6O���B#�� Q��6%2%O6�N2%>#2B�"6 
�O1��5�P%ค 

� 6�/� 15,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%�%4�B#N�>���>�5�>�6% �5�� 6O��
�B#��Q��6%2%O6�N2%>#2B�"6 �O1��5�P%ค 

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6คB�"6 
�?/>�/�O6 138 ' 6�5��?P 14 �%6��Q�O���6�26�6%�2B�  �6��%>�6%
26�6%�2B�O'4�6�26�6%�2B�1AP� 
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Pค%��6%N�O6%4/5�P%ค�>�N�AQ1Pค/>� 19 � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%N�O6%4/5�P%ค�>�N�AQ1Pค/>� 19 

(O�� 5��6�O1��>P�  .0.2566-2570)  

$B��062�%์�6% 5��6คB�"6 �?/>� /�O6 137 ' 6�5��?P 12 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

    
Pค%��6%%�%�ค์�5�//5�2416�%5�1์2>P�O/�'O1# � 6�/� 15,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%%�%�ค์�5�//5�2416�%5�1์2>P�O/�'O1# 

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6คB�"6 
�?/>�/�O6 140 ' 6�5��?P 18 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

    
Pค%��6%%�%�ค์�O1��5�O'4ค/�คB#R�ON'A1�11� � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%%�%�ค์�O1��5�O'4ค/�คB#
R�ON'A1�11� 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'� ค%5Q��?P 1 
$B��062�%์�6% 5��6คB�"6 �?/>� /�O6 52 ' 6�5��?P 8 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

    
Pค%��6%P%�N%?$��BO#P2#�CO2C�16$B � 6�'��N$O� � 6�/� 40,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%P%�N%?$��BO#P2#�CO2C�16$B  
� 6�'��N$O� 

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6คB�"6 
�?/>�/�O6 137 ' 6�5��?P 10 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

    
Pค%��6%'�O'4ค5�O$��$4#C'�1$�6��O��6��6#/'5� 3 Rs � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%'�O'4ค5�O$��$4#C'�1$�O��6��6#
/'5� 3 RS 

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6คB�"6 
�?/>�/�O6 134 ' 6�5��?P 3 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 
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Pค%��6%2 6%/��O1#C'� 6�/�25�/์O'4�@Q��4N�?$�25�/์ � 6�/� 7,800 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%2 6%/��O1#C'� 6�/�25�/์O'4�@Q�
�4N�?$�25�/์  
(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6คB�"6 
�?/>�/�O6 136 ' 6�5��?P 9 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

    
Pค%��6%1�%#O'4%�%�ค์P%ค >12B�5��O6Q�25�/์N'?Q$�2B�5�O'4O#/ � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%1�%#O'4%�%�ค์P%ค >12B�5��O6Q�
25�/์N'?Q$�2B�5�O'4O#/ 

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6คB�"6 
�?/>�/�O6 140 ' 6�5��?P 17 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

   
คN6� 6%B�%5�16O'4�N1#O�# � 6�/� 60,000 �6� 

      

  N AP1�N6$N�O�คN6� 6%B�%5�16O'4�N1#O�#�%5 $์2>��N6�N  

Q��%�?� 6%B�N2?$/6$ Q�O�6%R#NR�O/%A1Q�O�6%R�OO�NR#N�?N�N6�?Pค/% /%A1�@�
N/'6�O1�N�O6� 6%B�%5�16�6#%4$4N/'6�6%Q�O�6� � 6N�O��O1�� 6�6%
�N1#O�#Q/O1$CNQ�2"6 �?P�?26#6%�Q�O�6�R�O
�6#���> N�N� Nค%AP1��%5�16�60 Nค%AP1� ># ์�?� Nค%AP1�15�2 6N�6 Nค%AP1�
�N6$N1�26% Nค%AP1�ค1# >/N�1%์ P�P4 N�O61?Q   
�'O1��N6$%C� %�$��์ %��5�%$6�$��์ Nค%AP1�2C��Q 6 Nค%AP1��ัP�R!  

N'AP1$$��์ 3'3 O'4�%>N/�%1�16ค6%2 6�5��6�N�0�6' 

� 6�'��N$O� 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

   
คN2/12"B 1// 1,000,200 (2% 

   
/52�B2 6�5��6� � 6�/� 30,000 �6� 

      

  N AP1N�O�คN6/52�B2 6�5��6��N6�N N�N� �%4�61 /#@� �>�21 �6��6 R#O
�%%�5� $6�'� ค'>� N�P� N����>�Q2 '/�N$O��%4�61 �6/ O!O# 2#B�
�5��? 2#B��%4/5�>�O6%6��6% O�� ># ์ �%6$6� �1� ���6�> 2>P� ># ์�?P
R�O�6��6%�AQ1/%A1�O6� ># ์ �Q 6�AP# Nค%AP1�N$O��%4�61 �%4�61R� O��
 ># ์ 3'3  �%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4
�6�26�6%�2B�1AP�  
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/52�BR!!O6O'4/>�$B � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�BR!!O6O'4/>�$B N�N� !>/2 ์N�O#�5�%5�
26$R!!O6 N�� 5�26$R!!O6 26$R!!O6 �'5R�R!!O6 2/>��์
R!!O6 ค1�N��N�1%์ N�%�N�1%์ 26$16�60 Pค#R!!O6 ' 6P �  
R#Pค%P!� �5�O2��/��%�N6�N Nค%AP1�/5�ค/6#�O6��6�R!!O6 Nค%AP1�/5�
O%��5�R!!O6 3'3  

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

   
/52�B�6��O6��6�ค%5/ � 6�/� 320,000 �6� 

      

  /52�B�6��O6��6�ค%5/ 

- N AP1�N6$N�O�คN6�5��AQ1/52�B�6��O6��6�ค%5/ � 6�/� 20,000 �6� 

N AP1�N6$N�O�คN6/52�B�6��O6��6�ค%5/�N6�N N�N� O�%� R#O�/6� N�N� �O/$
�6# �O1�2O1# O�O/�Q 6 �6�%1� #?� $6�N6O#'� ���5�!1� �Q 6$6� 6
ค/6#2416� �4�%O6 �B� '62�>�  

�?P�1� /#1� #BO� �'1�/#1� �O6�C�?P�1� 3'3  

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

คN6�5��AQ1�5��$4  
-N AP1�N6$N�O�คN6�5��AQ1�5��$4 � 6�/� 300,000 �6� 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP�  

      

   
/52�B�N12%O6� � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�B�N12%O6� N�N� N/'O���>��N6� N R#O��>�
�N6�N �>�N�1%์ O�%��62? �C��?N#�� ์ �C�
�6/ �%6$  1>�  �%4N�AQ1� 25��42? �4�C คO1� ค?# �1� N2?$# �/6�  

2/N6� N'AP1$  �N1�Q 6O'41B��%�์�%4�6 3'3   

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

   
/52�B$6� 6/�4O'4��2N� � 6�/� 50,000 �6� 

      

  N AP1�N6$N�O�คN6/52�B$6� 6/�4O'4��2N��N6� N N�N� O��N�1%?P  
$6��1� $6�Q� 26$R#'์ �Q 6#5�N�%ค /5/N�?$� O#NO%�  
R�ค/� �%4��#1��O6�%�$��์ /#O1�Q 6%�$��์ %��5�%$6�$��์  
O'4Nค%AP1�$��์1AP� N �?PN�?P$/�O1� 3'3 �%6��Q�O���6�
26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�26�6%�2B�1AP� 

      



91 

 

   
/52�BN�AQ1N '>�O'4/'N1'AP� � 6�/� 380,000 �6� 

      

  - คN6�5��AQ1/52�BN�AQ1N '>�O'4/'N1'AP� 2 6/%5�%�$��์ $6�6' 

(%�$��์�CO�? ) O'4%��%%�B� � 6�/�   350,000   �6� 

N AP1�N6$N�O�คN6�5��AQ1/52�BN�AQ1N '>�O'4/'N1'AP� 2 6/%5�%�$��์ $6�6'
(%�$��์�CO�? ) N�N� �Q 6#5��?N�' �Q 6#5�N���>� �Q 6#5�
�6%4�? �Q 6#5�Nค%AP1� �Q 6#5�N�%� �Q 6�'5P� �Q 6#5�2B��6�60  

�Q 6#5�R2P�%'>ค 2 6/%5� %�$�� ์%��5�%$6�$��์  3'3 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

- คN6�5��AQ1/52�BN�AQ1N '>�O'4/'N1'AP� 2 6/%5�Nค%AP1� N�/#1�ค/5�/$CO1'
/? �6��O1��5�O'4ค/�คB#P%คR�ON'A1�11� � 6�/� 30,000 �6� 

N AP1�N6$N�O�คN6�5��AQ1/52�BN�AQ1N '>�O'4/'N1'AP�2 6/%5�Nค%AP1� N�/#1�
ค/5�/$CO1'/? �6� �O1��5�O'4ค/�คB#P%คR�ON'A1�11� �Q 6#5�
�?N�' �Q 6#5�N���>� �Q 6#5�Nค%AP1�/%A1�Q 6#5�/'N1'AP� N�N� �Q 6#5�
�?N�' �Q 6#5�N���>� �Q 6#5��6%4�? �Q 6#5�Nค%AP1� �Q 6#5�N�%ค  

�Q 6�'5P� �Q 6#5�2B��6�60 �Q 6#5�R2P�%
'>ค 2 6/%5� %�$��์ %��5�%$6�$��์  3'3 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

   
/52�B/>�$6062�%์/%A1�6%O �$์ � 6�/� 130,200 �6� 

      

  - คN6�5��AQ1N/�"5��์O'4$6,Nค%AP1�#A1O �$์  

�6��6%O �$์�B�N�>�3  

� 6�/�  50,000  �6� 

N AP1�N6$N�O�คN6�5��AQ1N/�"5��์O'4$6 ,Nค%AP1�#A1O �$์  

�6��6%O �$์�B�N�>�3 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

- คN6�5��AQ1$6/26%Nค#? (�%6$Nค#?) � 6�5�'C��Q 6$B�'6$             

� 6�/� 49,000 �6� 

N AP1�N6$N�O�คN6�5��AQ1$6/26%Nค#?(�%6$Nค#?) � 6�5�'C��Q 6$B�'6$ N AP1
ค/�คB#O'4�O1��5��6%O %N %4�6��1�P%คR�ON'A1�11�Q�N�� AQ��?P
N�0�6'� 6�'��N$O�  

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 
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- คN6�5��AQ1$6/�Q 6$6Nค#? 2 6/%5�Nค%AP1� N�/#1�ค/5�/$CO1'/?  
N AP1� 6�5�$B�'6$ � 6�/�  31,200  �6� 

N AP1�N6$N�O�คN6�5��AQ1$6/�Q 6$6Nค#? 2 6/%5�Nค%AP1� N�/#1�ค/5�/$CO1'
/? N AP1� 6�5�$B�'6$ �O1��5� O'4ค/�คB#�6%O %N%4�6��1�P%ค
R�ON'A1�11�Q�N�� AQ��?PN�0�6'� 6�'��N$O�  

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

   
/52�B�6%N�1�% � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�B�6%N�1�% N�N� 26%Nค#?�O1��5�NN'4� 6�5�
05�%C A�NN'425�/์ 16/6%25�/์  5��B์ A� �BQ$  5��B์25�/์�?� 

NN'425�/์�Q 6 �Q 6N�AQ1 5��B์25�/์ /52�BN 64� 6 1B��%�์Q��6%�$6$ 5��B์
 A� N�N� Q�#?� N�A1�  �O6Q�/%A1�O6 '62�>�  

/�O6�6��O1��5�NN�P2 >1 2�%>�N�'1%์ �1�/#B��6� %/� �6�R�
�%4�4 Nค%AP1�/$1�/%A1//N6�N#'O� 5��B์  Nค%AP1�� 6ค/6#2416�N#'O�
 5��B์ ค%6��?P %/��>�%4//N6�NN�/   

Nค%AP1��5�NN#'� 1/� (2 6N%O�%C�)  �%4�5�  3'3   

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

   
/52�BP�1�6O'4N�$O %N � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�BP�1�6O'4
N�$O %N  �N6� N N�N�  �%4�61  2?   CN�5�  R#O15�  3'3   

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

      

   
/52�BNค%AP1�O�N��6$ � 6�/� 45,000 �6� 

      

  - คN6�B���>�5�>�6%�6%O �$์�B�N�>�/%A1�CO�? �CO"5$    

� 6�/�  20,000  �6�  

N AP1�N6$N�O�N�>�คN6�5��AQ1/52�BNค%AP1�O�N��6$  

�B��CO��>�5�>�6��6%O �$์�B�N�>�N�AQ1��O�/%A1 �CO�? �CO"5$ O'4�Bค'6�%�?P
N�?P$/�O1�/%A1%5��>��1��6�  

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 
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- คN6Nค%AP1�O�N��6$ �5��6�� 6ค/6#2416�, �5��6����$4    

� 6�/� 25,000  �6� 

N AP1�N6$N�O�N�>�คN6Nค%AP1�O�N��6$ �5��6�� 6ค/6#2416� , 

 �5��6����$4  

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 

 

   
/52�Bค1# >/N�1%์ � 6�/� 15,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�Bค1# >/N�1%์ N�N� O�N�/%A1�6��5��@�
�O1#C' N���5��@��O1#C' /5/ ># ์/%A1O�� ># ์2 6/%5�Nค%AP1�
ค1# >/N�1%์ �'5���/#@�2 6/%5�Nค%AP1� ># ์O��N'N�1%์ O�N��%1�
O2� �%4�61�N1N�AP1� O�O� ># ์ N#��1%์� N#62์ O�N�/��%
1>N'O��%1�>�2์ O�N��>2N���์ 3'3 �%6��Q�O���6�26�6%�2B�  �6�
�%>�6%26�6%�2B�O'4�6�26�6%�2B�1AP� 

 

      

  
�(N�>'1B"/'B' 1// 280,000 (2% 

   
N�>'1B"/'B' 1// 280,000 (2% 

   
N�>�1B�/�B�1�ค์�%�%4�6��       

    
Pค%��6%� 6N�>��6��6#O�/�6�Pค%��6% %4%6�� 6%>�O6�26�6%�2B� � 6�/� 280,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%� 6N�>��6��6#O�/�6�Pค%��6%
 %4%6�� 6%>�O6�26�6%�2B� � 6�/� 14 /#CN�O6�N'4 20,000 �6� 

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6คB�"6 
�?/>�/�O6 139 ' 6�5��?P 15 

�%6��Q�O���6�26�6%�2B�  �6��%>�6%26�6%�2B�O'4�6�
26�6%�2B�1AP� 
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O*'�2'21�ค/2�Nค120/์ 

 
�2'2/12">�2121�ค/Oล021�ค/2�Nค120/์ 1// 90,700 (2% 

  
�(" 2N'>'�2' 1// 30,000 (2% 

   
คN2QชO210 1// 30,000 (2% 

   

%6$�N6$N�?P$/N�AP1��5��6%��>�5�>%6��6%�?PR#NN�O6'5�1�4%6$�N6$��%6$�N6$
1AP� N 

      

    
Pค%��6%�@�1�%#คB�O#N/5$Q2 � 6�/� 15,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%�@�1�%#คB�O#N/5$Q2 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'� ค%5Q��?P 1
�6% 5��6�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'425�ค#
/�O6 53 ' 6�5��?P 9 

�%6��Q�NN���6�25�ค#2�Nค%64/์ �6�2/52�>�6%25�ค#O'425�ค# 

2�Nค%64/์ 

 

      

    
Pค%��6%1�%#�CO >�6%Q/Oค/6#%CO�CO�CO'4ค� >�6% � 6�/� 15,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%1�%#�CO >�6%Q/Oค/6#%CO�CO�CO'4ค�
 >�6% 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'� ค%5Q��?P 1
�6% 5��6�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'425�ค#
/�O6 53 ' 6�5��?P 10 

�%6��Q�NN���6�25�ค#2�Nค%64/์ �6�2/52�>�6%25�ค#O'425�ค#
2�Nค%64/์ 

 

      

  
�(ล�%B' 1// 60,700 (2% 

   
คN2ค1B.1!�์ 1// 700 (2% 

   
ค%B"5��์ค1# >/N�1%์/%A11>N'O��%1�>�2์       

    
1B��%�์1N6��5�%O��1N���%42�ค์ (Smart Card Reader) � 6�/� 700 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ11B��%�์1N6��5�%O��
1N���%42�ค์ (Smart Card Reader) � 6�/�1 Nค%AP1� 
คB�'5�1�4 AQ��6� 

- 26#6%�1N6�O'4N�?$��O1#C'Q��5�%O��
1N���%42�ค์ (Smart Card) �6##6�%�6� ISO/IEC 7816 R�O 
- #?ค/6#N%O/25��6��60>�6R#N�O1$�/N6 4.8 MHz 

- 26#6%�Q�O�6��N6��N1�N�AP1#�N1 (Interface) O�� USB R�O 
- 26#6%�Q�O�5��5�%O��1N���%42�ค์ (Smart Card) �?PQ�O
O%��5�R!!O6��6� 5 Volts, 3 Volts O'4 

1.8 Volts R�ON�O�1$N6��O1$ 
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�%6��Q�NN���6�25�ค#2�Nค%64/์ �6�2/52�>�6%25�ค#O'425�ค#
2�Nค%64/์ 

 

   
คN2%?P">'Oล02>P��N121O2� 1// 60,000 (2% 

   
คN6�N1N�>#/%A1�5�O�'�16ค6% /%A12>P��'C�2%O6��N6� N       

    

Pค%��6%�N1N�>#16ค6%2 6�5��6�/'5�N�># �N1N�>#/'5�ค6Pค%�2%O6�N/'O�
%C� %%� ��6��/O6� 3.50 #. $6/ 12 #. #B��O/$ Metal sheet /�6 
0.30 ##. 2?�Q 6N�>� �6#O��O�'�N�0�6'� 6�'��N$O�N'��?P               
1.021/2566 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'� ค%5Q��?P 1  
�6% 5��6�O6�N0%1��>�O'4ค/6#N�O#O�O��1��B#��O'425�ค#
/�O6 53 ' 6�5��?P 11 

�%6��Q�NN���6�25�ค#2�Nค%64/์ �6�2/52�>�6%25�ค#O'425�ค#
2�Nค%64/์ 

 

� 6�/� 60,000 �6� 
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O*'�2'Nค/0Oล0ชB/ช' 

 
�2'(1>/21%1P/R)N�?P0/�1(Nค/0Oล0ชB/ช' 1// 3,478,820 (2% 

  
�((Bคล2�1 1// 3,098,820 (2% 

   
N�>'N"A1' (+N20)10� 2) 1// 3,098,820 (2% 

   
N�>�N�A1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 969,300 �6� 

      

  N AP1�N6$N�O�N�>�N�A1��O6%6��6% O'4N�>��%5��%B�N�>�N�A1��%4� 6�?�1�
�O6%6��6% N�N�  N�>�N'AP1��5Q�N�>�N�A1�N�O��%�? >N01 N�>��%5�15�%6
N�>�N�A1�O'4N'AP1�%4�5�� 6O/�N� N�>�Q��6%�%5�15�%6N�>�N�A1�
Q/#N N�O��O� O'4N�>�คN6�1�O�� >N01�1��O6%6��6%�COR�O%5�N�>�N�A1�
�5Q�2C� /%A1Q�'O�@��5Q�2C��1�15��5�/%A1� 6O/�N� �6#%4N�?$��%4�%/�
� 6/�� 

�%6��Q�O���6�Nค/4O'4�B#��  �6��%>/6%�5P/R�N�?P$/�5�Nค/4O'4
�B#�� 

 

      

   
N�>�N >P#�N6� N �1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 18,000 �6� 

      

  N AP1�N6$N�O�N�>�N >P#�N6�N �1� �5��6�N�0�6'�CO#?2>��>N 
R�O%5� R�OO�N N�>�N >P#�6%ค%1��? �5P/ค%6/ N�>��1�O�� 

 >N01�1��O6%6��6%�COR�O%5�N�>�N�A1��@��5Q�2C��1�15��5� 

N�>�คN6�1�O��%6$N�A1� N�>�N >P#คN6/>�6�?   

N�>�N >P#2 6/%5�� 6O/�N��?P#?N/�B >N01�1� �5��6�N�0�6'  

�6#/'5�N���์�?P� 6/��  

�%6��Q�O���6�Nค/4O'4�B#��  �6��%>/6%�5P/R�N�?P$/�5�Nค/4O'4
�B#�� 

 

      

   
คN6�1�O�� �5��6��O6� � 6�/� 1,943,520 �6� 

      

  N AP1�N6$N�O�คN6�1�O��Q/OO�N �5��6��O6� O'4N�>��%5��%B�
คN6�1�O�� �5��6��O6��6#"6%�>�  O'4 �5��6��O6��5P/R�   

�6#%4N�?$��%4�%/�� 6/�� 

�%6��Q�O���6�Nค/4O'4�B#��  �6��%>/6%�5P/R�N�?P$/�5�Nค/4O'4
�B#�� 

 

      

   
N�>�N >P#�N6� N �1� �5��6��O6� � 6�/� 168,000 �6� 

      

  N AP1�N6$N�O�N�>�N >P#�N6� N(คN6ค%1��? �5P/ค%6/)   
Q/OO�N �5��6��O6��6#"6%�>�   �5��6��O6��5P/R�   

O'4�CO#?2>��>R�O%5��6#%4N�?$��%4�%/�� 6/��  

�%6��Q�O���6�Nค/4O'4�B#��  �6��%>/6%�5P/R�N�?P$/�5�Nค/4O'4
�B#�� 
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�(" 2N'>'�2' 1// 380,000 (2% 

   
คN2/12"B 1// 380,000 (2% 

   
/52�BR!!O6O'4/>�$B � 6�/� 190,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�BR!!O6O'4/>�$B N�N� !>/2 ์ 

N�O#�5�%5�26$R!!O6 N�� 5�26$R!!O6 26$R!!O6 �'5R�R!!O6  
2/>��์R!!O6 ค1�N��N�1%์ N�%�N�1%์ 26$16�60 Pค#
R!!O6 ' 6P � R#Pค%P!� �5�O2��/��%�N6�N Nค%AP1�/5�ค/6#�O6��6�
R!!O6 Nค%AP1�/5�O%��5�R!!O6 3'3 2 6/%5�Q�OQ�2 6�5��6�N�0�6' O'4
Q�OQ��6�R!!O626�6%�4"6$Q�/#CN�O6�  

�%6��Q�O���6�Nค/4O'4�B#��  �6��%>/6%�5P/R�N�?P$/�5�Nค/4O'4
�B#�� 

 

      

   
/52�B�N12%O6� � 6�/� 180,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�B�N12%O6� N�N� N/'O���>��N6� N R#O��>�
�N6�N �>�N�1%์ O�%��62? �C��?N#�� ์ �C�
�6/ �%6$  1>�  �%4N�AQ1� 25��42? �4�C คO1� ค?# �1� N2?$#  

�/6� 2/N6� N'AP1$  �N1�Q 6O'41B��%�์�%4�6 3'3   

�%6��Q�O���6�Nค/4O'4�B#��  �6��%>/6%�5P/R�N�?P$/�5�Nค/4O'4
�B#�� 

 

      

   
/52�BP�1�6O'4N�$O %N � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�B1B��%�์Q��6%P�1�6O'4N�$O %N N�N�  R#O
15� �%4�61N�?$�P�2N�1%์  CN�5�  2?  !>'์#   

!>'์#2R'�์ 3'3  

�%6��Q�O���6�Nค/4O'4�B#��  �6��%>/6%�5P/R�N�?P$/�5�Nค/4O'4
�B#�� 
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O*'�2'�21022'2 /1 '&11/ Oล0'1'%'2�21 

 
�2'�?02Oล0'1'%'2�21 1// 230,000 (2% 

  
�(" 2N'>'�2' 1// 230,000 (2% 

   
คN2QชO210 1// 230,000 (2% 

   

%6$�N6$N�?P$/N�AP1��5��6%��>�5�>%6��6%�?PR#NN�O6'5�1�4%6$�N6$��%6$�N6$
1AP� N 

      

    

คN6Q�O�N6$Pค%��6%�5��6%O�N� 
�5��?0625# 5��์0C�$์ 5��6N�O�N'O� �%4� 6�? 2566 

� 6�/� 50,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q��6%�5��6%NN�N��5��?0625# 5��์ 
0C�$์ 5��6N�O�N'O� �%4� 6�? 2566  

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6
�6%0@�16�%4N �?O'4/5���%%# 116 ' 6�5��?P 4 

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6��?06NN'4
�5���6�6% 

 

      

    

คN6Q�O�N6$Pค%��6%�5��6%O�N��5��?062?"6$Q�P%�N%?$�1�B�6'N�0�6'
� 6�'��N$O� 

� 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%�5��6%NN�N��5��?062?"6$Q�P%�N%?$�
1�B�6'N�0�6'� 6�'��N$O� 

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6
�6%0@�16�%4N �?O'4/5���%%# 116 ' 6�5��?P 5  

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6��?06NN'4
�5���6�6% 

 

      

    
Pค%��6%�5��6%O�N��5��?06�O6�"5$$6N2 �>� �%4� 6�? 2566 � 6�/� 150,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q�Pค%��6%�5��6%O�N��5��?06�O6�"5$$6N2 
�>� �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0. 2566-2570) $B��062�%์�6% 5��6
�6%0@�16�%4N �?O'4/5���%%# 119 ' 6�5��?P 13  

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6��?06NN'4
�5���6�6% 
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�2'022'2/1 '&11/%O1�$>P' 1// 70,000 (2% 

  
�(" 2N'>'�2' 1// 70,000 (2% 

   
คN2QชO210 1// 70,000 (2% 

   

%6$�N6$N�?P$/N�AP1��5��6%��>�5�>%6��6%�?PR#NN�O6'5�1�4%6$�N6$��%6$�N6$
1AP� N 

      

    

Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?�O1��>P��O6� 

Pค��6#N'?$� �%4� 6�? 2566 

� 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?
�O1��>P��O6�Pค��6#N'?$� �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6 117 ' 6�5��?P 8  

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6�062�6
O'4/5���%%#�O1��>P� 

 

      

    

Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?�O1��>P��O6� 

P��2/%%ค์ �%4� 6�? 2566 

� 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?
�O1��>P��O6�P��2/%%ค์ �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6 117 ' 6�5��?P 8  

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6�062�6
O'4/5���%%#�O1��>P� 

      

    

Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?�O1��>P��O6� 

/�1�Oค� �%4� 6�? 2566 

� 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?
�O1��>P��O6�/�1�Oค� �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6 117 ' 6�5��?P 8  

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6�062�6
O'4/5���%%#�O1��>P� 

      

    

Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?�O1��>P��O6�ค 6��  
�%4� 6�? 2566 

� 6�/� 5,000 �6� 

        N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?       
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�O1��>P��O6�ค 6�� �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6 117 ' 6�5��?P 8  

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6�062�6
O'4/5���%%#�O1��>P� 

 

    

Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?�O1��>P��O6�Pค��4O�� 
�%4� 6�? 2566 

� 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?
�O1��>P��O6�Pค��4O�� �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6 117 ' 6�5��?P 8  

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6�062�6
O'4/5���%%#�O1��>P� 

 

      

    

Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?�O1��>P��O6���N$O�  

�%4� 6�? 2566 

� 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?
�O1��>P��O6���N$O� �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6 117 ' 6�5��?P 8  

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6�062�6
O'4/5���%%#�O1��>P�  

 

      

    

Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?�O1��>P��O6��6�6�  

�%4� 6�? 2566 

� 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?
�O1��>P��O6��6�6� �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6 117 ' 6�5��?P 8  

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6�062�6
O'4/5���%%#�O1��>P�                                                 
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Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?�O1��>P��O6��6�1� 
�%4� 6�? 2566 

� 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?
�O1��>P��O6��6�1� �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6 117 ' 6�5��?P 8  

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6�062�6
O'4/5���%%#�O1��>P� 

      

    

Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?�O1��>P��O6��N�P �  

�%4� 6�? 2566 

� 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?
�O1��>P��O6��N�P � �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6 117 ' 6�5��?P 8  

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6�062�6
O'4/5���%%#�O1��>P� 

      

    

Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?�O1��>P��O6�P �2/6� 
�%4� 6�? 2566 

� 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?
�O1��>P��O6�P �2/6� /#CN�?P 6 O'4 

/#CN�?P 14 �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6 117 ' 6�5��?P 8  

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6�062�6
O'4/5���%%#�O1��>P� 

      

    

Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?�O1��>P��O6�"C�1�  
�%4� 6�? 2566 

� 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?
�O1��>P��O6�"C�1� �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6 117 ' 6�5��?P 8  
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�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6�062�6
O'4/5���%%#�O1��>P� 

    

Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?�O1��>P��O6�26#�5/O'4
�O6��1�2/%%ค์ �%4� 6�? 2566 

� 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Pค%��6%2N�N2%>#1�B%5�1์0>'�/5���%%#�%4N �?
�O1��>P��O6�26#�5/ #.4 O'4�O6��1�2/%%ค์ #.10  �%4� 6�? 2566 

(O�� 5��6�O1��>P�  .0. 2566-2570)  

$B��062�%์�6% 5��6�6%0@�16�%4N �?O'4
/5���%%# /�O6 117 ' 6�5��?P 8  

�%6��Q�NN���6��6%062�6/5���%%#NN'4�5���6�6%�6�062�6
O'4/5���%%#�O1��>P� 
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O*'�2'1B#22/�11/Oล0�21P0&2 

 
�2'(1>/21%1P/R)N�?P0/�1(1B#22/�11/Oล0�21P0&2 1// 2,353,000 (2% 

  
�((Bคล2�1 1// 849,600 (2% 

   
N�>'N"A1' (+N20)10� 2) 1// 849,600 (2% 

   
N�>�N�A1��O6%6��6% /%A1 �5��6�2N/��O1��>P� � 6�/� 789,600 �6� 

      

  N AP1�N6$N�O�N�>�N�A1��O6%6��6% O'4N�>��%5��%B�N�>�N�A1��%4� 6�?�1�
�O6%6��6% N�N�  N�>�N'AP1��5Q�N�>�N�A1�N�O��%�? >N01 N�>��%5�15�%6
N�>�N�A1�O'4N'AP1�%4�5�� 6O/�N� N�>�Q��6%�%5�15�%6N�>�N�A1�
Q/#N N�O��O� O'4N�>�คN6�1�O�� >N01�1��O6%6��6%�COR�O%5�N�>�N�A1�
�5Q�2C� /%A1Q�'O�@��5Q�2C��1�15��5�/%A1� 6O/�N� �6#%4N�?$��%4�%/�
� 6/�� �%6��Q�O���6�1B�26/�%%#O'4�6%P$�6  �6��%>/6%
�5P/R�N�?P$/�5�1B�26/�%%#O'4�6%P$�6 

 

      

   
N�>��%4� 6� 6O/�N� � 6�/� 60,000 �6� 

      

  N AP1�N6$N�O�N�>��%4� 6� 6O/�N��CO1 6�/$�6%�1�   
�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6  �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6  

 

      

  
�(" 2N'>'�2' 1// 1,440,000 (2% 

   
คN2#1(O%' 1// 60,000 (2% 

   
คN6�1�O���6%��>�5�>�6��1�N/'6%6��6% � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�N�>�คN6�1�O���6%��>�5�>�6��1�N/'6%6��6% 

Q/OO�N �5��6�N�0�6'O'4 �5��6��O6� �?PR�O%5�ค 625P�Q/O��>�5�>�6��1�
N/'6%6��6%   

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6  �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 

 

      

   
N�>��N/$N/'A1�6%0@�16�B�%       

    
N�>��N/$N/'A1�6%0@�16�B�%�O6%6��6%/ �5��6�/'C��O6��%4� 6 � 6�/� 40,000 �6� 

      

  N AP1�N6$N�O�N�>��N/$N/'A1�6%0@�16�B�%Q/OO�N �5��6�
N�0�6' �CO�%>/6%O'4 �5��6��O6��?P#?2>��>N�>�R�O�6#%4N�?$�
�%4�%/�#/6�R�$/N6�O/$N�>�2/52�>�6%N�?P$/�5��6%0@�16�1��B�%
 �5��6�2N/��O1��>P�  .0.2541 O'4�?PO�OR�N >P#N�>#  

�@� (��5��?P 3 )  .0. 2549 %/#�5Q�/�5�2A125P��6%�?PN�?P$/�O1�   
�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6  �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 
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คN2QชO210 1// 1,280,000 (2% 

   
%6$�N6$N AP1Q/OR�O#6�@P��%>�6%       

    
คN6�O6�N/#6�%>�6% � 6�/� 1,200,000 �6� 

      

  N AP1�N6$N�O�คN6�O6�N/#6�%>�6%Q/O�CO%5��O6�� 6�6%1$N6�Q�1$N6�/�@P��@P�
#>R�ON�O��6% �%4�1� �5�O�'��N1N�>#  ค%B"5��์ �?P�>� 

/%A12>P��N12%O6�1$N6�Q� O'41$CNQ�ค/6#%5��>��1��1��CO
%5��O6�  N�N�  คN6�O6�N/#6�>��5Q�%4��Nค%A1�N6$ค1# >/N�1%์ คN6�O6�
N/#6O%��6�  คN6�O6�N/#6�C�2>P���>�C' คN6�O6� N/#6�N6$N1�26%N�O6
N'N#  คN6�O6�N/#61AP� N �@P�N�O��%4P$��์�N1�6%�%>/6%�6��1�
N�0�6'   3'3    

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6  �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 

 

      

   

%6$�N6$N�?P$/N�AP1��5��6%��>�5�>%6��6%�?PR#NN�O6'5�1�4%6$�N6$��%6$�N6$
1AP� N 

      

    
คN6Q�O�N6$Q��6%�N1#O�#/1�%4�6$�N6/�%4� 6/#CN�O6� � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q��6%�N1#O�#/1�%4�6$�N6/�%4� 6/#CN�O6� 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6  �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 

 

      

    
คN6Q�O�N6$Q��6%N�>��6�R�%6��6% � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6Q�O�N6$Q��6%�@�1�%# �%4�B#25##�6  
�50�0@�16O'4�C�6��5Q�Q��%4N�0O'4
�N6��%4N�0 �O6%6��6% 'C��O6��%4� 6  �5��6��O6��1�N�0�6'� 6�'
��N$O� �Bคค'"6$�1�/%A1�Bคค'1AP��?PN�?P$/�O1�  
�?P�%#2N�N2%>#�6%��ค%1��O1��>P� /%A11�ค์�%/%A12�6�5�1AP�N�O�
�CO� 6N�>��6% /%A1N�0�6'� 6�'��N$O�� 6N�>��6%N1� P�$�N6$N�O�
คN6'��4N�?$� คN6�?P 5� คN6 6/�4  

คN6N�?Q$N'?Q$� คN616/6%  

�'1���คN6Q�O�N6$1AP� N  

�?PN�?P$/�O1��5��6%1�%#/%A125##�6   
�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6  �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 
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คN6� 6%B�%5�16O'4�N1#O�# � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6� 6%B�%5�16O'4�N1#O�#�%5 $์2>��N6�N  

Q��%�?� 6%B�N2?$/6$ Q�O�6%R#NR�O/%A1Q�O�6%R�OO�NR#N�?N�N6�?Pค/% /%A1�@�
N/'6�O1�N�O6� 6%B�%5�16�6#%4$4N/'6�6%Q�O�6� � 6N�O��O1�� 6�6%
�N1#O�#Q/O1$CNQ�2"6 �?P�?26#6%�Q�O�6�R�O
�6#���> N�N� Nค%AP1��%5�16�60 Nค%AP1� ># ์�?� Nค%AP1�15�2 6N�6 Nค%AP1�
�N6$N1�26% Nค%AP1�ค1# >/N�1%์ P�P4 N�O61?Q  �'O1�
�N6$%C� %�$��์ %��5�%$6�$�� ์O'4�%>N/�%1�16ค6%2 6�5��6�
N�0�6'� 6�'��N$O� 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6  �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 

 

      

   
คN2/12"B 1// 50,000 (2% 

   
/52�B2 6�5��6� � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6�AQ12>P��1�Nค%AP1�Q�O
�N6�N  N�N� �%4�61 /#@� �>�21 �6��6 R#O
�%%�5� $6�'� ค'>� N�P� N����>�Q2 '/�N$O��%4�61 �6/ O!O# 2#B�
�5��? 2#B��%4/5�>�O6%6��6% O�� ># ์ �%6$6� �1� ���6�> 2>P� ># ์�?P
R�O�6��6%�AQ1/%A1�O6� ># ์ �Q 6�AP# Nค%AP1�N$O��%4�61 �%4�61R� O��
 ># ์ 3'3   

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6  �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 

 

      

   
/52�Bค1# >/N�1%์ � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�Bค1# >/N�1%์ N�N� O�N�/%A1�6��5��@�
�O1#C' N���5��@��O1#C' /5/ ># ์/%A1O�� ># ์2 6/%5�Nค%AP1�
ค1# >/N�1%์ �'5���/#@�2 6/%5�Nค%AP1� ># ์O��N'N�1%์ O�N��%1�
O2� �%4�61�N1N�AP1� O�O� ># ์ N#��1%์� N#62์ O�N�/��%
1>N'O��%1�>�2์ O�N��>2N���์ 3'3  

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6  �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 
 

      

   
คN222&21!C)P.ค 1// 50,000 (2% 

   
คN6R!!O6 � 6�/� 50,000 �6� 

      

  N AP1�N6$N�O�คN6R!!O626�6%�4"6$Q�/#CN�O6� 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6  �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 
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�(ล�%B' 1// 63,400 (2% 

   
คN2ค1B.1!�์ 1// 63,400 (2% 

   
ค%B"5��์�N12%O6�       

    
Nค%AP1�2�5�ค1��%?�R!!O6 1510 W � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1�2�5�ค1��%?�
R!!O6 1510 W � 6�/� 1 Nค%AP1� 
(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1)  /�O6�?P 54 ' 6�5��?P 1 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 

 

      

   
ค%B"5��์P%��6�       

    
Nค%AP1�N�?$R!!O6 4 �>Q/ � 6�/� 3,200 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1 Nค%AP1�N�?$R!!O6 4 �>Q/ � 6�/� 1 Nค%AP1�  
(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1)  /�O6�?P 54 ' 6�5��?P 2 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 

 

      

    
N'AP1$�>R��1/์R!!O6 450 W � 6�/� 3,700 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1N'AP1$�>R��1/์R!!O6 450 W � 6�/� 1 Nค%AP1� 
(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1)  /�O6�?P 54 ' 6�5��?P 3 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 

 

      

    
2/N6�R!!O6 550 W � 6�/� 4,500 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ12/N6�R!!O6 550 W � 6�/� 1 Nค%AP1�  
(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1)  /�O6�?P 54 ' 6�5��?P 4 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 

 

      

   
ค%B"5��์ค1# >/N�1%์/%A11>N'O��%1�>�2์       

    

Nค%AP1�ค1# >/N�1%์2 6/%5��6�2 6�5��6� (�1O2��"6 ��6�R#N�O1$�/N6 
19 �>Q/) 

� 6�/� 17,000 �6� 
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  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1�ค1# >/N�1%์2 6/%5��6�2 6�5��6� (�1O2��
"6 ��6�R#N�O1$�/N6 19 �>Q/) � 6�/� 1 Nค%AP1� 
คB�'5�1�4 AQ��6� 

- #?/�N/$�%4#/'�'�'6� (CPU) R#N�O1$�/N6 4 O��
/'5� (4 core) O'4 8 O��N2#A1� (8 

Thread) O'4#?N�คP�P'$?N >P#25��6��60>�6R�OQ��%�?�?P�O1�Q�O
ค/6#26#6%�Q��6% 

�%4#/'�'2C� (Turbo Boost /%A1 Max Boost) P�$#?ค/6#N%O/
25��6��60>�62C�2B� R#N�O1$ 

�/N6 4 GHz � 6�/� 1 /�N/$ 

- /�N/$�%4#/'�'�'6� (CPU) #?/�N/$ค/6#� 6
O�� Cache Memory %/#Q�%4�5� (Level) 

N�?$/�5���6�R#N�O1$�/N6 4 MB 

- #?/�N/$ค/6#� 6/'5� (RAM) ��>� DDR4 /%A1�?�/N6 #?��6�R#N�O1$
�/N6 4 GB 

- #?/�N/$�5�N�O��O1#C' ��>� SATA /%A1�?�/N6 ��6�ค/6#�BR#N�O1$
�/N6 1 TB /%A1 ��>� Solid 

State Drive ��6�ค/6#�BR#N�O1$�/N6 250 GB � 6�/� 1 /�N/$ 

- #?DVD-RW /%A1�?�/N6 � 6�/� 1 /�N/$- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100/1000 Base-T /%A1
�?�/N6 
� 6�/�R#N�O1$�/N6 1 �N1� 
- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 R#N�O1$
�/N6 3 �N1� 
- #?O�O� ># ์O'4N#62์ 
- #?�1O2��"6 ��6�R#N�O1$�/N6 19 �>Q/ � 6�/� 1 /�N/$  

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 

      

        
 

      

    
Nค%AP1� ># ์Multifunction N'N�1%์/%A1 LED 2? � 6�/� 15,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1� ># ์Multifunction N'N�1%์
/%A1 LED 2? � 6�/� 1 Nค%AP1� 
คB�'5�1�4 AQ��6� 

- N�O�1B��%�์�?P#?ค/6#26#6%�
N�O� Printer, Copier O'4 Scanner "6$Q�Nค%AP1�N�?$/�5� 

- #?ค/6#'4N1?$�Q��6% ># ์R#N�O1$�/N6 600x600 dpi 

- #?ค/6#N%O/Q��6% ># ์�6/� 62 6/%5��%4�61 A4 R#N�O1$�/N6 20 /�O6
�N1�6�?(ppm) 
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- #?ค/6#N%O/Q��6% ># ์2?2 6/%5��%4�61 A4 R#N�O1$�/N6 20 /�O6�N1
�6�? (ppm) 

- #?/�N/$ค/6#� 6 (Memory) ��6�R#N�O1$�/N6 256 MB 

- 26#6%�2O��N1�26% ��6� A4 (�6/� 6 O'4 2?) R�O 
- #?ค/6#'4N1?$�Q��6%2O��2C�2B� R#N�O1$�/N6 1,200x1,200 dpi 

- #?�6��O1�N1�26%15�P�#5�>(Auto Document Feed) 

- 26#6%��N6$2 6N�6N1�26%R�O�5Q�2?O'4�6/� 6 

- 26#6%�� 62 6N�6R�O2C�2B�R#N�O1$�/N6 99 2 6N�6 
- 26#6%�$N1O'4�$6$R�O25 �@� 400 N�1%์N�O�� ์

- #?�N1�N�AP1#�N1 (Interface) O�� USB 2.0 /%A1�?�/N6 � 6�/�R#N�O1$
�/N6 1 �N1� 
- #?�N1�N�AP1#�N1%4��
Nค%A1�N6$ (Network Interface) O�� 10/100 Base-T /%A1
�?�/N6 � 6�/� 

R#N�O1$�/N6 1 �N1� /%A1 26#6%�Q�O�6��N6�Nค%A1�N6$R%O26$ Wi-

Fi (IEEE 802.11b, g, n) R�O 
- #?�6�Q2N�%4�61R�O%/#�5�R#N�O1$�/N6 250 O�N� 

- 26#6%�Q�OR�O�5� A4, Letter, Legal O'426#6%�� 6/����6��1�
�%4�61N1�R�O 
�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��%>/6%�5P/R�N�?P$/�5�
1B�26/�%%#O'4�6%P$�6 

        
 

      

 
�2'�N121O2� 1// 6,046,000 (2% 

  
�(ล�%B' 1// 6,046,000 (2% 

   
คN2%?P">'Oล02>P��N121O2� 1// 6,046,000 (2% 

   
คN6�N12%O6�2>P�26�6%�C��6%       

    

Pค%��6%�N12%O6�ค'1�%4�6$�Q 6N2?$�O6�26#�5/ /#CN�?P 4 �1$�O6�P%�N%?$� 
(�>0�4/5���) 

� 6�/� 285,000 �6� 

      

  �N12%O6�ค'1�%4�6$�Q 6%4��
�N1 ค2'. 0�. 0.40 x 1.00  #. $6/ 200  #.  %O1#�N1 5�
�Q 6 ��6� 0.80x0.80x0.80 #. � 6�/� 7 �N1 

(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 021/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 6 ' 6�5��?P 12 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
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Pค%��6%�N12%O6����ค1��%?�N2%>#N/'O�"6$Q�/#CN�O6�/�1�Oค�  

/#CN�?P 2 (�1$�6�N�/?$�) 
� 6�/� 62,000 �6� 

      

  �N12%O6����ค1��%?�N2%>#N/'O� �/O6� 3 #. $6/ 34 #. /%A1#? AQ��?PR#N
�O1$�/N6 102 �%.#. /�6 0.15 #. R/'N�6�'C�%5��O6�'4 0.50 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 002/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 5 ' 6�5��?P 8 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    

Pค%��6%�N12%O6����ค1��%?�N2%>#N/'O�26$�O6��6�1� /#CN�?P 12  

N�O6/5�2%4�6�1� (�O6�06'6�6%N�%?$�) 
� 6�/� 210,000 �6� 

      

  �N12%O6����ค1��%?�N2%>#N/'O� �/O6� 4 #. $6/ 86 #. /%A1#? AQ��?PR#N
�O1$�/N6 344 �%.#. /�6 0.15 #. R/'N�6�'C�%5��O6�'4 0.50 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 001/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 11 ' 6�5��?P 33 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    

Pค%��6%�N12%O6����ค1��%?�N2%>#N/'O�26$�O6�P��2/%%ค์ /#CN�?P 11 

(�1$2B/%%�P��>) �O6��6$�B�'1� 

� 6�/� 230,000 �6� 

      

  �N12%O6����ค1��%?�N2%>#N/'O� �/O6� 4 #. $6/ 98 #. /%A1#? AQ��?PR#N
�O1$�/N6 392 �%.#. /�6 0.15 #. R/'N�6�'C�%5��O6�'4 0.50 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 003/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 10 ' 6�5��?P 30 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    

Pค%��6%�N12%O6����ค1��%?�N2%>#N/'O�26$�O6��N�P � /#CN�?P 3 (/O6
O$�) - /'5�/5��N62>�/์ค?%?/%%� 

� 6�/� 290,000 �6� 

      

  �N12%O6����ค1��%?�N2%>#N/'O� �/O6� 6 #. $6/ 80 #. /%A1#? AQ��?PR#N
�O1$�/N6 480 �%.#. /�6 0.15 #. R/'N�6�'C�%5��O6�'4 0.50 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 004/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 5 ' 6�5��?P 9 
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�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

    

Pค%��6%�N12%O6����ค1��%?�N2%>#N/'O�26$"6$Q�/#CN�O6�P��2/%%ค์   

/#CN�?P 11 - N�AP1#�6�/'/����� 3016 #/. 
� 6�/� 40,000 �6� 

      

  �N12%O6����ค1��%?�N2%>#N/'O� �/O6� 4 #. $6/ 16 #. /%A1#? AQ��?PR#N
�O1$�/N6 64 �%.#. /�6 0.15 #. R/'N�6�'C�%5��O6�'4 0.50 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 005/2566) (O�� 5��6
�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'� (ค%5Q��?P1) $B��062�%์
�6% 5��6N#A1��%5 $6�%�%%#�6�>O'42>P�O/�'O1# /�O6�?P 10 ' 6�5��?P 
31 �%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    

Pค%��6%�N12%O6����'C�%5� 26$�O6���N$O� /#CN�?P 1  

(2/��6$�1�26 26�42>�/์) -  �6R�' 

� 6�/� 130,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 400 #. /%A1#? AQ��?PR#N�O1$
�/N6 1,600 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 006/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 4 ' 6�5��?P 1 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�N12%O6����'C�%5�26$�O6�Pค��6#N'?$� /#CN�?P 7 – /5//�1�ค@ � 6�/� 320,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 770 #. /%A1#? AQ��?PR#N�O1$
�/N6 3,080 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 007/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 8 ' 6�5��?P 21 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�N12%O6����'C�%5�26$�O6�Pค��4O�� /#CN�?P 5–ค 6/#6�$6� (Q�O) � 6�/� 60,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 150 #. /%A1#? AQ��?PR#N�O1$
�/N6 600 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 008/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 6 ' 6�5��?P 14 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
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Pค%��6%�N12%O6����'C�%5�26$�O6�Pค��4O�� /#CN�?P 5 – ค 6/#6�$6� 
(N/�A1) 

� 6�/� 100,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 250 #. /%A1#? AQ��?PR#N�O1$
�/N6 1,000 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 009/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 6 ' 6�5��?P 13 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    

Pค%��6%�N12%O6����'C�%5�26$�O6�Pค��4O�� /#CN�?P 5 – /O/$ค 6�N6/'6$ 
(Q�O) 

� 6�/� 210,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 450 #. /%A1#? AQ��?PR#N�O1$
�/N6 1,800 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 010/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 6 ' 6�5��?P 15 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    

Pค%��6%�N12%O6����'C�%5�26$�O6�Pค��4O�� /#CN�?P 5 – /O/$�O6�#5�  
(�6�6$�5$) 

� 6�/� 90,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 200 #. /%A1#? AQ��?PR#N�O1$
�/N6 800 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 011/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 7 ' 6�5��?P 16 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    

Pค%��6%�N12%O6����'C�%5�26$�O6���N$O� /#CN�?P 1  (�O6�24 6�/O/$$6�) 
/O/$#N/� 

� 6�/� 65,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 170 #. /%A1#? AQ��?PR#N�O1$
�/N6 680 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 012/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 4 ' 6�5��?P 3 
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�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

    
Pค%��6%�N12%O6����'C�%5�26$�O6���N$O� /#CN�?P 1 - �6/�1�Oค� � 6�/� 75,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 200 #. /%A1#? AQ��?PR#N�O1$
�/N6 800 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 013/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 4 ' 6�5��?P 2 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�N12%O6����'C�%5�26$�O6���N$O� /#CN�?P 1 - /O/$�O6� � 6�/� 150,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 350 #. /%A1#? AQ��?PR#N�O1$
�/N6 1,400 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 014/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 4 ' 6�5��?P 4 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�N12%O6����'C�%5�26$�O6��6�6� /#CN�?P 8 - /O/$�6/'N# � 6�/� 60,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 120 #. /%A1#? AQ��?PR#N�O1$
�/N6 480 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 015/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 9 ' 6�5��?P 23 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�N12%O6����'C�%5�26$�O6�P �2/6� /#CN�?P 14 - �6ค 6 � 6�/� 160,000 �6� 

      

  �N12%O6����'C�%5� �>/�%6�% �/O6� 4 #. $6/ 440 #. /%A1#? AQ��?PR#N
�O1$�/N6 1,760 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 016/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 12 ' 6�5��?P 40 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
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Pค%��6%�N12%O6����'C�%5�26$�O6�P �2/6� /#CN�?P 6 (2/�//6$�COQ/�N
�%4�/�) - /�1�2%426�6%�4 

� 6�/� 74,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 160 #. /%A1#? AQ��?PR#N�O1$
�/N6 640 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 017/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 7 ' 6�5��?P 17 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    

Pค%��6%�N12%O6����'C�%5�26$�O6�P �2/6� /#CN�?P 6 (/'5�1N6�
�'�%4�6�/O/$�1��@Q�) – /�1��6��4 

� 6�/� 286,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 700 #. /%A1#? AQ��?PR#N�O1$
�/N6 2,800 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 018/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 7 ' 6�5��?P 19 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�N12%O6����'C�%5�26$�O6�/�1�Oค� /#CN�?P 2 - ค 6�>��? � 6�/� 90,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 950 #. /%A1#? AQ��?PR#N�O1$
�/N6 3,800 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 019/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 5 ' 6�5��?P 6 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�N12%O6����'C�%5�26$/�1�Oค� /#CN�?P 2 - /�1�26#ค/6$ � 6�/� 157,000 �6� 

      

  �N12%O6����'C�%5� �/O6� 4 #. $6/ 370 #. /%A1#? AQ��?PR#N�O1$
�/N6 1,480 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 020/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 5 ' 6�5��?P 7 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      



114 

 

    

Pค%��6%�N12%O6��N1'1�N/'?P$#ค1��%?�N2%>#N/'O����'C�%5�26$�O6�
�1�2/%%ค์ /#CN�?P 10 - 21�26#�5/  (�N/��6�6$N2%>#) 

� 6�/� 225,000 �6� 

      

  �N12%O6��N1'1�N/'?P$#ค1��%?�N2%>#N/'O��N1'1�
N/'?P$# ค2'. �/O6� 1.80 #. 2C� 1.80 #. $6/ 5 #. ��>� 1 �N1��6� 
�.022/2566 O��N�0�6'� 6�'��N$O�O'4 ��-5-201,��-5-203,��-

5-204 O��#6�%�6��6��6�2 6/%5� 1��. 
(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 10 ' 6�5��?P 29 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    

Pค%��6%�N12%O6�'6�ค1��%?�N2%>#N/'O�%1�N#%B�O6�Pค��6#N'?$�  

/#CN�?P 7 

� 6�/� 200,000 �6� 

      

  �N12%O6�'6�ค1��%?�N2%>#N/'O� N�AQ1�?PR#N�O1$�/N6 500 �%.
#. /�6 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P 1. 001/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 8 ' 6�5��?P 20 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�N12%O6�'6�ค1��%?�N2%>#N/'O�%1�N#%B�O6��6�6� /#CN�?P 8 � 6�/� 220,000 �6� 

      

  �N12%O6�'6�ค1��%?�N2%>#N/'O� N�AQ1�?PR#N�O1$�/N6 536 �%.
#. /�6 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P 1. 002/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 8 ' 6�5��?P 22 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�N12%O6�'6�ค1��%?�N2%>#N/'O�%1�N#%B�O6�P��2/%%ค์/#CN�?P 11 � 6�/� 140,000 �6� 

      

  �N12%O6�'6�ค1��%?�N2%>#N/'O� N�AQ1�?PR#N�O1$�/N6 386 �%.
#. /�6 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P 1. 003/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 10 ' 6�5��?P 32 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
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Pค%��6%�N12%O6�'6�ค1��%?�N2%>#N/'O�%1�N#%B�O6��N�P � /#CN�?P 3 � 6�/� 130,000 �6� 

      

  �N12%O6�'6�ค1��%?�N2%>#N/'O� N�AQ1�?PR#N�O1$�/N6 318 �%.
#. /�6 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P 1. 004/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 5 ' 6�5��?P 10 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�N12%O6�'6�ค1��%?�N2%>#N/'O�%1�N#%B�O6�"C�1� /#CN�?P 13 � 6�/� 190,000 �6� 

      

  �N12%O6�'6�ค1��%?�N2%>#N/'O� N�AQ1�?PR#N�O1$�/N6 476 �%.
#. /�6 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P 1. 005/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 12 ' 6�5��?P 38 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�N12%O6�2�6#�?06ค1��%?�N2%>#N/'O� �O6�"C�1� /#CN�?P 13 � 6�/� 100,000 �6� 

      

  �N12%O6�2�6#�?06ค1��%?�N2%>#N/'O� �/O6� 14 #. $6/ 19 #. /%A1#?
 AQ��?PR#N�O1$�/N6 266 �%.#. /�6 0.10 #. 
(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 11 ' 6�5��?P 36 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

   
คN6�%5��%B��?P�>�O'42>P��N12%O6�       

    

Pค%��6%�%5��%B����'C�%5�26$�O6�ค 6�� /#CN�?P 9 - �O6#�BN��6 (�>0
�4/5���) 

� 6�/� 60,000 �6� 

      

  N2%>#�>/�%6�%���'C�%5� �/O6� 4 #. $6/ 450 #. /%A1#? AQ��?PR#N�O1$
�/N6 1,800 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 025/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 9 ' 6�5��?P 27 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
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Pค%��6%�%5��%B����'C�%5�26$�O6�ค 6�� /#CN�?P 9 (คBO#/�1�#5��'6)  
/O/$�%6$ 

� 6�/� 140,000 �6� 

      

  N2%>#�>/�%6�%���'C�%5� �/O6� 5 #. $6/ 1,400 #. /%A1#? AQ��?PR#N�O1$
�/N6 7,000 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 033/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 9 ' 6�5��?P 25 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    

Pค%��6%�%5��%B����'C�%5�26$�O6�ค 6�� /#CN�?P 9 (/O/$�6/'N#) /�1�
O2� 

� 6�/� 140,000 �6� 

      

  N2%>#�>/�%6�%���'C�%5� �/O6� 5 #. $6/ 1,400 #. /%A1#? AQ��?PR#N�O1$
�/N6 7,000 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 032/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 9 ' 6�5��?P 26 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�%5��%B����'C�%5�26$�O6��6�6� /#CN�?P 8- �B�/'� � 6�/� 140,000 �6� 

      

  N2%>#�>/�%6�%���'C�%5� �/O6� 4 #. $6/ 350 #. /%A1#? AQ��?PR#N�O1$
�/N6 1,400 �%.#.  %O1#�#�>�$�%4�5��6� 875 '�.#. 'C�%5��>/�%6�%
/�6N�'?P$ 0.15 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 026/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 9 ' 6�5��?P 24 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�%5��%B����'C�%5�26$�O6��6�1� /#CN�?P 12 - �6/�1�Oค� � 6�/� 130,000 �6� 

      

  N2%>#�>/�%6�%���'C�%5� �/O6� 5 #. $6/ 1,400 #. /%A1#? AQ��?PR#N�O1$
�/N6 7,000 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 027/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 11 ' 6�5��?P 35 
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�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

    
Pค%��6%�%5��%B����'C�%5�26$�O6��6�1� /#CN�?P 12 (�CO�N/$��) - �6Pค� � 6�/� 80,000 �6� 

      

  N2%>#�>/�%6�%���'C�%5� �/O6� 5 #. $6/ 900 #. /%A1#? AQ��?PR#N�O1$
�/N6 4,500 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 028/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 11 ' 6�5��?P 34 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�%5��%B����'C�%5�26$�O6�P �2/6� /#CN�?P 6 - /�1��6��4 � 6�/� 70,000 �6� 

      

  N2%>#�>/�%6�%���'C�%5� �/O6�  5 #. $6/ 700 #. /%A1#? AQ��?PR#N�O1$
�/N6 3,500 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 029/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570)N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1)  

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    
Pค%��6%�%5��%B����'C�%5�26$�O6�"C�1� /#CN�?P 13-/5�"C2O6�11# � 6�/� 130,000 �6� 

      

  N2%>#�>/�%6�%���'C�%5� �/O6� 5 #. $6/ 1,400 #. /%A1#? AQ��?PR#N�O1$
�/N6 7,000 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.10 #.                  
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �.024/2566)       

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 7 ' 6�5��?P 18 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 

      

    

Pค%��6%�%5��%B����'C�%5�26$�O6�/�1�Oค� /#CN�?P 2 (/�1�R2)  
/O/$�5�1?P (Pค��O1$) 

� 6�/� 120,000 �6� 

      

  N2%>#�>/�%6�%���'C�%5� �/O6�  5 #. $6/ 1,300 #. /%A1#? AQ��?PR#N�O1$
�/N6 6,500 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 030/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 4 ' 6�5��?P 5 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
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Pค%��6%�%5��%B�'C�%5�26$�O6�26#�5/ /#CN�?P 4 (2�%>�N/$์/O/$RคO) - O�O�
�5��%์O�� 

� 6�/� 110,000 �6� 

      

  N2%>#�>/�%6�%���'C�%5� �/O6�  5 #. $6/ 1,200 #. /%A1#? AQ��?PR#N�O1$
�/N6 6,000 �%.#. 'C�%5��>/�%6�%/�6N�'?P$ 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 031/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 6 ' 6�5��?P 11 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    

Pค%��6%N2%>#�>/�%6�%���ค1��%?�N2%>#N/'O�26$�O6��1�2/%%ค์ 

/#CN�?P 10 - 06'6�%4�6ค# 

� 6�/� 287,000 �6� 

      

  N2%>#�>/�%6�%���ค1��%?�N2%>#N/'O� �/O6� 5 #. $6/ 140 #. /%A1#?
 AQ��?PR#N�O1$�/N6 700 �%.#. /�6 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 023/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 10 ' 6�5��?P 28 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
 

      

    

Pค%��6%N2%>#�>/�%6�%���ค1��%?�N2%>#N/'O�26$�O6�P �2/6�  
/#CN�?P 14 (/�O6/5�) -คBO#P�ค�5$ 

� 6�/� 290,000 �6� 

      

  N2%>#�>/�%6�%���ค1��%?�N2%>#N/'O� �/O6� 4 #. $6/ 190 #. /%A1#?
 AQ��?PR#N�O1$�/N6 760 �%.#. /�6 0.10 #. 
(�6#O��O�'�N�0�6'� 6�'��N$O� �?P �. 034/2566) 

(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1) $B��062�%์�6% 5��6N#A1��%5 $6�%�%%#�6�>O'4
2>P�O/�'O1# /�O6�?P 12 ' 6�5��?P 39 

�%6��Q�O���6�1B�26/�%%#O'4�6%P$�6 �6��N12%O6� 
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O*'�2'�21N�1#1 

 
�2'2N�N21>/�21N�1#1 1// 65,000 (2% 

  
�(" 2N'>'�2' 1// 65,000 (2% 

   
คN2QชO210 1// 50,000 (2% 

   

%6$�N6$N�?P$/N�AP1��5��6%��>�5�>%6��6%�?PR#NN�O6'5�1�4%6$�N6$��%6$�N6$
1AP� N 

      

    
Pค%��6%�@�1�%#�6%1�B%5�1์ 5��B�%%# A� 15�N�AP1�#6�6� %4%6�� 6%> � 6�/� 10,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Q�Pค%��6%�@�1�%#�6%1�B%5�1์ 5��B�%%# A�15�
N�AP1�#6�6� %4%6�� 6%>  
(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�O6�
N0%1��>�O'4ค/6#N�O#O�O��1��B#� /�O6�?P 132 ' 6�5��?P 9  

�%6��Q�NN���6��6%N�1�% �6�2N�N2%>#�6%N�1�% 

 

      

    
Pค%��6%�@�1�%#� 6�BQ$�?/"6  � 6�/� 20,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Q�Pค%��6%�@�1�%#� 6�BQ$�?/"6  

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�O6�
N0%1��>�O'4ค/6#N�O#O�O��1��B#� /�O6�?P 131 ' 6�5��?P 6  

�%6��Q�NN���6��6%N�1�% �6�2N�N2%>#�6%N�1�% 

 

      

    
Pค%��6%�@�1�%#�'C��5�11O��>ค � 6�/� 20,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Q�Pค%��6%�@�1�%#�'C��5�11O��>ค 

(O�� 5��6�O1��>P�  .0.2566-2570) $B��062�%์�6% 5��6�O6�
N0%1��>�O'4ค/6#N�O#O�O��1��B#� /�O6�?P 132 ' 6�5��?P 7  

�%6��Q�NN���6��6%N�1�% �6�2N�N2%>#�6%N�1�% 

 

      

   
คN2/12"B 1// 10,000 (2% 

   
/52�B�6%N�1�% � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�B�6%N�1�% N�N� 26%Nค#?�O1��5�NN'4� 6�5�
05�%C A�NN'425�/์ 16/6%25�/์  5��B์ A� �BQ$  5��B์25�/์�?�NN'4 

25�/์�Q 6 �Q 6N�AQ1 5��B์25�/์ /52�BN 64� 6 1B��%�์Q��6%�$6$ 5��B์
 A� N�N� Q�#?� N�A1�  �O6Q�/%A1�O6 '62�>� /�O6�6��O1��5�NN�P2
 >1 2�%>�N�'1%์ �1�/#B� �6� %/� �6�R��%4�4 Nค%AP1�/$1�/%A1
//N6�N#'O� 5��B์  Nค%AP1�� 6ค/6#2416�N#'O� 5��B์  Nค%AP1��5�NN#'�
1/� (2 6N%O�%C�)  �%4�5�  3'3   

�%6��Q�NN���6��6%N�1�%  �6�2N�N2%>#�6%N�1�% 
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คN222&21!C)P.ค 1// 5,000 (2% 

   
คN6R!!O6 � 6�/� 5,000 �6� 

      

  N AP1�N6$N�O�คN6R!!O6Q�0C�$์N%?$�%CON AP1�6%N�1�%N�0�6' 

� 6�'��N$O� 

�%6��Q�O���6��6%N�1�%  �6�2N�N2%>#�6%N�1�% 
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O*'�2'�21,2!>ช0์ 

 
�2'�>��21)10)2 1// 2,707,000 (2% 

  
�(" 2N'>'�2' 1// 2,429,000 (2% 

   
คN2QชO210 1// 15,000 (2% 

   
%6$�N6$N AP1Q/OR�O#6�@P��%>�6%       

    
คN6�%%#N�?$#�N6�N � 6�/� 15,000 �6� 

      

  N AP1�N6$N�O�คN6�%%#N�?$#�N6�N N�N� คN6�%%#N�?$#Q��6%�B�N�64�N1
�6�6' �%6��Q�O���6��6% 6�>�$์  �6��>��6%�%4�6 
 

      

   
คN2/12"B 1// 314,000 (2% 

   
/52�B2 6�5��6� � 6�/� 20,000 �6� 

      

  N AP1�N6$N�O�คN6�AQ12>P��1�Nค%AP1�Q�O
�N6�N  N�N� �%4�61 /#@� �>�21 �6��6  
R#O�%%�5� $6�'� ค'>� N�P� N����>�Q2 '/�N$O�
�%4�61 �6/ O!O# 2#B��5��? 2#B��%4/5�>�O6%6��6% O�� ># ์  
�%6$6� �1� ���6�> 2>P� ># ์�?PR�O�6��6%�AQ1/%A1�O6� ># ์ �Q 6�AP#  

Nค%AP1�N$O��%4�61 �%4�61R� O�� ># ์ 3'3 

�%6��Q�NN���6��6% 6�>�$์ �6��>��6%�%4�6 

 

      

   
/52�BR!!O6O'4/>�$B � 6�/� 50,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�BR!!O6O'4/>�$B N�N� !>/2 ์N�O#�5�%5�
26$R!!O6 N�� 5�26$R!!O6 26$R!!O6 �'5R�R!!O6 2/>��์
R!!O6 ค1�N��N�1%์ N�%�N�1%์ 26$16�60 Pค#R!!O6 ' 6P �  
R#Pค%P!� �5�O2��/��%�N6�N Nค%AP1�/5�ค/6#�O6��6�R!!O6  

Nค%AP1�/5�O%��5�R!!O6 3'3   

�%6��Q�NN���6��6% 6�>�$์ �6��>��6%�%4�6  

 

      

   
/52�B�N12%O6� � 6�/� 200,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�B�N12%O6� N�N� N/'O���>��N6� N R#O��>��N6�N  

�>�N�1%์ O�%��62? �C��?N#��์  �C�
�6/ �%6$  1>�  �%4N�AQ1� 25��42? �4�C คO1� ค?# �1� N2?$#  

�/6� 2/N6� N'AP1$  �N1�Q 6O'41B��%�์�%4�6 3'3   

�%6��Q�NN���6��6% 6�>�$์ �6��>��6%�%4�6 
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/52�BN�AQ1N '>�O'4/'N1'AP� � 6�/� 10,000 �6� 

      

  N AP1�N6$N�O�คN6/52�BN�AQ1N '>�O'4/'N1'AP�  N�N� �Q 6#5��?N�'  

�Q 6#5�N���>� �Q 6#5��6%4�? �Q 6#5�Nค%AP1� �Q 6#5�N�%ค �Q 6�'5P�  

�Q 6#5�2B��6�60  

�Q 6#5�R2P�%'>ค 2 6/%5� %�$�� ์%��5�%$6�$��์  3'3   

�%6��Q�O���6��6% 6�>�$์  �6��>��6%�%4�6 

 

      

   
/52�B/>�$6062�%์/%A1�6%O �$์ � 6�/� 30,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ126%2O#  

�%6��Q�O���6��6% 6�>�$์  �6��>��6%�%4�6   

  

      

   
/52�B�6%N�1�% � 6�/� 4,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1/52�B�6%N�1�% N�N� 26%Nค#?�O1��5�NN'4� 6�5�
05�%C A�NN'425�/์ 16/6%25�/์  5��B์ A� �BQ$  5��B์25�/์�?�NN'4 

25�/์�Q 6 �Q 6N�AQ1 5��B์25�/์ /52�BN 64� 6 1B��%�์Q��6%�$6$ 5��B์
 A� N�N� Q�#?� N�A1�  �O6Q�/%A1�O6 '62�>� /�O6�6��O1��5�NN�P2
 >1 2�%>�N�'1%์ �1�/#B� �6� %/� �6�R��%4�4 Nค%AP1�/$1�/%A1
//N6�N#'O� 5��B์  Nค%AP1�� 6ค/6#2416�N#'O� 5��B์   
Nค%AP1��5�NN#'�1/� (2 6N%O�%C�)  �%4�5�  3'3   

�%6��Q�NN���6��6% 6�>�$์ �6��>��6%�%4�6 

 

      

   
คN222&21!C)P.ค 1// 2,100,000 (2% 

   
คN6R!!O6 � 6�/� 2,100,000 �6� 

      

  N AP1N�O�คN6Q�O�N6$Q��6%�N6$คN6R!!O6Q��6��%4�6 

�%6��Q�NN���6��6% 6�>�$์  �6��>��6%�%4�6 

 

      

  
�(ล�%B' 1// 278,000 (2% 

   
คN2ค1B.1!�์ 1// 278,000 (2% 

   
ค%B"5��์�6%N�1�%       

    
Nค%AP1�2C��Q 6 � 6�/� 84,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1�2C��Q 6
�6�6' Submersible 1 N!2 ��6� 0.5 O%�#O6 � 6�/� 4 Nค%AP1�
(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1)  /�O6�?P 54 ' 6�5��?P 5 

�%6��Q�O���6��6% 6�>�$์ �6��>��6%�%4�6 
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Nค%AP1�2C��Q 6�6�6' Submersible 1 N!2 � 6�/� 120,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1�2C��Q 6
�6�6' Submersible 1 N!2 ��6� 1.5 O%�#O6 � 6�/� 5 Nค%AP1� 
(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1)  /�O6�?P 54 ' 6�5��?P 6 

�%6��Q�O���6��6% 6�>�$์ �6��>��6%�%4�6 

 

      

    
Nค%AP1�2C��Q 6O��/1$P�N� 1 N!2 � 6�/� 74,000 �6� 

      

  N AP1�N6$N�O�คN6�5��AQ1Nค%AP1�2C��Q 6O��/1$
P�N� 1 N!2 ��6� 3 O%�#O6 � 6�/� 5 Nค%AP1� 
(O�� 5��6�O1��>P�  .0. 2566-2570) N >P#N�>#/N�'?P$�O�'�  
(ค%5Q��?P 1)  /�O6�?P 54 ' 6�5��?P 7 

�%6��Q�O���6��6% 6�>�$์ �6��>��6%�%4�6 

      

 


